





——

STARCR  MACYIL 2773
FRRCR.PLL

DD~ T UYL WU < IUMD " JU N S Latge—

L 4
'Ululluuhngo-o-u apspehepsPspep -
[ Y2

L1
LW

P

#

ad{adla)
o= )

]
€Ch

444
W -

whihE

L4
w~

4.
IV

U
(

. . ——— . o ——. -

08-SEP-76 18:20 PRGE |

BO1

0

IDENTIFICATION
PRODUCT CODE: MAINDEC-11-DFKAC-A-D
PRODUCT NAME: 11/34 EIS INSTRUCTION TESTS
DATE CREATED: DECEMBER 22, 1975
MAINTAINER: DIAGNOSTIC GROUP
AUTHIR: GLENN JOHNSON

COPYRIGHT (C) 1975
DIGITAL EQUIPMENT CORPCRATION, MAYNARD, MRSS.

TMIS SOFTWARE IS FURNISHED UNDER A LICENSE FOR USE ONLY
ON A SINGLE COMPUTER SYSTEM ANC MAY BE COPIED QNLY WITH
THE_INCLUSION OF THE ABQVE COPYRIGHT NOTICE. THIS
SOFTWARE, OR ANY OTHER COPIES THEREQF, MAY NOT BE PROVICEC
OR OTHERWISE MADE AVAILABLE_TO ANY OTHER PERSCN EXCEPT

FOR USE C: SuCH SYSTEM_AND TO ONE WHQ AGREES TQ THESE
LICENSE TERMS, TITLE TO AND OWNERSHIP OF THE SOF TWARE
SHALL AT ALL TIMES REMAIN IN DEC.

THE INFCRMATION IN THIS DOCUMENT IS SUBJECT TQ CHANGE
WITHOUT NOTICE AND SHOL OT BE CONSTRUED RS R CCMMIT-
MENT BY DIGITAL EJUIPME ORPORTATION.
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COnTENTS
RBSTRACT
REQUIREMENTS
EQUIPMENT
STORAGE
PRELIMINRRY PROGRAMS
LCRCING PROCEDURE
STARTING PROCEDURE
CONTROL SWITCH SETTINGS
STARTING RDCRESS
PROGRAM AND/OR CPERATOR ACTION
CPERRTING PRJICEDURE

SWITCH SETTINGS

SUBROUTINE RBSTRACTS
ERRORS

ERROR PRINTOUT
ERRUR RECOVERY
RESTRICTIONS
MISCELLANEQUS
EXECUTION TIME
STRCK POINTER

PRSS COUNTER

TEST NUMBER

POWER FRIL

PRCGRAM DESCRIPTION
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DFARCR.PLL
ggg 1. ABSTRACT
. 188 THIS FROGRAM TESTS THE 11/34 EXTENDED INSTRUCTION SET
106 (RSH, ASHC, MUL. AND DIV> USING REGISTERS 0-S AT-
v LERSY ONCE'WITH EACH INSTRUCTION.
108 THE PROGRAM SHOULD BE RUN FOR
109 QT LERST 2 PRSSES WITH ALL SWITCHES LOMW. THE PRCGRAM IS
119 DESIGNED TO RUN UNDER APT. ANC ACT. SYSTEMS
111 TAIS PROGRAM 1S A MODIFICATION OF THE LSI- il £1S TEST.
iig 17 HRS BEEN MCDIFIED *0 ACCOINT FOR ANY LSI-11 = 11734 DIFFEREMCES.
118
118
116
117
;;g 3. REQUIREMENTS
130
121
§g§ 2.1 EQJIPMENT
194 11-34 STANDARD COMPUTER
128 AND 4 OF MEMORY
2.2 STORAGE .
PROGRAM STORAGE - THE ROUTINES USE MEMCRY 0 - 17500
2.2 PREL IMINARY PROGRAMS \
3. LORDING PROCEDURE

USE STRANDRRD PRCCEDURE FOR RBS THPES.

4. STARTING PROCEDURE 2’ K

4.1 CONTROL SWITCH SETTINGSE
SEE S.1 (ALL LOW FOR WORST CRSE TESTING)
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4.3

4.3.

4.3.

b

ne

TR (U UL S0 SRS B8 TR L0
:HOULD STRRTED AT LOCATICN RESTRT [[.E. g2e2) OTHERN'SE THE
PROGRRM CAN BE RESTARTEN AT 200

PROGRAM AND-OR CPERWKTCR RCTION

STAND ALONE

§§ ée §329Q§§§ INT? SEEOR\ USAEr o ?8R WORST CASE.

)
4) THE PROGRAM WILL LOCP ANC "END PRSS™ WILL BE TYPED AFTER
COMPLETION OF FIRST PASS AND EVERY 4TH PASS. HUIEVER TYPE
OUT WILL BE SUPPRESSED IF S8IT § OF LOCATION SENVY IS HIad
S) R MINIMUM OF TWO PRSSES SHOULD RLWAYS BE RUN.

UNDER APT
LORD THE PRCGRAM AND START AFTER SETTING THE DESIRED SWITCHES
(SEE SEC. S.1).

OPERATING PROCECURE

SWITCH SETTINGS

IF NO HARDWARE SWITCH REGISTER IS AVAILABLE, THE PRCGRAM
RUTOMATICALLY USES THE CONTENTS COF LOC. 176 RS THE SCFTWRRE
SWITCH REWLISTER. THE USER SMOULD SET THIS LOCATION BEFJIRE
STARTING THE PROGRAM

I .

~
BIT & OCTAL VALUE FUNCTICON
1S 100000............ HALT ON ERROR
13 g20000............ INHIBIT PRINTQUT

AN 8 BIT 8YTE SENVM [I.E. LOCATION 421] WAS BEEN USED TQ JEFINE
THE OPERATING MOCE. ALL TYPEOUTS CAN BE SLPPRESSED BY MAKIN:
BIT § OF BYTE SENVM HIGW, IN CTHER WJRDS BY PL-Iha ® 20200 IN
LOCATICN <20
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SUBROUTINE ABSTRACTS

'HALT ROUTINE

THIS ROUTINE CALLED VIA JSR INSTRUCTION IS USED ERCH TIME
RN ERROR IS SEEN AND AN ERROR MESSAGE OF THE FORMAT GIVEN
IN SEC. 6.1 IS TYPED OUT UNLESS SUPRESSED BY THE SWITCHES
DEFINED IN SEC. S.1I

TRAP CATCHER

R ™.42" - "HALT" SEQUENCE IS REPERTED FROM 0-776 TC CATCH

ANY UNEXPECTED TRAPS. _THUS RANY UNEXPECTED TRAPS OR
INTERRUPTS WILL HALT RT THE VECTOR +2.

ERRORS

ERROR PRINTOUT
THE FORMAT IS RS FOLLOWS:

RDR ERRNM
WHERE :
ADR = RDDRESS OF ERROR

ERRNM _ = ERROR NUMBER
IN MOST CASES THE COMMENT BESIDE THE CALL FOR HALT SUBROJTINE
TELLS WHAT WAS BEING CHECKED AND WHAT WRS EXPECTED.
PRINTOUTS WILL BE SUPPRESSED WHEN BIT S OF LOCR'ION
SENVM IS HIGH. WHILE RUNNING UNDER RPT THE DIAGNOSTIC
WILL NOT SUPPORT SPOOLING OF CONSOLE OUTPUTS.

ERRCR RECOVERY
RESTART AT 200 OR 222 (SEE SEC 4.2}

RESTRICTIONS
NONE

MISCELLANEOUS

uy .
a Y .
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262
263
gbd B.1  EXECUTION TIME
266 NORMALLY FIRST “END PASS" WILL BE TYPED WITHIN 1 SECOND AND
g7 WITHIN 10 SECONDS FOR EVERY CONSECJTIVE 400 PASSES
ZE9
g:9 8.2  STACK POINTER @
Szg STACK IS INITIALLY SET TO 600

{
27y
e7s
grt 8.3  PASS COUNT

{f
278 A 16 BIT LOCATION “SPASS™ (I.E. LGCATION 406) IS USED TO KEEP
s PASS COUNT. IT CAN BE CLEARED BY RESTARTING THE PROGRAM AT 200
281
282
233 8.4  TEST NUMBER
285 A_16 BIT LOCATION "STESTN" (I.E. LOCATION 4043 IS USED_TO KEEP TRACK
286 OF THE TEST NUMBER, UPPER BYTZ OF ThIS LOCATION GIVES THE ITERATION
g8 NJMBER AND THE LOWER BYTE THE TEST THAT WAS BEING EXECUTED
293
23 §.5  POKER FRIL
232 THE DIAGNOSTIC CAN BE POWER FAILED WITH_NO ERRORS. TO USE
293 START THE TEST AS USUAL AND POWER DOWN THEN UP AT ANY TINE,
2% THE PROGRAM SHOULD RESTART FROM TEST O AFTER TYPING “POKER
235 WITH NO_ERRORS. HOWEVER IF THE PROGRAM IS STCRED IN A MOS
2% MEMORY THAT CAN NOT MOLD DATA WITH POWER DCWN THEN THE PROGRAM
et WILL NOT RECOVER FROM A POMER FAIL
S E
308
201 9. PROGRAM DESCRIPTION
303 THIS PROGRAM TESTS ALL THE EIS INSTRUCTIONS OF THE 11.34
304 FOR ASH AND ASHC INSTRUCTIONS EVERY EVEN PASS IS EXECUTED
305 WITH DESTINATION MODE O FOR ALL REGISTERS AND EVERY 00D PASS
206 WJITH DESTINATION MODE OF £7. THE DIAGNOSTIC COES NOT MAKE A
lorg PASS WITH T BIT SET.

208 .ENCR
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.RBS
.NLIST MD,MC,CND
ME

.NCALL .SEOP,.SRCT11,.SAPTBLS,.SAPTHDR, . HERDER, . SETUP, PUSH, POP
"MCALL STARS’SWRSU

.TITLE DFKACA

s kxCOPYRIGHT (C) DECEMBER 1975

:¥DIGITAL EQUIPMENT CORP.

;:nnvnn ., MASS. 01754

: XPROGRAM BY GLENN JOHNSON

]
:¥THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC

;:PQCKRGE (MRINDEC~11-D2QAC-R2).

§TN=1
§SWR=160000 : tHALT ON ERROR, LCOP ON TEST, INHIBIT ERROR TYPOUT
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330

ggé CREREEREERERRREREERRERREREIRERRERERRERFRRRERRRRRREE R RS R AP

gga 0Co000 .=0 ; TRAP CATCHER O - 778

ggs SRR R R R R R R R R R F S
6

0 ggg 001C00 .3ACT1L

339 000000 ouMMY= O

340 000001 ERRNM= |

341 300051 F= Sl

342 00C176 N= 176

343 000007 PC= %7

344 000006 SP= 78

345 010701 SCOPE= 10701

346 010701 SCOPEL= 10701

347 010703 SCOPE3= 10703

348 001000 SW03= 1000

349 002000 SWi0= 2000

350 004000 Skli= 4000

3E! 010000 Skil2= 10000

352 000CCH TyPE= 10T

353

354

355 000020 .=20
356 000020 0iesv STYPE
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358 00C400
360 0004C0

363 000000
36S 000002
367 000004
369 0000326
370

371 000010
373 000012

393 000056
294 0009&0
395 000062
396 000064
397 002072
398 000180

g7(732) 08-5eP-76 18:20 PAGE 10

200800 .=400
.SAPTBLS
. SAPTHDR
000000 .=SAPTHD
- COUNT:
00000z .=COUNT+2
PSWORD:
000004 .=PSWORD+2
TEMPI:
000006 .STEMPL1+2
TEMPZ:
000010 .2TEMP2+2
TEMP3:
000012 .=TEMP3+2
TEMPY:
000014 .=TEMPY+2
000000 TEMPS: .WORD
000000 TEMP6: .WORD
000 TYPCNT: .BYTE
000 STPCNT: .BYTE
000007 S0: 7
177771 Sl: =7
000024 Se: Sl
177772 €3: -6
177777 SY: -1
040000 8S: 40000
000034 Sk: 5
040000 S7: 400C0
177776 S8: -
00000 S9: e
000044 S10: S9
000002 Sil: e,
177570 SR: 177570
177570 DISPLRAY: 177570
C0006M TTYOUT: &4
177566 $TPB: 177566
177564 S

KOl

$CPUOP
3,5

$TPS: 177564
00S0iS 020040 000040 SCRLF: .ASCIZ «1S><ldys 7/
00b412 047520 042527 FOWER:

0J0122

-—— — ———

.RSCIZ <12><15>/POWER/

s 722
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410 000200
R
000214

413

414 000220
415 000222
416
417

U 419 000600
420 000604
421 0006i0
422 0C0&1M

C 423 000620
424 000620
425 000624
426 000632
427 000634
428 000642
429 000850
430 000654
431 000662

271732) 08-SEP-76 18:20 PRGE 1l

STARTING OF THE PROGRAM

000200
012737 016356 000024

o
022730 0CC000

000167 0003S2
000690

012705 000000
905037 000000
012715 000001
012706 000600

106427 000000

132737 00000! 00030C
001403

012767 200000 177210
012737 000001 000004
00S037 000006

012737 000001 QO00C!10
00S037 000012

.=200

es:

RESTRT:

.=600
BEGIN:

4 H

MOV
MoV
CLR
cMP
BNE
JHP

LO1

#SPLRDN, dscM
aSDEVCT RO

ssnﬂIL RO
23
BEGIN

#3TESTN,RS
Q#COUNT

81, (RS)
$BEGIN, SP
1§, 3%

%0

81, JLSENV
2§’

$SSWREG, SWR
81 I8TEMP

asteme?

81, I8TEMP3

asteEMPY

;PREPARE TO SERVICE POWER DONN ROUTINE
tPREPARE TO INITIALIZE THE STACK

;MRKE R3S POINT T0 THE LOCATION STESTN
CLERR THE COUNTER

INITIRLIZE TEST NUMBER

!! STACK AT BEGIN xx

;PLACE 0 IN PSW

:ARE WE UNDER APT ?

: IF_NOT_THEN GO TO 2§
USE APT SWITCH REGISTER

;TEHPE=
: TEMP3=1
TEHPQ-U
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434
435
436
437
438
439
440
44]
4y
443
44y
445
445
44?2
448
449
450
45]
452
453
454
455
455
457
458
459
450
461
452
463
4EY
4ES
4B6
467
468
469
470
471
472
473
474
475
476
477
478
479
480
481
42
483
4gy
485
485
487
488
489

000666

000702
000704

000713
000712
000714
000720
000724
009732
000734

000740
000742
000746
000752
000754
000754

000760
000762

000766
000770
000772
000774

001000
001002
001006
00igdi2
001016
001020
001024
001030
001032
001036
001044
001046
001082
001084

000001
005237
023700
001403

004767

000002
021537

00137¢
005215
010701
021527

002011
005237
006367
021527
001004
000167
004767
010703
013701
032737
001004
013702
072102
coo402

08-SEP-76  18:20 PRGE 12
RASH INSTRUCTION TESTS

0000CH
000001

000006

177066
000002
000Ci2
015446

000000
000010

015426

003000

000037

000006
176778
000020

000764
001006

000004
000001

000006

016336

000002

016336

START:

L
L il o

B%:

8%:
REG!:

SCOPEL
MoV
BIT
BNE
MOV

ASH
BR
ASH
MFPS
CMPB

BEG
JSR

1

INC
cMP
BEQ

4§

MO1

5 SIS0 00 30 363 90 3 3030 36 3 36 30 36 30 0 36 36 36 3 36 36 3 3 3 %

ASH INSTRUCTION TESTS
SEEEERREREES R ARSI RIS

*!i**!*!i!**

(RS), J8COUNT

6%
(RS)
(RS), 837

NEGRT
PC,TST37

NTEMPL %1
5% , a83PASS

J#TEMPE,R2
Re, Rl

: TESTS 1-36
iili*l*liii!
- J8TEMP1 . %0 ;LORD RO WITH THE CONTENTS OF TEMPI
81, 348PASS +1S IT AN EVEN PRSS
13 :IF NOT THEN GO TO 2%
JSTEMP2,RI sOTHEPWISE EXECUTE THE INSTRUCTION
+IN MODE O USING Rl
gé,nc
TEMP2, %0 :SHIFT RO BY THE NUMBER SPECIFIED BY TEMP2
A8PSWORD :SAVE PS
BITEMPH - 3#PSWORD: IS THE PS = TEMPY ?
PC.SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS 1S NOT'EQUAL T0 O
8COUNT . INCREMENT THE COUNTER
a:Isnpa.zo :1S THE RESULT IN RO EQUAL TO TEMP3?
PC.SHLT -SEEN AN ERROR, GO TO TH HALT RCUTINE

:EITHER INCORRECT RO OR INCORRECT SEQUENCE

,égUTHE TEST NUMBER EQUAL TO THE
; IF NOT GO TO THE HLT ABOVE

;HRS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
:BY 14. AND RIGHT BY 14.?

;SHIFT TEMP3 LEFT.
:HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.°

;IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
:IF 50 GO AND CONTINUE THE REST OF THE PRCGRAM

RD Rl WITH THE CONTENTS OF TEMP!
IT AN EVEN PRSS ?

NOT THEN GO TO 2%

EEN%SE EXECUTE ASH INSTRUCTION IN MQDE O
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430
491
492
4493
43y
435

N IV [U R g ValValligl¥y]
Pt Pt Pt Pt st Pt e Pnss P
DO N LN —

S20

201063
001066

001074
001076

001142
001144
001150
001154
001160
001162
001166
go117e
001174
001200
001206
001210
Q01214
001216
001220
001224
001230
001236
001240

001244
001246

Q72167
106737
123737
001403
004767

000003
005237
023701
001403

204767

000004
021537
001372
00521S
010703
021527

002011
005237
006367
021527
001004
000167

072267
106737
123737
001403
004787

000005
005237
023702
001403

004767

002011
gos237

08-SEP-7E& 18:20 PAGE 13
RSH INSTRUCTION TESTS

176724
000002
o0ooi2
015304

000000
oooela

015264

0000300

200037

00000%
176634
000020

000&22
000644

000004
000001
000006

176562
000c02
000012
Q15142

000000
000010

0iSlee

000oac

300037

000006

000002

016336

0000Ce

2%:
43:

6%:

8%;

REG2:

2%:
4%:

BS:

RsH
MEPS
CMPB
BEQ
JSR

3

INC
CHP
BEQ

JSR

SCOPE!L
) g

BGE
INC

NO1

TEMP2, %1
I8PSHORD

gHIFTPEI By THE NUMBER SPECIFIED BY TEMP2

SNTENPY, 28PSWORD; IS THE PS = TEMPY *

PC SHLT

J#COUNT
BOIEMPB %1

PC,SHLT

(RE), J4COUNT
63

(RS)

(RS), 437

PC,TST37

UTEMPL, %2
t% | 48PASS

J#TEMP2,R3
R3,R2
4g

TEMP2, %
I4PSH 6

; SEEN AN ERROR, GO TO TH HALT ROUTINE
s THE PS IS NOT EQUAL TO O

; INCREMENT THE COUNTER
s 1S THE RESULT IN Rl EQUAL TO TEMP3?

; SEEN AN ERROR, GO TO TH HALT ROUTINE
;EITHER INCORRECT R1 OR INCORRECT SEGUENCE
1
I

E
1
;1S THE TEST NUMBER EQUAL TO THE COUNTER?
; IF NOT GO TO THE HLT ABOVE

;HRS THE CONTENTS OF REGISTEQS BEEN SHIFTED LEFT
:BY 14. AND RIGHT BY 14.?

;SHIFT TEMP3 LEFT
sHAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.”

; IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
:IF 50 GO AND CONTINUE THE REST OF THE PROGRAM

;LOAD R2 WITH THE CONTENTS OF TEMPI

+1S IT AN EVEN PASS 2

:IF NOT THEN GO TO 2§

OT?EENégE EXECUTE ASH INSTRUCTION IN MCOE O

’

SHIFTPEE 8Y THE NUMBER SPECIFIED BY TEMP2

s SAV
ITENPY, aupsuono 1S THE PS = TEMPY ?

PC SHLT

J#COUNT
J#TEMP3, %2
.+10

PC, SHLT

(RS), J8COUNT
1

(RS)

(RS), 837

8s
JSTEMP2

; SE
sEl
;§§ THE TEST NUMBER EQUAL TO THE COUNTER?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS 1S NOT EQUAL TO O

; IS THE RESULT IN R2 EQUAL TO TEMP3”

EN AN ERROR, GO TO TH HALT RQUTINE
THER INCORRECT R2 OR INCORRECT SEGUENCE

NOT GO TO THE HLT ARBOVE

;HRS _THE CONTENTS QOF REGISTERS BEEN SHIFTED
:LEFT BY I4, AND RIGHT BY lN.
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C00011
00S237
023704
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QSH INSTRUCTION TESTS

176472
000020

002460
0C2s82

000004
00C00:

C0000Cs

CoC33?

0000%s
176330
0020eC
0CC34e
0005Ju
00Ca0!
0CCa0e
176256
00003e
0C001e
014636

9c3000
00001¢c

016338

Cle33s

00000e

<t H
REG3:

c3:

Bs:

8%:
REGH:

cE:
4%

18:20 PRGE 14

BOE

TEMP3
(RS), 420
RES3
NEGRT
PC,TST37

JaTEMFL, %3
81, 388PASS

cs
JATEMF2 .RY
RH. R3

4§
TEMP2,*
a:psubno

J8TEMPY, g8PSUORC; IS THE PS

.+1C
PC.SHLT

S SCOUNT
o8TEMP3, %3
.+10

PC,SHLT

(RS), J8COUNT
&3

(RS)
(RS}, 837

g%
a#TEMP2
TEMP3
(RS), 820
REGH
NEGRT
PC,TST37

o8TEMPL, %S
RS,Rl

81, d83PARSS
23
Q8TEMP2,RS
RS,R4

4§
TEMP2, %4
I8PSHORD

;SAVE P
alTEHPH . JWPSWORD; IS PS =

PC,SHLT

J#COUNT
S8TEMP3, N

;SHIFTED TEMPI LEFT
iHAS THE CONTENTS CF REGISTERS BEEN SHISTED LEFT 87 14.°

;IF SO GO TO NEGAT AND INITIARTE RIGHT SHIFT

+ ¢ §0 GO AND CONTINUE THE REST OF THE PROGRAM
:LORD R WITH THE CONTENTS OF TEMP!
:15 17 AN EVEN PRSS 7
:IF NOT THEN GC TQ 2%
:OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 3
:USING R3

SHIFT R3 BY THE NUMSER SFECIFIED 8Y TEMP2
'SRVE PS

= TEMPY °

:SE=N AN ERROR, GC TO TH MALT ROUTINE

:THE PS IS NOT'EQUAL TO O.

.15 THE RESULT IN R3 EQUAL TC TEMP3"

AN ERRCR, G0 TC TH HALT ROUTINE
INCORRECT R3 OR INCORRECT SEQUENCE

R
E TEST NUMBER EQUAL TO THE COUNTER”
NOT GO TO THE MLT RBOVE

: SEEN
tEITHE
115 TH
IF NO
:HRS THE CONTENTS CF REGISTERS BEEN SMIFTED

:LEFT BY 14, AND RIGHT BY 4.7

;SHIFT TEMP3 LEFT?

;hRS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY !4.?

;IF SO GG TO NEGAT AND INITIATE RIGHT SHIFT
SO GO AND CCNTINUE THE REST OF THE PROGRAM

g R; WITH THE CONTENTS OF TEMP!
gT RN EVEN PASS ?
E

’

T THEN GO TO 2§

RNISE EXECUTE RSH INSTRUCTION IN ™2DE O
;USING R

:SHIFT gq BY THE NUMBER SPECIFIED BY TEMPZ
TEMPY ?

s SEEN_AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NCT EGQUAL T0 O

s IF
:LOA
s SRV
; IS
JIF
;0TH

.
0
O
.
L]
’

: IS THE RESULT IN R4 EGQURL TC TEMP3?
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RSH INSTRUCTISN TESTS

Cl4&16

000200

000037

3C0C08
176164
000320

30C176
Q00004
00CaC!
00C030s

i76ll¢e

AR A N S, S

014472

CC0000
003C1%

014452

00CCO0

sls]s/nic g

W

200006
17602C
000020

0C0232
176656

CiB33b

gCCCoe

6%

8s:
REGS:

%} H

co2

.+10
PC,SHLT

R1.RS
(RS), 2uCOUNT
6%

(RS)

(RS), 837

gs
aRTEMPE

NEGAT
PC,TST37

RS.R!
astEMP], %S
5§ ,988PASS
aorsnpa RO
g RS
rsnpa /s

J - SW

+]

FL.SH.

& S8COUNT
s 8TEMP3, %5
.+10

PC.SHLT

1, J8COUNT

R TR OAREC TORACOR ThCIRRECY 8EE ErcE

:RESTORE RS
:IS THE TEST NUMBER EGUAL TO THE CCUNTER?
:IF NOT GC TO THE HLT ABIVE

;HAS THE CONTENTS OF REGISTERS BEEN
:SHIFTED LEFT 8Y 14. AND RIGHT BY 14.”

;SHIFT TEMP3 LEFT
:HAS THE CONTENTS OF REGISTER BEEN SHIFTED BY [4.”

;IF SO GO TO NEGART AND INITIATE RIGHT SHIFT
:IF S0 GO AND CONTINUE THE REST OF THE PROGRAM

F
£
+SAVE RS
sLORD RS WITH THE CONTENTS OF TEMPI

: 1S IT AN EVEN PQSS

:IF NOT THEN GO T0 28

ST EgHIEE EXECUTE RSH INSTRUCTION IN MODE 3

:SHIFT RS BY THE NUMBER SPECIFIED BY TEMP2

:SAVE PS
.rsnpq .28PSUCRD: IS PS = TEMPY °

:SEEN AN ERROR, GO 7O _TH MALT ROUTINE
:THE PS IS NOT EQUAL TO 0.

THE RESULT IN RS EQUAL TO TEMPI”

:SEEN AN ERROR TO TH MALT ROUTINE
THER xncoaatcr RS JR INCORRECT SEQUENZE

E

)

S THE TEST NUMBER EJURL TO THE CJUNTER?
F NOT uOsTu THE HLT RABOVE

E
1
:RESTORE R

E‘T BY I4. AND RIGHT BY 14 ?
:IF S0 GO AND CONTINLE THE REST OF THE PROGRAM

;SHIFT TEMP3 LEFT
:HAS THE CONTENTS OF REG

ISTERS BEE
:IF SO GO TO NEGAT RNC INIT I

IF
IRTE RIGHT SH

:G0 BRCK TC STWRT

TED LEFT BY (8.1
IFT

]




CERRSR

DFARCR.

858
659
660
b51
662
663
564

MRSY!! 2Tur3?
RSH INSTRUSTION TESTS

Pll

002010

ERES
802332
002036

002250
002282
002260
002266
002274
002276
002302
002304
002312
002320
002324

002332
002334

C0ez3sH

913737

g% 37

1

2

2737
2737
0207
i527
g737
e

08-3EP-TS

c40C00
170762
000001
176630
020037

000004
000020
000210
000004

000040

Q0C004

308318

000006
00G212

000006 -

00004
177760
0C00Ne

130000
000006
030010
00C010

000043
125252

177777

152525
00COuN

0cacal
052524
000CC3

QCCOCNS

177776
165252
000011

000046

1727277
C0002C
000010
0C0007

000047
000006

10000
51818113 I8

0C00%k

000C04

ao0cele

000J0H
000036
030c1a0

0032C6
£0acl10
€o001e

C028Cs
CC210
gogoie

0000QH
000CCs

00%0ie

c0a0
0oao

>— e
no

NESRT:

. T8T37:

TST+Q;

TSTH!:

TSTYE:

TST43:

TSTHY:

TETHS:

TSTH6:

TSTH?:

18:20 PRGE 16

MUV
MOV
MOV
JHP
cHp

D02

84000C, 98TEMP]

31777 éhga eCEMPR .

START

'RS), 837
M)
JRTEMPL
816.,a8TEMP2
JeTEMP3

34 , J8TEMPY

(RS), 840
1574}
QSTEHPE

#1000C0, &8TEMP.
JSTENP2’
JRTENP3

810 , SSTENPY

(RS), #43

TST4Y

3125252 asTEnPl
-1, J8TEMP2
gésﬁsas JsTEMF :

(RS), #44

TSTHS

8], dsTEMP2
852524, a8 TEMP3
83, I8 TEMPY

PC
(RS), 845
TSTHQ

WTEMP2
c155252 aorsnpa
Sé‘ CIsTEMPY

(RG), 846
T5T4?
e-1,d8TEMP]
816, , J8TEMP2
asrgﬁpa
STEMPY

lRS) 847

15750

SRTEMP2

8100000, 28 TEMP3
811, asTEMPY

T,

15 11 TEST 377
i NOT THEN ~RY TEST 4G
%EIFTED BY 16

QNO PS=+

+IS IT TEST NQ?

«IF NOT THEN TRY TEST &l
:0 SHIFTED BY 0=0 AND PS=y4
TEST

I

T 4]

OT _THEN TRY TEST 4¢
IFTED BY -16.=0 ANL PS=Y4

S
£
S

H
S IT TEST 42”

F NOT THEN TRY TEST 43 .
00900

SgEFIED BY -15

~ % .AND PS=10

®e o0 @8 00

il
il
J¢
P!
P!
l
I

T_TEST 43?
QT THEN IF NOT THEN TRY TEST 44

T
Zr-e

ES
THEN TRY TEST 4§
HIFTED BY !

S
Y
3
TEST 4§°

F
IT
NOT THEN TRY TEST 45
252 _SHIFTED BY -2

1% 52

IT_TEST 4&?
IF NOT THEN TR\ TES™ 47

sSHIFTED BY 1S.

:15=0

+AND PS=7

:IS IT TEST 847

+IF NOT THEN TRY TEST SC
+=]1 SKIFTED BY 1S

.153100000
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EO2

CFARCAR MRCY1! 2T71732) (08-SEP-76 18:20 PRAGE 17

OFKRCA.P11 RSH INSTRUCTION TESTS
T14 002382 000207 RIS PC
15 Q03364 (021527 000CSO TSTSO: (MR (RS), 450 ;15 1T _TEST 50
~16 003370 001007 . BNE  ENTS] : IF_NOT THEN_TRY TEST 5]
TiT 008372 012737 137777 CCOOCY MOV #137777,Q8TEMPL 137777 SHIFTED BY 15. I15=130000
712 002900 Q1ev3v 030013 G500i2 MOV w13,3aTEMPY ;AND PS=13
r13 002406 000207 RTS  FPC
720 002410 Q21527 0000S! ENTSL: (WP (RS),#51 ;15 1T ENTERING TEST 51°
21 (092414 0061403 BEQ +10°
TZ2 002416 004767 0137ed JSR  PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
=33 ; TEST NUMBER GOOFED
Te} 002422 0000IS 15
"2 002424 [0STRe ST (SP)+ ;RESTORE STACK POINTER
~e- OC24de QI2r04 1777T! MV e=T,ud
3¢ 022432 012702 0COQ:d MOV #5).%2
23 CI22+35 Ci2tC3 000028 MOV 52.%3




DFKACR MRCY1l 27(7°32)

DFKRCAR.P1!

764 002546
765 002550

767 002554

002556
769 0025E2
770 D)256Y
771 002564

772 002570
774 002572
775 002576
776 002ed0

010701

00S2l1s

gigzol
012700
072077
106737
122737
001403
004767

000020
022700
001403
0o47e?

000021

0osels

08-SEP-76_ 18:20 PRAGE 18
RSH INSTRUCTION TESTS

125252
000005
000002
000003

013712

052500

013676

0coes!

125252
175272
000002
000010

013632
177525

013816

0000s2

0cooa2

00000e

FO2

RRRRARRREERERRRRRRERRRERSRERERRRERERERRRERRERRRRRSRERRBRREEE R4 EEEE

sTEST:S51 11/34 ASH 125252 SHIFTED BY %5 = 52500 F5S = 3
;liiIiilili!llllll!lllQllliili*ll!lli!!l!!iiil!l!iilll#l!lfliil!!ili!
TSTS1: SCOPEL
MOV 8125252, %1 :LOAD R! WITH 125252
ASH 85, %1 :SHIFT Rl BY #5
MFPS  @8FSi{ORD ;§AV§ PS
ggge cglgs?suono 15 THE PS 37
JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
& :THE PS IS NOT EQUAL TO 2
CMP 52500, %1 :1S THE RESULT 525007
s BEQ .+10
' JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1 RI IS NOT EQUAL TO 52500 OR INCORRECT SEQUENCE
CMP (RS), 451 .15 STESTN = #5]
BNE 13 :IF NOT YHEN GO TO HLT RBOVE
INC (RS)
;i*ii!*illiiifil*¥§¥{*i*i{}iiliil{lllllllillll{llfllillilllllllilllii
:TEST:52 1134 ASH 125252 SHIFTED BY @52 = 177525 PS = 10
;!!!I!iiliii!iiiiiiiillll!!ili!iiilili!iii*iillllil!lil!l{ll{liiiliil
15752: SCOPEL
MOV 125252, %0 :LORD RO WITH 125252
ASH 352, %0 :SHIFT RO BY &52
MFPS  8PSWORD :SAVE PS
ggge oigbaaPSuGRD :1S THE PS 107
JSR PC.SHLT :SEEN AN ERROR, GO TO TY HALT ROLTINE
i *THE FS 1S NOT'€QUAL Y0 10
c
CMP $177525, %0 :1S THE RESULT 177525°
s BEQ .+10
| ISR PC,SHLT -SEEN AN ERROR, GO TJ TH HALT ROUTINE
) ‘RO IS NOT EQUAL TO [77525 OR INCORRECT SEQUENCE
CHP (RS), #52 .15 §TESTN = 852
?ng %35) :IF NOT THEN GO 70 HLT RBOVE




CFKRCR MAJYI! 271732)
ASH INSTRUCTION TESTS

OFKRCA

780
78]

i
-y,

[
784

0000 (0 aD o (oD D
Pt Pt Pt Pt s Pt Pt Puct P
D00 NN £ W

Pl

002650
0G2eS2
002656
002660

002662
0C2664
002670
002672
002676
002704
002706

002712
go2714
002720
002722
002722

002726
002730
002734
002736

010791

0000e2
022700
001403

004787

000023
021527
001372
00s215

010701
012700

001403
004767

000024
02e700
001403

004767

000025
021527
00137¢
00seils

08-SEP-7H

185252
000024
000002
000010
013552
177525
013538

0CO0S3

12cese
000002

000010
013474
177525
013460

0000sH

000002

00000z

GOE

18:20 PRGE 19

CHERERIREIIEIR IR I I I3 0033000 I3 T3 336036 0 300 00300036 00 36 0630 30 30 6 38 6 30 3 36 3 30 30 3 B

:TEST:S3  11/34  ASH 125252 SHIFTED BY JaSl = 177525 PS = 10
TRREREEFRREERERRRRAEERERHRAREERR R R R RSN R RAR AP R RS SRR RRFRIESY

TSTS3: SCOPE!

MOV $125252, %0 :LORD RO WITH 125252
ASH s, %0 :SHIFT RO BY %51
MFPS  QaPSWORD :SAVE PS
ggge :igoaupsuono :15 THE PS 107
ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
02 :THE PS IS NOT EGQUAL T0 10
CHP 8177525, %0 :1S THE RESULT 177525”
s BEQ .+10

| ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
s 'R0 IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
CHP (RS) . #53 .15 §TESTN = ¥53
?gg %35) +1F NOT YHEN GO TO HLT ABOVE

;**g****iii*i*i**ifii**iiiiiififi*§§§§i*i***i***iiii****i*i!*i**i****
;TEST:S4  11/34 ASH 125252 SHIFTED BY (2) = 177525 PS = 10
S MR R R R R R R R AR R R AR

TSTS4: SCOPEL
MOV

125252, %0 :LOAD RO WITH 125252
ASH (2).%0 :SHIFT RO BY (2)
MFPS  #PSWORD :SAVE PS
ggga 31? J8PSWORD ;IS THE PS 107
i J
JSR PC.SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
o :THE PS 1S NOT EQUAL TO 1O
CMP 81773525,%0 .15 THE RESULT 1778257
s BEQ .+10
’ JSR PC,SHLT SEEN AN ERROR, GO T TH HALT ROUTINE
5 RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
CMP (RS), 854 :15 $TESTN = #54
?gg %35) +IF NOT YHEN GO TO HLT RBOVE




HO2

DFKRCR MACY!l 2°(v32) _08-SEP-7 %2:20 PAGE 20

DFKRCA.P11 ASH INSTRUCTION TES
830 R EIIIZIIILIZZI3Q 2222222222222 2L L28282 3222322222222 282222 22,
835 -TEST:55 11/34 ASH 125252 SHIFTED BY (2)+ = 177525 PS = 10
235 SRR IR E I T I T 003963909036 390 30 36 3036369096 36 96 36 00 20 0 9% 3 36 I 03 RN RN ERNEER
834 002740 010701 TSTSS: SCOPEL
835 002742 012700 125252 MOV 8125252, %0 «LOAD RO WITH 125252
836 002746 072022 ASH (2)+. 70 SHIFT RO BY (2)+
837 002750 106737 000002 MFPS  J#PSKLORD :SAVE PS
838 002754 122737 000010 00OCO2 CMPE  #10,8PSWORD IS THE PS 107
833 002762 001403 BEQ  .+10
840 002764 004767 013416 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
841 +THE PS IS NOT EQUAL TO 10
842 002770 000026 26
843 002772 022700 177525 CMP 8177525, %0 1S THE RESULT 177525”

894 002776 001403 BEQ .+10

84S 003000 18:

846 003000 004767 013402 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
847 RO IS NOT EQUAL TO 177525 OR INCORRECT SEGUENCE
848 003004 000027 27

849 003006 021527 0C00SS CMP (RG), #55 .15 $TESIN = 855

850 003012 001372 BNE 13 s IF NOT YHEN GO TO HLT RBOVE

Béé 0030148 075215 INC (RS)

8g3

854

858 : REFEREREREREREEERREEREFEEEREEEREEREEEREELREEEEEEREEEEEEEEEEEEEEEEEEE
856 :TEST:56 11/34  RSH 125252 SHIFTED BY -(2) = 177525 PS = 10
ggg : FEFRREREREERREERERERREEEERERERR LSRR R R RN RS EERERERREREEEEEEEEEE SR
859 003016 0i0701 TSTS6: SCOPEL

860 003020 012700 125252 MOV #125252, %0 :LORD RO WITH 125252

861 003024 072042 ASH -(2),%0 :SHIFT RO BY -(2)

862 003026 106737 000002 MFPS  S8PSWORD :SAVE PS

863 003032 122737 000010 000002 CMPB  #10,38PSWORD  :IS THE PS 107

864 003048 001403 BES 41

865 003042 004767 013340 JSR PC.SHLT -SEEN AN ERROR, GO TN TH HALT ROUTINE
866 :THE PS 1S NOT EQUAL TO 10

867 00304 000030 30

868 003050 022700 177525 cHP 8177525,%0 1S THE RESULT 177525°

869 003054 001402 vEQ .+10

870 00305¢ 18:

871 003056 004767 013324 ISR PC,SHLT :SEEN AN ERROR, GO TJ_TH HALT ROUTINE
872 ‘RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
873 003062 00003! 3l

874 003064 021527 0CDOSE FMP (RS), 856 .15 STESTN = 856

875 002070 0061372 BNE 18 :IF NOT YHEN GO TO HLT RBOVE

g76 003072 005215 INC (RS)




DFKRCA MACY!!l 27(732)
OFKRCR.PLL

es80

920

003126
003130
003134
003136
00313¢

003142
003144
003150
00215z

003154
0C3iSk
003162
003166
go3i7e
003200
003202

003206
003210
003214
003216
003216

003cee
003224
003230
003232

08-SEP-T8

ASH INSTRUCTION TESTS

010701
012700
072063
106737
122737
001403
004787

000032
022700
001403

004767

000033
021527
001372
005215

01C701

004767

000035
021527
00137¢
00s215

125252
000002
coooge
000011

013260
177252
013244

0C00s7

125252
000090
000002
000010

013200
177525
013184

000060

000002

00030e

18:20 PAGE 21

102

SHET T3 000 00030 30 3 0036 06 30036 00 030 3 30 36 0 30 0 46 0008 06 3 30 06 30 30 36 30 38 30 90 08 3 3 06 46 36 430 00 30 0 30 3 48 31 36 00 06 B 31 4

:TEST:57

11734  ASH 125252 SHIFTED BY 2(3) = 177252 PS = 1|

(EERERERRR SRR R RRERRRRERARRRERRBRERRRERRERRERERERERRRRERREEERRERERELR

TSTS7:

198:

SCOPE!
MOV
ASH
MFPS
cMPB

BEQ
JSR

32
CMP
BEQ

JSR

33

CMP
BNE
INC

8125252, %0 :LOAD RO WITH 125252

2(3),%0 :SHIFT RO BY 2(3)

J8PSWUORD :SAVE PS

.i§aacpsuono 1S THE PS 117

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS 1S NOT EQUAL TO 11

nirgasa,zo -1S THE RESULT 1772527

PC,SHLT :SL-N AN ERROR, GO TO TH HALT ROUTINE
‘RO IS NOT EQUAL TO 177252 OR INCORRECT SEQUENCE

(RS), 457 .15 STESTN = 857

%35) -IF NOT tHEN GO TO HLT RBOVE

sREREFEERERRRERRRERERERRREREREFERERRRERISLERRFRBRREEREREREEEEEEEEEERE

11734  RASH 125252 SHIFTED BY &(3) = 177525 PS = 10
R T T I T R R N T I A R A AT I AT A AR A AT R A AR A A T

tTEST:60

15760:

18:

SCOPE]
RV

8125252, “0 :LOAD RO WITH 125252

(.70 :SHIFT RO BY a(3J)

S8PSHORD SAVE PS

ci?bacpsuono 1S THE PS 10?

PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
THE PS IS NOT'EQUAL TO 10

nizgsas,zo 1S THE RESULT 177525°

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

(RG), 860 -15 STESTN = #&0

18 :IF NOT YHEN GO TO HLT ABCVE

5




£

JOe

OFKRCA MACYLl 27(732) 08-SEP-76 18:20 PRGE 22

OFKACR.P11 ASH INSTRUCTION TESTS
930 : 303636036 66 303 3638 36 06 353 36 3 36 3 3 36 36 96 3 3 36 3 3 9 3 3 3 39 3 3 3 3 3 3 3 3 3 3 36 3 3 3 3 3 3 % 3 % 35 % % %% %% % %
93] sTEST:61 11/34 ASH 125252 SHIFTED BY a(3:+ = 177525 PS = 10
ggg ; RS0 30 20 3 00 000 36 38 30 4 96 3 3 30 98 3 98 30 4% 3 8 36 96 30 3% 38 9 30 98 3 30 36 3 3 % 36 3% 3 9% 3 3 3 3 b 3% 36 36 9% 3% & 9 96 3 3% 96 5% 3 & % %
934 003234 010701 1STel: SCOPE)
gas ooaeag 8%2700 125252 go: g%a§§sg %0 ;La?nggoué$na%g§gsa
3B B e non00e RPHe 3:35w0n8 zgnvs PS
938 003250 122737 000010 000002 CMPB  ®#10,38PSWORD ;IS THE PS 107
939 003256 001403 BEQ +10
qy0 003260 004767 Ol3122 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
Q4] :THE PS IS NOT EQUAL TO 10
942 003264 DO0D36 36
943 003266 022700 177525 CMP $177525, %0 : 1S THE RESULT 1775257
Q44 003272 001403 BEQ .+10
94ys (003274 18:

946 003374 004767 013106 . _ ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

Q47 'R0 IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
S48 (003300 000037 37

949 003302 021527 0CO06I CHP (RS, 861 .15 STESTN = #6l

95] 003306 001372 BNE 1§ :IF NOT tHEN GO TO HLT RBGVE

951 003316 005215 INC (RS)

952

=

QcsS : FHBERIEREEENEEIENEE TR RE TR LSRR E TR E LR EEEEE R R EEEEEEEEEEEE

Q5§ :TEST:62 11734  ASH 125252 SHIFTED BY @-(3) = 177528 PS = 10

ggg H I I RIS E SIS SEEISR SR EISSER ISR I SIS SRS ES RSS2

959 (003312 010701 15T62: SCOPE!

960 003314 012700 128252 MOV 8125252, %0 ;LORD RO WITH 125252

96] 003320 072053 ASH 3-(3),%b :SHIFY RO BY 9-(3) )
962 003322 106737 000002 MFPS  #PSWORD :SAVE PS

963 003326 122737 000010 000002 CMPB  #10,98PSWORD  :IS THE PS 107

964 003334 001403 BEQ .+10

965 003336 004767 013044 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE

966 :THE PS IS NOT EQUAL TO 10

967 003342 000040 4

968 003344 022700 177525 CMP 8177525, %0 :1S THE RESULT 177525°

969 003350 001403 BEQ .+10

970 003352 18: A

971 003352 004767 013030 JSR PC,SHLT :SEEN AN _ERROR, GO TO TH HALT ROUTINE

§72 ‘RO IS NOT EQUAL TO 177525 OR INCORRECT SEGUENCE
973 003356 000041 41

974 003360 021527 000062 CHP (RS), 462 +1S STESTN = #62

975 003364 001372 ENE 1§ :+IF NOT YHEN GO TO HLT RBOVE

976 003366 005215 INC (R5) : : ‘

378 ’i
379 q&s&,
o




UFKRCR MACYL! 27.732)
DFKACAR.P1I

Pt Pt Pt Bt Pt =t Pt Pt Pt
QOO0 0OO000O0
L) b=t b=t s s et Pt Pne o
QOO NN LW

(ST
00
nn
[ VI

003370
003376
003402
003410
003414
003420
0034¢b

003432
003434
003436
003442
003446
003450
003456
003460
003464
003466
003470
003474
003500
003506
003510

003514
003516
003522
003526
003530

003534
003536
003542

003544

003550
003S52
003554
003560
033see

003SER
003570

RSHC INSTRUCTION TESTS

012737
005037
012737
005037
005037
012737
035037

010703
010502
013700
013701
000241
032737

004767

000042
005237
023700
001403
004767

000043
023701
001403

004767

00004Y
010205
021537
001403
004767

000045
GCs21E

08-SEP-76_ 18:20 PRGE 23

000062
000004
003001
000010
ooooie
000001
000016

00900
000006

000001
000010
174314
000002
000016
0lee72
000000
000012

012652

000014

012636

000c0o
012620

000000
000006

000014

016336

000002

REGOL:

cs:
48:

MOV
CLR
MOV
CLR
CLR
MOV
CLR

SCOPE3
MOV
MOV
MOV
CLC
BIT
BNE
MoV
RASHC
BR
ASHC
MFPS
cMPB
BEG
JSR

42

INC
cMP
BEG
JSR

43
CHP
BEQ

JSR

oo
MOV
CHP
BEG
JSR

4S
INC

KO2

3 JETI0I0 36 00 3036 36 3036 36 36 3 96 36 3 36 38 30 38 0 36 30 36 34 34 36 30 0 30 8

ASHC INSTRUCTION TESTS
DU HHHH

s S35 3 33 2

; TESTS 63-157
LERERERERRREN

862, JRCOUNT

STEMPI

81, IRTEMP2

IstEMP3

JUTEMPY

81, J#TEMPS
JstEMPE

RS, R2
JstEMPL, %0
JTEMP2) %011
81, J48PASS
28’

UOTENP3 RS
RS,RO

4§’
TEMP3, %0
8PSUORD

; TEMP1=0
: TEMP2=1

: TEMP3=0
TEMPH-U

MPS=1
0 1 SHIFTED BY 0=0 1, PS=C

; SAVE RS
:PLACE THE CONTENTS OF TEMP1 IN REGISTER O
:PLACE THE CONTENTS OF TEMP2 IN REGISTER 1

;1S IT AN EVEN PASS ?
:IF NOT THEN GO TC 2§
Og?Egﬂagi EXECUTE ASHC INSTRUCTION IN MODE O

gscg REGISTER 0 BY THE CONTENTS OF TEMP3

BQIEHPB , 38PSWORD; COMPARE PS WITH THE CONTENTS OF TEMPE

PC,SHLT
2¥COUNT
JSTEMPY, %0
.+10
PC,SHLT
ISTEMPS, %]
.+10
PC.SHLT
R2,RS

(Réé 28COUNT
PC,SHLT

(RS)

; SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG PS

; IS THE RESULT IN RO SAME AS TEMP4?

:SEEN AN ERRQR GO TO TH HALT ROUTINE
' WRONG RESULT IN R

:1S THE RESULT IN Rl SAME RS TEMPS?
Esgpéstsgpassuxrrso BY TEMP3=TEMPY TEMPS
:SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG RESULT IN RI

;RESTORE RS
:1S TEST NUMBER=COUNTER®

;SEEN AN ERROR, GO 10 TH HALT ROUTINE




OFKRACA

MRCY1l

OFKRCR.P11

1038
1037
ioge
183
1041
1042

00357¢
003576
003600

3338

003612
003ulb

003636
003642
003646
003650
003656
003660
003664
003666
003670
003674
00370G
003706
003710

003714
003716
003722
003726
003730

003734
003736
003742
003744
003750
Ca3752
003756
003760

003764

00+034

eri{732)

08-SEP-76

RSHC INSTRUCTION TESTS

Q21527
002014
005237

geers

006137
021527
001004
004467
004767
010701

001403
004767

000046
005237
023702
001403
004767

000047
023703
001403
004787
000050
021537
001403
004767

0000S1

010501

000180

ooooio
000014
000012
ooolel

000410
000440

000004
000006

000001
000010
174114
000002
000016
012472
000Ca0
0noole
012452

000014

012436

000000
Oledee

000160
000010
000014
0caol2
000121

000212
000242

016336

000002

63:
REG23:

es:
I.{ .

3 H
REGHS:

18:20 PAGE 24

LO2

(RS), 8160
&3
JSTEMP3

ISTEMPS
JRTEMPY
(RS), 8121
REG23
RY,RITSH
%7 TST160

JUTEMP], %2
SUTEMP2, %21

g% , 388PASS
BOTEHP3 R4
RY,R
4§’

TEMP3, %2
J#PSHORD

;HggE THE FIRST 159 TEST BEEN EXECUTEC?

;ROTATE TEMPS LEFT BY | PLACE
+ INTRODUCE CQRRY FROM TEHPﬂ IN TEMPS
:1S IT TEST 1217

; IF SO THEN GO AND INITIATE RIGHT SHIFT

;PLACE THE CONTENTS OF TEMPL IN REGISTER @
:PLACE THE CONTENTS OF TEMP2 IN REGISTER 3

;1S IT AN EVEN PASS 7
;IF NOT THEN GO TO 2§
og?sguﬁgs EXECUTE ASHC INSTRUCTION IN MODE O

RSHE REGISTER 2 BY THE CONTETNS OF TEMP3

; SRY
EOTEMPB IWPSWCRD; COMPARE PS WITH THE CONTENTS OF TEMPG

PC SHLT

J#COUNT
JUTEMPY, %2
.+10

PC,SHLT
JUTEMPS, %3
.+10
PC,SHLT

(RS& , S8COUNT
PC,SHLT

(RS)
(RS), 8160
&8

SH4TEMP3

JRTEMPS

o ¥ TEMPY
(RS), 812l
REGYS
R4,RITSH
/7 TST160

RS,Rl

; SEEN AN ERROR, GO TO TH HALT ROUTINE
RONG PS

*
’

;IS THE RESULT IN R2 SAME RS TEMPY?

:SEEN AN ERROR, GO TO TH HALT ROUTINE
: HRONG RESULT IN R2

: 1S THE RESULT IN R3 SAME AS TEMPS?
Eﬁgpésrsnpassuxrrso BY TEMP3=TEMP4 TEMPS
s SEEN nﬁ ERROR, GO TO TH HALT ROUTINE
*WRONG RESULT IN RI

; IS TEST NUMBER=COUNTER?
;SSEN AN ERROR, GO TO TH HALT ROUTINE

.
’

;vggE THE FIRST 1S9 TEST BEEN EXECUTED?

;ROTATE TEMPS LEFT BY 1 PLACE
: INTRODUCE CARRY FROM TEMPS TN TEMPY
:1S IT TEST 1217

; IF SO THEN GO AND INITIATE RIGHT SHIFT

;SAVE RS
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DFKACR
1092

1099

n— o

mrumrumrummru»—-.—-.—o-.-..-v-u—v-o»—ooooc)ogooo

0 ot Pt Pt Pt ot Pt Pt Pt Pt P Pt Pt Pt Pt P Pt Pt Pt Pt |t Pint Pe e et Pt Pt e Pne
Pt Pt P Pt Pt Pt P Bt Pt ot ot ot P Pt P Pt Pt s Pt P Pt Pt o ot Pt Pt Pt Pne Po
o yorrnNLowh—-OuwuoNNoCN CWh—OWwa NN L

P11
004036

404
8R3R4E
0040S0
0Q4CS
00406
00406M
004066
004070
004074
004100
004106
004110

0g411Y4
004116
004122
004126
004130

004134
004136
004142

004144

004150
004152
004156
004160

004164
004166
004170
0Q417¢
004176
004200

Q13704

o
24l
032737
001004
013700
073400
0og40

07346

106737
183737
001403
004767

000052
005237
023704
001403
004767

000053
023705
001403

004767

0000S4
021137
001403
004767

0000SS
010105
005215
021527
002014
005237

08-SEP-76_18:20 PAGE 25
RSHC INSTRUCTION TESTS

000004
000006

000001
000010
173714
000002
000016
012272
000000
000012

012e%2

000014

012236

000000
Ol22ee

000180
000010

—— e —— —— —

018336

000C3e

28:
4S:

MO2

JRTEMPL, 74
JRTENP2 . 24! |

81, J88PASS
23

IHTEMP3, RO
5o,nq

$
TEMP3, %Y
38PSWORD

JRTEMPE, J#PSWORD
+10

PC,SHLT

IRCOUNT
IRTEMPY, %4
[ 3 +10
PC,SHLT

JETEMPS, %S
.+10
PC,SHLT

(R1),J%COUNT
.+10
PC,SHLT

;PLACE THE CONTENTS OF TEMP! IN REGISTER Y
;PLACE THE CONTENTS OF TE!P2 IN REGISTER S

;IS IT_AN EVEN PRSS ?
; IF NOT THEN GO 70 2%
; OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE O

}USING RY
.ASHC REGISTER 4 BY THE CONTENTS OF TEMP3
i 2OMPARE PS WITH THE CONTENTS OF TEMP .
;SEEN AN ERROR, GO TO TH HALT ROUTINE

' IRONG PS

;IS THE RESULT IN RY SAME RS TEMP4?

:SEEN AN ERROR, GO TO TH HALT ROUTINE
*WRONG RESULT iN R4

:1S THE RESULT IN RS SAME AS TEMPS?
:TEMP1 TEMP2 SHIFTED BY TEMP3=TEMPY TEMPS
:AND PS=TEMPS

SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG RESULT IN RS

; IS TEST NUMBER=COUNTER?
:agEN AN ERROR, GO TO TH HALT ROUTINE

:RESTORE RS
;HEgE THE FIRST 159 TEST BEEN EXECUTED”
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Bs Bt Pt Pt Pt §t (s e Bt s Pt et Pt (et Pt Pt Pt Pt ot et = Pt et Pt Pt Pt et ot Pt s et et Pt s Pt Pt Bt Pt P et font P Pt P Pt Pt P Pt P Pt ot Pt Pt P
Pt s Pt s Pt it (et Pt s s Pt ot et (ot Pt e P Pt Pt Bt et Pt P Pt P Pt ot Pt 8 s et Pt ot o Pt b et Pt Pt Pt e P et s et e e Pt Pt P Pt Gt it e
OOMMOMOEOUE I IINNNYINININN O oo oo oo oo NTNININNNIMINUINN L L S L L L L £ £ L WWWIWWIW LI
LWN—OVONNN LEWNL—OODONOUT LW OODNOC N LEWNL—OVONITU L£WNH—O OO~ U LW

Pll

004204
004206
oo42le
004216

004464
004472
004500
0oMS02
004506
i
Pt

054530
004532

000241
006137
006137
021527
001004
004467
004767
000167
g2242y
015737
005037
012737
005037
005237
000204
021527
001010

012737
012737
005037
012737
005037
000207
021527
Q01014
012737
005337
012737
012737
000207
021527
001007
012737
012737
000207
021527
001011
012737
012737
005237
030207
021527

08-SEP-76 18:20 PAGE @b
ASHC INSTRUCTION TESTS

000014
000012
000121

000010
000040
177172

040000
000006
177742
000012
000014
000160
000004
000012
0CoO0H
000161
177746
000182
0gooae
000163
052525
177760
ogoole
052525
000016
000164
125252
00001e
125252
000010
000165

177777
177777

000166
100000
177740
000018

000167

000004
000010

000C16

000010

000010

000004
000010

000014

000004

0c0014
000016

000004
00001

00000
000010

o Joulogl
—

TST1e0:

TST16!:

TSTib2:

TST163:

TST1gM:

TST16S:

TST166:

TST167:

NO2

J#TEMPS
JATEMPY
(RS), %12l
8%

R4, RITSH

%7 TST160

redol

(R4)+, (R4)+
#40000, 38 TEMP1

AMTENPR

s-au ISTEMP3
JATEMPY

sarsnps

(RS), #160
TST181
IRTEMP
JETEMPY
a; ,J8TEMPE

(RS), 8161
17162
u-aa ISTEMP3

(RS) 8162
157163
a;a  JETEMP3

(RS), #1563
TST1éY

52525, I8 TEMP1
$-16. . J8TEMP3
NTEMPY

852525, a4 TEMPS
a; EMPS

(R5), #1864
TST185

#125252, ITEMPL |
STEMPY'

#125252, I TEMPS
alu JWTEMPE

(RS) 8165
TST1b6

-1, IRTEMPL
:-1 ' JUTEMPS

(RS) 8166
157167

:100000 JETEMPL |
8-32. . JUTEMP3
alTEMPE

(RS) 8167

;ROTRTE TEMPS LEFT BY 1 PLACE
: INTRODUCE CRRRY FROM TEMPS IN TEMPY
+ IS IT TEST 1217

; IF SO THEN GO AND INITIATE RIGHT SHIFT

;MAKE R4 POINT TO THE NEXT REG TAG
: TEMP1=4000

: TEMP2=0

s TEMP3=-30

: TEMPY=0

s TEMPS=1

;IS IT TEST 160

IF NOT THEN TRY TEST 1bl
:0 0 SHIFTED BY O

:15 EQUAL T0 0 O

{AND PS=4

;1S IT TEST 161

:0 0 SHIFTED BY -32=0 0, PS=4
;IS IT TEST 162

:IF NOT THEN TRY TEST 163

:0 0 SHIFTED BY 32=0 0, PS=4
S IT TEST 163"

F_NOT THEN TRY TEST 164
ESES 0

:SHIFTED BY -16.

EQUAL TO O 52525
PS=0

T_TEST 164?

OT THEN TRY TEST 165
S2 0 SHIFTED BY -16.

QUAL TO -1 125252
S=10

S

M 2
O

IT_TEST 165?

NOT THEN TRY TEST 166

0 SHIFTED BY -16

EQUAL TO -1 -1, AND PS=10
I

T_TEST 1667
NOT THEN TRY TEST 167

00 0
;SHIFTED BY -32 IS EQUAL TO -1 -!
;AND PS=11

;IS IT TEST 1677
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00002%H
000026

QCCOlY
000016

020170

125e52
125252

000171

C00010
052525
000016

200172

052525
000018

030173
1070
€0o0C10
077777
100002
CCCI7H
100000
000036
£00ag1d
0000Ce
000175
\777277
000006
00C010
003012
000007
00C17e

g113s6

02ac1s

C0G03%
0000ie

QooCie2

0000Cs

00Ca0e

00001e
aC021M

000004

0COoC1s

000004

£00C15

TST17C:

TSTITL:

187172

T8T173:

TSTI7S:

ENTITH:

BNE
CLR
DEC
MOV

BO3

TSTLI70
SSTEMP]
JeTEMP2
816.,Jd8TEMF3
J8TEMPS
paTEHPs

%7
(RS), 8170

157171 A
8125252, I#TEMPE
3125252, JuTEMPH

YA
(RS), 8171
157172

JSTEMP3
852525 J8TEMPY
S#TEMPS

%7
(RS), 8172
15717

852528, JeTEMP2
38TEMPS

%7

(RG), 8173
T5T17y

8-1, JSTEMP2
SsTEMP3

8’7777, J8TEMPY
;;oosob.asrsnps

(RS), 8174
157175

8160000, JsTEMP!
SaTEMP2

J8TEMPS
82, JaTEMPS

%7
(RS), 8175
ENT176
8-1.INTEMP!
asTEMP2
J8TEMPI

I8 TEMPY

87, I8TEMPE

(RS) . 8176
.+10
BC.SHLT

SP1+

+IF NOT THEN TRY TEST |70

10 -1

+SHIFTED BY [6.
135 EQUAL TO -1 O
+AND PS=12

S IT TEST 17)° ,
F NOT THEN TRY TEST 17!
125252 SHIFTED BY 16
S EQUAL TQ 125282 J, ANC PS=l2

17 TEST 1717

NOT_THEN TRY TEST 172
25252 SHIFTED BY 15
EQUAL T0 52525 2

P
T_TEST 172?

0T THEN TRY TEST 173
%25

ED BY 16. IS EGURL TQ Sz82S C, ANC PS=C

I X

T _TEST 1737
T THEN TRY TEST 174

TED 8Y 1S.
QUAL TQ 77777 1000CC. ANC PS=C

T _TEST 174?
OT THEN TRY TEST 175

CO -2 SHIFTED BY 1S,
GURL TO 77777 2
C PS=2

IT_TEST 17S?
NOT THEN TRY TEST (7

X
[
Zoee

MO 221 M My

gt W

:SHIFTED 8Y _l6.

:1S EQUAL TO 0 0

1AND PS=7

;15 THE PROGRM ENTERING TEST 178"

:SEEN AN ERROR, GO T TH MALT ROUTINE
: TEST NUMBER GOOFED

+RESTORE STARCK PJINTER
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DFKACA.P1] ASHC INSTRUCTION TESTS
1238 X212 TI2ITILILLIIILISLILILILILIZIL2 RIS ILLILZ S22 8222222222 222222
1239 TEST: 176 ] SHIFTED BY 8. = 40C PS5 = 0
Ig‘m : ERFUREFRRBFREBRRERERE SR LR R RERRRE R R RN R R PV LR B ERRRER NSRRI 2R RRRIREET S
1241
1242 005034 013701 TST176: SCOPE!
1243 G0893 012701 000000 MOV sOUMMY, 51 :LOAL R1 WITH DUMMY
1244 005042 012701 000001 MOV 0,101 :LOAD R1'1 WITH I
1245 005046 000241 CLC
1245 005050 073127 000C10 ASHC  #8.,%l :SHIFT RI,R1'1 BY 8.
1247 00S08Y 106737 000002 MFPS  2aPSWORD +SAVE PS
1248 0O0S060 122737 000005 000002 CMPE %0, 38PSWORD 115 THE PS 07
1249 005066 101403 BEG .+119
1250 00S070 004767 O01l13l2 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1251 - :THE PS IS NOT'EQUAL TO O
1252 0O0SO74  DOOOS7 57
1383 (005076 022701 000400 CMP 8400, %1 .15 THE RESULT 4007
12849 005102 001403 BEQ .+10 A
125¢ 005104 OC47BT 011278 JSR PC.SHLT +SEEN AN ERROR, G2 TO TH MALT ROUTINE
1256 :R1 IS NOT EQUAL TC 400
1257 005110 000060 60 _
1268 005112 021827 200178 CMP RS). 8176 .15 STESTN = 8178°
1259 00S1i6 001403 BEQ 41 +1F NOT YHEN GO TO HWLT
126¢ 005120 OO47eT Orl2e2 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1261 :TEST 15 IN WRONG SEQUENCE
1262 005124 00O0H! 61 ‘
1263 00Sice 00S21S INC (RS) :
o
IEE;B CREBERREEREFEREREA R R R ER AR R RN EEER LR REZRREERRE AR EERARER R LR RS
1867 TEST: 177 -1 SHIFTED BY 15. = 100000 PS = 1
isgg . *!iiil!lllliili!i!liii{iiiii*iiil'll"l'll!iliii!!il!l{{iiiliiil«l}l{iiii
1270 00S:30 01070 TST177: SCOPEL
1271 008132 012703 000000 MOV $DUMNY, *13 :LOAD R3 WITH DUMMY
1272 005136 012703 177777 MOV s-1,7301 :LOAD R3'! WITH -1
1973 008142 006241 - cLC
1274 00Sid4 073327 000017 ASHC  #15.,%3 :SHIFT R3,R3'! BY 1S.
1275 00SiS0 106737 000002 _ MFPS  IWPSWORD ;SAVE PS
1276 005154 122737 O0000I! 2000CE CMPB 811, 28PSWORD  :IS THE PS 117
1277 0CSi1k2 001402 _ BEQ 41
1278 DOSIe4 004767 011216 ISR PC,SHLT +SEEN AN ERRJR, GG TO TH HALT ROUTINE
1278 'THE PS IS NOT EQUAL TO 11
1280 DOSI7C 000062 b2
128] 0GEi7e 022703 100000 CMP #10000C, %3 + 1S THE RESULT 100000"
1282 D0OE176 001403 BEQ .+10
1383 005208 004767 011202 ISR PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
1084 ;R3 IS NOT EQUAL TO 100000
12BS  00S204 000063 B3 ;
1286 00S206 021827 000177 CHP (RS), 8177 15 STESIN = #177°
297 00S212 001403 . BEG .+10 15 NOT YHEN GO TO MLT
1288 00S214 004767 ‘011166 JSR PC.SHLT :SEEN AN ERROR, GO T3 TH HALT ROUTINE
1269 :TEST IS IN WRONG SEQUENCE
1230 00S220 cogosq By
9} (C0Ze22 00Sels INC (RG)
292
1293
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DFNRCR.PLI ASHC INSTRUCTION TESTS
1294 CRERERRRREERRRRRRBEERRRAEERRERRERERRRREE AR R RN AR PSRRI RRA SRR E 24
1295 «TEST:200 62525 SHIFTED BY 0 = 53525 PS = O
isgg CERREREERRRERERERREREERRERRERERERFERRRERERRRERRRREREREFRRE LR AR RRS£S
1298 005224 010791 TST200: SCOPE!I
1299 005226 010501 MOV RS,R] :SAVE RS
1300 008230 012705 000000 MOV sD{MMY , 5 :LOAD RS WITH DUMMY
1301 005234 012705 052528 MOV 852525, 45! | :LORD RS'] WITH 52525
1302 005240 003241 CLC )
1353 00822 Or3%2¢ 000000 ASHC  #0,%S :SHIFT RS,RS'1 BY O
1304 00S246 106737 000002 MFPS  JsPSWORD :SAVE P3
1305 008252 122737 000000 CCO002 CMPS a0, J8PSWORD 1S THE PS 07
1306 0058350 0O0I403 SEQ .+10 )
1367 00S282 004767 011120 ISR PC, SHLT -SEEN AN ERROR, GO TC TH HALT ROUTINE
1308 +THE PS 1S NOT EQUAL TO O
1309 (£0S266 000065 65
1310 0082°C 022705 (052525 CMP 852525, %S 1S THE RESULT 525257
2311 008374 001403 8EQ .+10
1212 005276 0O0N7&7 D1110M ISR PC.SHLT -SEEN AN ERROR, GO TO TH WALT ROUTINE
1313 RS IS NOT EQUAL TO S2525
1318 005302 000086 66
1315 00S30% 0IC10S MOV R1,RS :RESTORE RS
13.6 00S306 021527 000200 CMP tRS) . 8200 - 1S $TESTN = 8200
1317 D0S312 OCINC3 BEQ .+10 +1F NOT YHEN GO TO WLT
1318 005314 004767 Q11085 JSR PC, SHLT :GEEN AN ERROR, GO TO TH HALT ROUTINE
1319 :TEST 1S IN WRONG SEQUENCE
132C 005229 (00OQe7? 67
132, (08322 0oszic INC (RS)
1332
1223
: 3?'4 CREREERRREERARREERRRERFRAEFERERAERARERARERRAREEARRRRRRRERAREFERREREES
1373 : TEST: 201 20010 SHIFTEC BY -13. = 101 PS =0
,égg ;*!l!!*il*!{lliililliiii'll'}i'lil!Nli!*l»luliii*i!iliiiiilli!iliiililiiiii
132
1228 00S324 010701 TST201: SCOPE!L
1326 00S326 012701 002COC MOV sDUMNY, %1 :LORD Rl WITH DUMMY
1330 008232 012701 026019 MOV 82001C, %111 :LORC RI'! WITH 20010
1331 00533 000241 cLe
1332 008340 073127 177763 ASHC  #-13..%l +SHIFT R1.R1?1 BY -13.
1333 008344 106737 00CO02 MFPS  J8PSWORD :SAVE PS
1334 00S3sC 122737 000000 0000C2 CMPEB 80, 38PSWORD :15 THE PS 07
1335 0Q0E386 051403 BEQ .+10
1336 00S360 004767 011022 JSR PC,SHLT ;SEEN AN ERRCR, 30 TO_TH HALT ROUTINE
1337 :THE PS IS NOT EQUAL TO 0
1238 00S3e4 000070 70
1239 00S3t6 022701 00CI0L CMP 810},%] : 1S THE RESULT 101°?
1.4 005372 001403 BEQ . +10
141 005374 DO4767 C11006 ISR PC,SHLT :SEEN AN ERROR, GO TC TH HALT RUUTINE
1;45 sR1 IS NOT EQUAL T2 101
343 005400 00007; 71
1344 00S402 021527 000201 * CMP \RS), 8201 .15 STESTN = #201"
1745 Q0S40 003140 8EQ 210 + IF_NOT fusn GO TQ HLT
124 DOS410 004767 010772 ISR PC,SHLT "SEEN AN ERROR, GO T TH HALT ROUTIMNE
*347 ;TEST IS IN WRONG SEQUENCE
148 0OS4ld 000072 72
2349 CO0Z4ie O0cEIE INC (RS
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0os432

434

45C
00544

Q05452
CosS4s4
COS4e0
0CS462

0OS466
005470

DOS47Y
005476
BOSS0E
005504

0OSE.
Cosslie

005514
005516
005520
005524
005530
005532
005536
005542
005550
005552

005556
005560
00S3Sed
005586

p0ss72
00S574
005576
005602
00Se04

00Se10
00skle

010701

01403
004787

000073
0227C3
001403
004767

003074
021587
001403
004767

00007S
£as2a1s

010701

000076
022705
001403
004767

000077
010105
021527
001403
004767

000100
gceals

08-SEP-T6

0000C0
177777

800 20
00Q0e
0000i1!

010726

000000
019712

000202
013678

£00000
000001

177777
000002
000001

010630
10CC00
010614

000203
010576

000002

000022

18:20 PAGE 31

FO3

R 321322222 2221222222 2212222222222 22222222222 2222222222222223 2

; TEST: 202

~1 SHIFTED BY 16. = 0 PS = 1!

JREREAXXRERFREREFRERISRRERRRERRRRERERRRFEERERRIRRERERFFRRESEARRRESS 1S

TST202: SCOPEL

JSR

75
INC

SDUMMY, 3 :LORD R3 WITH DUMMY

s-1,%311 :LOAC R3!'1 WITH -1

816.,%3 :SHIFT R3,R3!'1 BY l16.

J8PSUORD :SAVE PS

uiibacpsuono +1S THE PS 117

PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 1l

'9133 1S THE RES'LT 0?

PC,SHLT -SEEN AN ERROR, G0 TO TH HALT RCUTINE
'R3 IS NOT EQUAL T0 O

(RS}, #8202 .15 STESTN = 8202”

.+10 IF NOT YHEN GO TO HLT

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
+TEST IS IN WRONG SEQUENCE

(RS}

S MM REIEI NI I3 30363000 30000 30 30 0003 36 000026 3 36 30 36 30 38 36 30 00 3 3R 36 9 3 3 2 3 3

TEST: 203

1 SHIFTED BY -1 = 100000 PS =1

s RRRERRFRRRRFRRERERRERPRERERERRFEREERREEENE R R R EEEEREEEEEEEREEEEE SRR

TST203: SCOPEL
MOV

MOV
MOV
CLC
RSHC
MFPS
CMP8B
BEQ
JSR

76

RS, R1 :SAVE RS

sDUMMY, 45 :LOAD RS WITH DUMMY

1,75 sLORD RS'1 WITH |

$-1.%5 +SHIFT RS,RS!1 BY -1

J8PSWCRD :SAVE PS

.1lgcpsuono :1S THE PS 1?

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS 1S NOT'EQUAL TO 1

oiegoao,zs 15 THE RESULT 100000?

PC.SHLT :SEEN AN ERROR, GO TQ TH HALT ROUTINE
RS IS NOT EQUAL TO 1000CO

R1.RS :RESTORE RS

(RS 8203 .15 $TESTN = 8203

.+10 :IF NOT tHEN GO TO MLT

PC,SHL” :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST 1S IN WRONG SEQUENCE

(RS)
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1410
1811
1412
1413
1414
1415
1416
N7
1418
1419
1420
1421
1432
1483
1424
1435
1426
1437
1428
1429
1430
1431
1432
1433
1434
1435
1436
1437
1438
1439
1440
14941
1442
1443
14y
1445
1445

1449
1+30

1485

1458
1459
1460
14¢1
1462
1483
1464
1465

0OSE 14
003616
005622
005626
005630
005634
005640
005646
005650

Q0SeSH
005656
00Skbe
005664

005670
005672
005676
005730

005704
005706

005710

27.732)

RASHC INSTRUCTION TESTS

004787

000101
022701
001403
004787

000102
Q21527
031403
004787

000103
00S215

010701

001403
QC4767

08-SEP-76_ 18:20 PAGE 33

000000
125252

77760
000002
000011

010832

125252
01081k

000204
010502

125252
125282

000025
000002
000003

010436

0S2sco
C10422

0coco0
010406

000208
010372

000002

Q0c0ee

HO3

o JEIEI 00030 0 300 30 30 36 36 30 3 96 36 30 36 90 36 38 00 36 36 30 3 36 30 90 38 36 36 9 36 30 06 396 36 9 38 36 06 38 96 30 36 36 9 36 36 3 36 96 36 3 36 6 30 36 36 3 3 3 3 3 %

; TEST: 204

125252 SHIFTED BY -1b6. = 1252%2 PS = 1l

CRERERERBREERERREEEREE TR LR ERET IR IEE R EEETRREE R E RN RN S S SR TREEER

TST204: SCOPE!
MOV

JSR

102
cMP
BEQ
JSR

103
INC

sDUMMY, %1 :LOAD R1 WITH DUMMY

#125252,%1'1  :LOAD R1'l WITH 125252

$-16., %1 :SHIFT R1,R1'l BY -16.

33PSWORD :SAVE PS

oiibaupsuono 1S THE PS 117

PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
THE PS IS NOT'EQUAL TO 1l

.ifgasa,zx : IS THE RESULT 1252527

PC,SHLT +SEEN AN ERROR, GO TO TH HALT RCUTINE
‘RI IS NOT EQUAL TO 125252

{RS), 8204 .15 STESTN = #204°

L+10 :1F NOT THEN GO TO HLT

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)

s a ettt gt tel ittt el esdesstsdl sttt iiss sttty

s TEST: 205

125252 125252 SHIFTED BY 21. = 52500 000000 PS = 3

SRERERERERERERRRERREREPRERERERRRFRERERERERERREERRRRERREERREREREREE AR

TST20S: SCOPE!
MOV

MOV
cLC
RSHC
MFPS
CHPB
BEQ
JSR

104
cMpP
BEQ
JSR

105
CMP
BEQ
JSR

106
CMP
BEQ
JSR

8125252, %2 :LOAD R2 WITH 125252 -

8125252,%2'1  iLOAD R2'1 WITH 125252

821.,%2 :SHIFT R2,R2'1 BY 21.

38PSHORD :SAVE PS

cglgnpsuono +1S THE PS 37

PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 3

c§§goo,ze 15 THE RESULT 52500°

PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE

‘Rz IS NOT EQUAL TO 52500
cgggooo.xasx ;1S THE RESULT 000000°

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
iR271 1S NOT EQUAL TO 009038

(R5), 8205 ' .15 $TESTN = 205"

.+10 :1F NOT YHEN GO TO HWLT

PC,SHLT SEEN AN ERROR, GO T3 TH HALT ROUTINE
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1467 COEQLY
1468 006016

Lib—l!—l—&-‘ — —_—

2732}

RSHC INSTRUCTION TESTS

coC10?
00s218

08-SEP-76__18:20 PAGE 34

177771
000024
00002b

MOV
MOV
MOV

103

{RS)

8-7,%2
#S1,%3
#S2, "M

; TEST IS IN WRONG SEGQUENCE
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1476

006066
006070

006074
006076
006102
006104

006110
o0slle
006116
006120
00b120

006la4
006126
006132
006134

006136
006140
006144
006150
00elS2
005156
0oslee
006170
006172

0086176
006200
006204
006206

00e212
00e214
00e220
C0beee
0Cez22

Dot Pt Pst Bt Pt Pt 5 Pt Pt s 4 et
(AU U a Vg ValVallolialValialisally
L) 0o b Pt s Pt P Pt ot Pt e
OVONONLWU—0O

n
[y

et st Pt bt Pt e
(VoI afUaIVal¥alVyl
o
NN LS wn

1528
1529
130
1831

7{732)

08-SEP-76_ 18:20 PRGE 35

RSHC INSTRUCTION TESTS

010701
012700
012701
000241

01403
004767

000410
022700
001403
004767

00011l
022701
001403

004787

000112
021527
001372
005215

0107C1
012700
0ie701
000241
073077
106737
122737
001403
004767

000113
022700
001403
004767

000114
022701
001403

004767

JO3

§ 3 JE3EE 3030 2 3636 36 38 36 36 36 38 36 36 9 36 36 30 96 30 38 36 36 38 36 36 38 30 36 38 36 36 30 38 30 36 3 36 38 3¢ 36 38 36 30 36 30 30 30 30 34 36 96 36 36 36 36 36 3 3¢ 36 % 3 3% % %

; TEST: 206

12525e 125252 SHIFTED BY Sl = 177S2S 52525 PS = 10

CRNEHANEH AT T3 0030363 0369600 300 96 3 0630 30 06 30 38 36 3038 96 36 3 3t 36 3 3 36 3 36 30 9 56 36 9 3 36 % 3 %

8125252, %0 .LOAD RO WITH 125252

$125252'%011  ;LOAD ROVI WITH 125252

S, %0 -SHIFT RO,RO'L BY SI

38PSWORD :SAVE PS

uigbaupsuono :1S THE PS 107

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 10

'175525'20 - 1S THE RESULT 1775257

PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
‘RO IS NOT EQUAL TO 177525

8§§825.ZO!1 ; IS THE RESULT 525257

PC,SHLT :SEEN AN ERROR, G0 TO TH HALT ROUTINE
:RO’1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

(RS), 8206 .15 THE STESTN = 32087

%35) - IF NOT tHEN GO TO HLT RBOVE

PRRRERRRRRXEREREEEBEERFERRERRERERRREFRRRRELRRRRRARRRRERRERHRERREEERER

125252 125252 SHIFTED BY dSe = 177525 S@S25 PS = 10

SERERREREREERRERRRREREEXARRERARERERRERFREREEEEEERERRERREEEEERRELEREER

TST206: SCOPE!L
125252 MOV
125252 MOV
CLC
171750 RSHC
000002 MFPS
0009010 000002 gEEB
010312 JSR
110
177525 CHP
BEQ
010276 JSR
11!
052525 ChHP
BEQ
13:
010282 JSR
112
£00206 CMP
BNE
INC
s TEST:207
TS¥207: SCOPEL
125252 MOV
125252 MOV
CLC
171650 ASHC
000002 _ MFPS
000010 0C000ez CMPS
BEGQ
010210 JSR
113
177528 CMP -
BEQ
010174 - JSR
114
052525 CMP
BEQ
18:
010160 JSR

8125252, %0 .LOAD RO WITH 125252

125252, %0! 1 :LORD ROVI WITH 125252

352, %0 :SHIFT RO,RG!1 BY 352

23PSLWORD :SAVE PS

:i?baapsuono :15 THE PS 107

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

; THE PS IS NOT EQUARL TO i0

Ii?ESES.ZU ; IS THE RESULT 177525?

41

PC,SHLT :SEEN AN §nnon GO TO TH HALT ROUTINE
RO 1S NOT EQUAL TO 177525

cgfgas,z0!1 1S THE RESULT 52525°

PC,SHLT

gN ?N ERROR GO TO TH HALT RQUTINE

;SE
:RO!L 1S

0T EQUAL TO 52525 OR INCORRECT SEQUENCE
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1832 006226 000115 115
1533 006230 021527 000207 CMP (RS}, %207 115 THE STESTN = %2077
1534 88&534 Oég?g ?NE 1% s IF NOT tHEN GC TO HLT ABCVE
isgg 236 0C521 NC (RS)

1537
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1538

1542 00B240
1543 006242
1594 006246
1545 0QB252
1546 0C62SH
1547 006260
1548 0062EY
1543 006272
1550 006274

1552 006300
1883 006302
1554 006306
1855 006310

1857 006314

1563 006330
1SE4 006332
1S6S 008336
1566 006340

1573 006342
1574 006344
1875 006350
1576 006354
1577 0G6356
1578 005360
1579 (006364
1580 006372
1581 006374

1583 006400
1584 (Q0Oe402
1585 006406
1586 006410

1588 0OB41Y
1589 0DE416
1590 QOEH22
15891 Q0EH2Y
1532 OCk424

27 (?32)

RSHC INSTRUCTION TESTS

004767

000116
022700
001403
004767

000117
022701
001403

004787

000120
021527
001372
005215

010701
012700
012701
000241
073013
106737
122737
001403
004787

03012l
022700
001403
004767

000122
022701
001403

004767

08-SEP-76 18:20 PAGE 37

125252
125252

000024
000002
000810
010106

177525
010072

052525

010056

000210

1252se
125252

00000e
0ooc10
010006

177525
007772

02525

0C77%6

0oo0g2

0000g2

LO3

B33 36309006 36 36 30 36 06 36 3 36 3036 30 36 38 36 36 3696 30 30 6 36 36 3 36 36 36 36 36 96 36 36 6 30 36 36 38 30 36 36 36 36 36 3 36 36 36 3 30 30 30 30 3 36 3¢ 3% 3 3¢ %

1 TEST: 210
A T T e T T e i et e s el

TST210: SCOPE]
MOV

1§ H

gLC
RSHC

125252 125252 SHIFTED BY auSl = 177525 52505 PS = 10

8125252, %0 jLORD RO WITH_125252
#196252,%0!1  ;LOAD ROVI WITH 125252
38S1, %0 :SHIFT RO,RO!1 BY 2aS!
JPSWORD :SAVE PS
uigbanpsuonn :1S THETPS 10°
PC,SHLT -SEEN AN ERROR, GO TG TH HALT ROUTINE
sTHE PS IS NOT'EQUAL TO 10
siigsas,zu . 1S THE RESULT 1775257
PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
:RO IS NOT EQUAL TO 177525
c§§825,20!1 :1S THE RESULT 525257
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
'RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(RS), #8210 1S THE STESTN = #2107
%gs) :IF NOT YHEN GO TO HLT ARBOVE

CEREEERRRERREEEREEENEEREEEREREHENEEE LN NN NI E RN RN R LR EEEEEEEEEEEER

; TEST:2ll
;!l!*il!!i*ii!ii!lii!iiiill*i*i!iii!ii!liliili!l*lllii*il*iil*lili*li

TS7T2ll: SCOPE!
MOV

18:

MoV
CLC
ASHC
MFPS
cMPB
BEQ
JSR

121
CHP
BEQ
JSR

122
cMP
BEQ

JSR

125252 125252 SHIFTED BY (3) = 177525 52525 PS = 10

8125252, %0 {LOAD RO WITH_125252

8125252,%0'1  ;LOAD RO}I WITH 125252

(3),%0 :SHIFT RO,RO'1 BY (3)

J8P5UORD :SAVE PS

ci?banpsuoan :1S THE PS 107

PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS 1S NOT EQUAL T0 10

oi§7sas,x0 : 1S THE RESULT 177525”

PC,SHLT SEEN AN ERROR, GO TC TH HALT ROUTINE

:RO IS NOT EQUAL TO 177525
cﬁges,zou :1S THE RESULT 52525?

PC,SHLT :SEEN AN ERRCR, GO TQ TH HALT RQUTINE

sRO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEGQUENCE
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1594 006430 000123 123
1535 Q0E432 021527 00021l P (RS), 211 .15 THE STESTN = 8211
123k OQpA3R DQI3TE N 1S :IF NOT YHEN GC TO HLT ABCVE
159 OGN0 £352 N (RS

l
1593
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1600
1601

1604 00&uv2
1605 CObY4Y4

1608 00B436
1603 DOB4EC
1610 0OEHEN
1611 008472
1612 BOB47H
1613

1614 008500
1615 0OBS02
1616 D0BS06
1617 008510
1618

1619 008514
1620 008516
1621 006522

1623 006524

1625 006530
1626 006532
1627 006536
1628 006540

1635 006542
1636 006544
1637 006550

1643 006574

1645 006600
1646 008602
1647 006606
1648 006610

1650 006614
1651 00&Bl16
1652 (00b&e2
1653 0Oee24
1654 00bee4

2?(732)

RSHC INSTRUCTION TESTS

010701
012700

01403
004767

000124
022700
001403
004767

000les
022701
001403

004767

000126
021527
001372
00S21s

010701
012700
012701
000241
073043
106737
122737
001403
004767

000127
022700
001403
004767

000130
022701
001403

004767

08-SEP-76__18:20 PAGE 39

125252
15252

000002
000010
007706

177525
007672

052525

007656

codzle

125252
125252

0C.d02
00celg
007606

177525
007572

052525

007586

000002

00c002

NO3.

¢RI I I3 0636 33 36 36 2630 30 36 06 3036 30 3 9036 36 30 0 36 3 36 36 36 30 90 36 36 36 30 36 30 30 36 36 36 30 36 36 36 0 36 3 26 30 3 36 3 36 3 3 % %

:TEST:212
3 BRI 0033 36 96 36 36 J6 36 36 6 36 36 36 36 36 3038 3 36 9696 36 3636 36 36 36 3 36 36 36 36 36 36 30 36 36 36 36 36 36 36 36 36 36 30 36 36 36 9 3 36 36 4 9 36 36 3 % 3 3 %

TST212: SCOPE!
MOV

1%:

MOV
CLC
ASHC
MFPS
CMPB
BEQ
JSR

1e4
CMP
BEQ
JSR

125

125252 125252 SHIFTED BY (3)+ = 177525 52525 PS = 10

125252, %0 ;LOAD RO WITH_1252c2

#125252,%0!1  ;LORD ROVI WITH 125252

(3)+,%0 +SHIFT RO,RO'1 BY (3)+

J¥PSWORD :SAVE PS

si?baupsuono 1S THE PS 107

PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT'EQUAL TO 10

uiigses,zo + 1S THE RESULT 177525?

PC,SHLT :CEEN AN ERROR, GO TO TH HALT ROUTINE

R0 IS NOT EQUAL TO 177525
85?825,%0!1 :1S THE RESULT 525257

PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
*RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

(RS), 8212 -1S THE STESTN = #2127

%35) +1F NOT YHEN G0 TO HLT ABOVE

SEMEERREREREHI IR IIH RN KKK 3 3036330 30363038 3 3636 30 30 36 30 36 30 36 30 30 36 36 36 36 36 38 3 3

; TEST:213
;*****************i*************!************************************

TS7213: SCOPEL
MOV

1%;

MOV
CLC
ASHC
MFPS
chPB
BEQ
JSR

127
CHP
BEQ
JSR

130
CHP
BEQ

JSR

125252 125252 SHIFTED BY -(3) = 177525 52525 PS = 10

#125252, %0 .LOAD RO WITH 125252

#125252,%0'1  ;LOAD ROl WITH 125252

-(3),%0 :SHIFT RO,RO!1 BY -(3)

24PSHORD : SAVE PS

sigﬁaapsuoao :1S THE PS 107

PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 10

'1§ESES'ZU -1S THE RESUL. 177525?

PC, SHLT GEEN AN ERROR, GO TO TH HALT ROUTINE

RO IS NOT EQUAL TO 177525
u§§ges,zos1 :1S THE RESULT 525257

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

:RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
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16862
16863
1664
1665

RR2ZLRE

L o R o I Y o O o Y el ]
SN NI NI NN NININISNINININN
Pobcbeped P-sdab (I
NN LW OOt~

00BEYR
0OGS4Y
006650
006654
33
733
B06EEE
006674
026676

836702
006704
006710
006712

006716

007004
2070J&
cg7Cle
037014

£07020
£g7022
007026
827033
057C20

004767

000132
022700
001403
004767

000133
022701
001403

QCN7E7
000134

01c7C1
012700
012701
0CC241
73074
106737
122737
001403
004767

000135
022720
001403
0047¢7

0C013%
022701
0C1403

004767

0§-SEP-7
RSHC INSTRUCTION TESTS

125282
125252

3300
000011
borsoy

177252
007470

125252
CO74sY

cooeld

125gs2
125282

2000¢C
000002
0Cocic

007402
177€2¢

007266
GSese5

0C73%e

Qco0ge

02002

co4

6_18:20 PARGE 4!

(RERRRRERERRRARERREER R R R RRRRRRRRRRERERRRRRRARDREPRARERRARRRBRERS 204

; TEST: 214 125252 125252 SHIFTEC BY 2(4) = 177252 128252 PS = il
T I R T T T T I T A e T T YA 2R P AR A T R A AV R Y Y T T 2

TST214: SCOPE!
MOV

0 8125252, %0 :LOAD RO WITH 125252
0y elesese Ol SLORD ROVI WITH 1252€2
EEre T .SHIFT RO,RO!L BY 20(%)
MPPE  SwPSLoRD 1 2AVE PS
ggga ’iiba'PS“ORD :15 THE PS 117
TSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
122 THE PS 15 NOT'EQUAL T0 1i
SES .izgasa.xo :1S THE RESULT 177252”
JSR PC,EHLT +SEEN AN ERROR, GO TO TH HALT RCUTINE
23 :RG IS NOT EQUAL TC 177252
CHP $125252,%0'1  :IS THE RESULT 125252"
" 8EQ .+10

| ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
134 :RGY] IS NOT EQUAL TO 125252 OR INCORRECT SEQUENCE
CHP (RS), 8214 1S THE STESTN = 82147
?gg %gS) :1F NOT YHEN GO TC MLT ABOVE

CRPRREERERERREEREREREF R AR R R R R AR R RERERR AR R AR AR RR R R AR AR EREEERD

: TEST:215 125252 125252 SHIFTED BY J(4) = 177525 52525 PS = IO
(RERRFRERRRRERRRRRRRRRRRLARERARRERERRRRRRRERRRRERRERARRR R PR R R AR DRAE

TST215: SCOPEI
MOV si1252s2, %0 iLOﬂD RC WITH 125252
MoV 8125252,%0!1 :LOAD ROI1 WITH 125252

ASHC  3(4),%0 +SHIFT RO,RO!L BY 3(4)
MFPS  J#PSWORD :SAVE PS
gnpa nigoaspsuonn :15 THE PS 107

JSR PCSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS 15 NOT'EQUAL TO 12

|

égﬁ 8177635, .0 1S THE RESULT 1776257
8EQ .+10
ISR PC,SHLT +SEEN AN ERROR, 32 T TH MALT ROUTINE
2% :RG IS NOT EQUAL TO 17ms25
CHP 52525, 0! +1S THE RESULT 52525°

s BEQ .+10

' JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

tRO'] 1S NOT EQUAL TO 52525 OR INCORRECT SEQ.ENCE
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118 00T QQ013T 147
g 832 02153" 000215 CHP (RS), 825 :1S THE $TESTN = #21S°
23 oo'oua 001372 BNE 18 :1F NOT YHEN GC TO HLT ABEVE
00r044 008218 INC RS)
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RSHC INSTRUCTION TESTS

010701
012700 125252
012701 125252

106737 000002
122737 000010 0000C2

3
0047867 007302

0
822700 177825
001403
004767 007266

000141
022701 052525
001403

0C47e7 007252

000142
021527 00216
301372
005215

018701

012700 125252

012701 125252

000241

073054

106737 000G0e

122737 0CCOIC (0CC00e
001403

004767 007202

000143
022700 177525
001403
004767 007166

000144
022701 (0S2525
001403

004767 0C7152

EO4

08-SEP-76_ 18:20 PRGE 43

SHEERRRERAERERERRRBERERERRRER R ERRR SRR RER AR R PRSP LR RN BRERRR R RN %%

; TEST: 216 125252 125252 SHIFTED BY d(4)+ = 177525 52525 PS = IO
TRRRERERERRERAE AP ERRERRRRRR R RS RN RS RRRRRRERFRRRERRRRRRRERRRR AR AR AR SRS S

TST216: SCOPE!
MOV

125252, 40 .LOAD RO WITH 125252
ggg #125252.40'1  ;LOAD RO!I WITH 125252
ASHC  d(¥+.%0 :SHIFT RO,RO!1 BY 3(4)+
MFPS  JaPSWORD :SAVE PS
gggs nigﬁaapsuoao 15 THE PS 107
ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
" :THE PS 1S NOT EQUAL TO 10
SEE uizgsas.xo .15 THE RESULT 177525°
JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT RCUTINE
s ,A0 IS NOT EQUAL TO 177525
CHP 852525, %0' | . 1S THE RESULT 52525°

8 BEG .+10

| ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

42 :RGY1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
CMP (RS), 8216 1S THE STESTN = 8216”
?gg %35) +IF NOT YHEN GO TO HLT RBOVE

(REREREERARERRRER R RAARRRRERDF AR R RRR AR AR RRR AR RRARARRRERRRRLARERRAERD

; TEST:217 125252 125252 SHIFTED BY d-(4) = [77525 62525 PS = [0
SERERERRAFRRHRPRARA RS A ESRFFRAR SRR RRE RSB HFRRFRRRRRRRRRERE RS HHR IR E R RS

TS7217: SCOPE!
MOV

8125252, %0 .LOAD RO WITH 125252
gfg 8135283 ::011  ;LORD ROVI WITh 125252
RSHC  @-(4),%0 SHIFT RO,RG'1 BY 3-(4)
MFPS  JsPSWORD -SAVE PS
gggs cigaacpsuono 15 THE PS 107
JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
143 ' THE PS IS NOT EQLAL TO 10
ggs cizgses,zo :1S THE RESULT 1775257
ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
144 +RC IS NOT EQUAL TO Irr525
CHP 852525, %0! | :1S THE RESULT 52525”
s BEQ +10
) ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

:RO'1 IS NOT EQURL TO 52525 QR INCORRECY SEJUENCE

3\

\




e e e s e

FOH

DFRRCR MACY!L 271732) (08-SEP-76  18:20 PAGE 44
DFKACK.PLL RSHC INSTRUCTION TESTS

1780 007234 Q0014S 145

1781 007236 021527 000217 CMP (RS), 8217
Q0-g4e Q01 ?S NE 13

007244 0052l NC (RS)

W0

R EBBIRREE0

P Putt et Pt Pt Pt Pt Pt Pt Pt Pt
A I I el st Ik ol it gt )

-1S THE $TESTN = #2177
:IF NOT YHEN GG TO HLT ABCVE




OFARCR MACYIL 27(732)
DFKRCR.PL!

007246
007230
GO a5
837360
007364
§ QC7g7e
3 oorery

007300
007302
007306
007310

022700

gC1372
005215

08-SEP-7¢ 18:20 PAGE 45

MUL INSTRUCTION TESTS

GO4

SEHRERERERBREREREREAEREREREEEEERD

; MUL INSTRUCTION TESTS
R I T RS I ITT R AN AR a2 T

R332 s a2 2222 IS IS S22 2222222222222 2222233223283 222 82

(TEST: 220

TST2e0: SCOPE
MOV

000001
000080 MUL
000002 MFPS
000004 0000302 gESB
007106 JSR
146
000000 CMP
BEGQ
007072 JSR
147
020003 CMP
BEQ
1S:
007055 JSR
150
000220 CMP
BNE
INC

MUL 1*80=00 PS = 4
CRERREBERRRRAERERREREREEEFRRERERRREFERRREERREEERRRERARRRRRRRRR PR ERSE

81,70 sLOAD MULTIPLICAND WITH 1

80’ %0 'MULTIPLY | * #0

28PSWORD :SAVE PS

ij‘glPSJORD 1S PS = 4

PC SHLT :SEEN AN ERROR, GO T TH HALT ROUTINE
:PS IS WRONG

19 EU :1S HIGH ORDER = O

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:HIGH ORDER IS’ WRONG

8C, %01 :1S LOW ORDER = O

.+10

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQLENZE

(RS), 8220

;gs) :IF IN WRONG SEQUENCE GC 7O THE HLT A22VE

{




DFARCR MRCYLL
OFKRIR.PLI

1823

1833
1834
1835
1836
1837
1838
1839
1880
1841
1842
1843
18¥
1845
1846
1847
1848
1849

07242
Q3w
0-350

007354

007360

007 36E

007370

007374
007376
0C740¢2
007404

007410
007412
007416
007420
00742G

007424
007426
007432
007434

2. r32)

MUL INSTRLC

010791
012700
0700er
106737
122737
801403
00N767

000151
022700
001403
004767

000152
022704
001403

004767

000153
02.527
001372
008215

g
R

170077
000C01
000002
00GC10

007012

1?7777

006778

coeve2

00Czz!

0csocee

:20 PRGE 46

HOY

R 3I2I 222212 232 2222323223233 2 223232222228 22 232238222822

:TEST: 221
SHRRERRERRERREERPRERBHEERERIRH RIS R R RIS RRERLERR RIS 4R

TST22!:

18:

SCOPE
MOV

MUL
MFFS
CMPB
BEQ
JSR

151
CHP
gEQ
JSR

152
cHP
BEQ
JSR
183
JMP
BNE
INC

MUL

-l %8l =-] -] PS = 10

:LORD MULTIPLICAND WITH -1
sMULTIPLY -1 * 8l

$10, J4PSHORD ‘15 PS = 10

PC.SHLT
8-1.7%0
41
PC.SHLT
s-1.01
+10
PC,SHLT

(RS>, 822!
i3
tRS)

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

;1S HIGH ORDER = -I

; SEEN AN ERROR, GO TO TH HALT ROUTINE
;MIGH ORDER IS WRCNG

;IS LOW ORDER = -1

:SEEN AN ERROR, GC TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRING SEGQUENCE

; IF IN WRONG SEQUENCE GO TC THE HLT RSCVE




OFRACA MACYL! 27(732)
DFKRCR.PLI

1858
1859
1860
1861
1862
1863
1864
1865
1885
1857
1868

007436
007440
007444
007450

007470
007472
007476
007500

007504
007506
0g7s1e
007514
007S14

08-SEP-TH

MUL INSTRUCTION TESTS

010701

70154
23702
001403
004767

000155
022703
001403
004767

Qe0o1S6

000002
000002
000002
000000

006716

000000
006702

Q0000

8015111

00C2e2

000002

18:20 PAGE 47

104

R 33322 2212222 222 2 2222222222 2222222232222 23 2223222222221 3]

: TEST: 222
PEREERRERREF AR RERRFRR AR R AR R R R R R SRR R AR AR I R4S

7ST222: SCOPE
MOV

18:

MUL
MFPS
CMPB
BEQ
ISR

154
CHP
BEQ
JSR
155

BEQ

MUL

c* =04 PS =0

82, /a Lono HUL-IPLICQND WITH 2

82 %2 'MULTIPLY 2 * 2

J8PSLORD :SAVE PS

culgupsuono :1S Ps = 0

PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

'9133 +1S HIGH ORDER = 0

PC,SHLT sSEEN AN ERROR, GO TO TH MALT ROUTINE
:HIGH ORDER 1S’ WRONG

snlza | :1S LOW ORDER =

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS LRONG OR WRONG SEQUENCE

(RS), s222

%353 -IF IN WRONG SEQUENCE GO TC THE HLT ASOVE




DFKACA MACYL! 27(732)
DFKACA.PLI

1887

1909

P bt Bt e Pt et Pt P
DO DD OO 0D
Pt bt et Pt ft Pt s P
N Lwhr-—-0O

007€32
007534

VR

007546
007552
007560
007562

007566
007570
007574
007576

007602
007604
007610
00761c
007612

007616
007620
007624
007626
007830

010701
010501

335587
106737
122737
001403
304767

QuuisS?

004787

000160
022705
001403

004767

000161
Q21127
001372
01010¢
00S215

08-SEP-76  18:20 PRGE 48
MUL INSTRUCTION TESTS

SIS

00000
000001
006620

000001
006604

0co000
006570

000223

000002

JOo4

ERERERRNARRRRERERRRRRRER RN RRRERRARERR R AR RR AP RAPERRRIRREAS SR AR RR RS
; TEST: 223
’ »

TST223: SCOPE
MOV

18:

MOV
MUL
MFPS
CMPB
BEQ
JSR

157
cHP

BEQ
JSR

160

MUL 1000 * 8200 = 1 O PS = |
: SRR IR NN NRNEEREREEREEREEERLEEREEERLE LR

N Ré Y ‘SSXE RSLT PLICAND WITH 1000

' A :

11000, i 08R, DU T{PLTCAND U]

J8PSLORD :SAVE PS

ailgapsuono :IsPs =1

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

'iléq - 1S HIGH ORDER = |

PC,SHLT :SEEN AN ERROR, GC YO TH HALT ROUTINE
*HIGH ORDER IS WRONG

80, 74! 15 LOW ORDER = 0

.+lo

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER 1S WRONG OR WRONG SEQUENCE

(R1), 8223 -CHECK THE TEST NUMBER

18 :IF IN WRONG SEQUENCE GO TG THE HLT RBOVE

?ég?s :RESTORE RS




DFKRCRA

DFKRCA.

MRCYLL 27(732)
MUL INSTRUCTION TESTS

Pl

007e32

0076564
037666
00767¢
007674

007700
007702
007706
007710
00771G

097714
007716
007722
007724

010;01
16027
106;3;
$81432

004787

000162
022700
001403
004767

000163
022701
001403

0047867

0CO1EM
021527
001372
005215

08-SEP-75

377997

000002
000001
00eSe2

000000
006506

177776
006472

000224

000002

18:20 PAGE 49

KO4

**i!**i*****i*i*!il!*ll*!!**li*i!**i***liil!!*li*!********il*lli(**i

TEST ceM MUL
l*ll*iilli*!i!l!iiillilliiilll!ll*l!l!l*l*llll!li!*ll*!*{*{iiliii!li

TST2e4: SCOPE
MOV

18:

MUL
MFPS
(P
EQ
JSR
162
CHP

BEQ
JSR

163
BEQ

2 * 8727777 = 0 177776

u; LOR? MULrspLxcnng WITH 2
%727 %0 IPLY 2 & 877777
aupsuoho : SAVE PS
+1Snpsuono ;1S PS =
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG
cgléo +1S HIGH ORDER = O
PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE

:HIGH ORDER IS’ WRONG
Oiié??&,za!l ;IS LOW ORDER = 177776

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

:LOW ORDER IS WRONG OR WRONG SEGUENCE
(RS}, 8224
1%

(RS)

+IF IN WRONG SEQUENCE GO TC THE HLT RS0VE




DFKRCA
DFKRCR

1947
1948
1949
13950
1951
1952
1953
1954
1955
1956
1857
1958
1959
1960
1861
1962
1963
1964

MRCYLL
P11

007726
007730
007734
007740
007744
007752
007754

007750
007762
007765
007770

007774

2T\732)

010701

001403
004787

000165
022702
001403
004767

000166
022703
001403

004767

000167
021527
001372
00Se!1s

08-SEP-76 18:20 PAGE SO
MUL INSTRUCTION TESTS

007777
000010
000002
000000

006426

000000
ooeHl1e

077770

006375

000225

000002

LOY

SRR I3 303 T390 3036 38 38 06 36 0636 6 363 96 36 36 36 36 36 9 36 3% 36 36 96 36 36 36 3 36 % 36 3 36 3 3 36 3 96 36 36 3 3 % 3 3 3 3% % %

; TEST: 225
EEREEEERH RS R R RS RIS

TST225: SCOPE
MOV

18:

MUL
MFPS
chP8
BEQ
JSR

165
CHP
BEQ
JSR

166
cHe
BEQ

JSk

167
CMP
BNE
INC

MUL 7777 » 810 = 0 77770 PS =0

87777, %2 :LOAD MULTIPLICAND WITH 7777

$10, % ‘MULTIPLY 7777 * %10

24PSWORD :SAVE PS

cglgupsuono IS PS =0

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

'Eiée :1S HIGH ORDER = 0

PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

‘HIGH ORDER 1S’ WRONG
#77770,%2! 1 1S LOW ORDER = 77770

.+10

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

(RS), #225

%35) :IF IN WRONG SEQUENCE GO TO THE HLT ASOVE




OFKRCR
DFKACR

== Pt Pt pns pmn Poet Pt Pt et Pomn Pt Pt it it Pt Pt Pt Pt Pt Pt Prnt Pt

00000 00000 0000 O0O000000
OO0 0 DEDD

MACYLl 27(732)

010701
010501
012704
070427
106737
122737
001403
04767

000170
022704
001403
004767

0o1403
004787

000172
021127
001372
01010S
005215

0S-SEP-76 18:20 PAGE 51
MUL INSTRUCTION TESTS

077777
077?77
0000ce
000001

006330

0Cc0o001

008300

00022¢

TST226: SCOPE
MOV

MO4

3 R I I3 I3 3 4 3030 B I R 3
; TEST: 226
, I

MUL 77777 % 877777 = 37777 | PS = |
22 22222233 22222 22T I R I i ezt iiititizezititr

RS,RI :SAVE RS

877777, %M :LOAD MULTIPLICAND WITH 77777

8777727 74 ‘MULTIPLY 77777 % 877777

JUPSWORD :SAVE PS

'i Supsuono ‘IS PS = 1

PC,SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE
:PS IS WRONG

'ETE77'ZH . 1S HIGH ORDER = 37777

PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
*HIGH ORDER IS WRONG

81,741 :1S LOW ORDER = 1

.+12

PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
+LOW ORDER IS WRONG OR WRONG SEQUENCE

(R1), #2286 -CHECK THE TEST NUMBER

18 :IF IN WRONG SEQUENCE GO TO THE HLT RBOVE

?ég?s : RESTORE RS




DFRKACA MACY!L!
DFKRCA.P1!

wWruny
F

Pt bme po P Pt e ot P P P Pt
OO0 COOoOoOoOO0OOoOn

70

(o) o (o =% 2% P Pt §eet Putt st Pt Puna
wmn
o

200

O000 00000 OO0 O0O0O00ODOOO

Bt et o o Gt et o Pt Bt
OO0 BODDD
(o]
(]

e°1732)

000173
022702
001403
004787

000174
022703
001403

004787

000175
021527
001372
005215

09-SEP-76 1B:20 PAGE S2
MUL INSTRUCTION TESTS

177777
Q772777
000002
000010

006232

177777
006216

1080001

006202

00cezr

1 TEST:227

g-1, %2

877077, %
J4PSWORD :
#10, J#PSWORD 1S PS = 10

PC,SHLT

.+l
PC,SHLT

PC,SHLT

(RS}, 8227
13

NO4

(REEERRREEREERRRERLER AR R EERRREERFEREERREEREERRREFRRERRELESREERRERER %

-1 % #77777 = -1 100001 PS = 10
$ FERI IR AR RRE IR RRIREE AR R AR ER R RRRE

TST227: SCOPE
MOV

;LORD MULTIPLICAND WITH -1
sMULTIPLY -1 % 877777
s SAVE PS

sSEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG
+ IS HIGH ORDER = -1

; SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

81?8001,22!1 ; IS LOW ORDER = 100001

;SEEN AN ERROR, GO TO TH HALT ROUTINE

(Ol ORDER IS WRONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TO THE HLT RBOVE




CFARCR MRCYLL 27.732°

C8-SEP-TE

BOS

IRERERRRRERRERRRRERFERRERRRERERERERERRRERRAREREDERPRERRERRERRRE AR R A SR

-2 % W27777 =

-12 P = 11}

CRRRRRERRRREFREF RS RRARRRPRRERR AR RPR AR ERAR AR ER RS AR RS 4 SR D4 R4 RS

2 18:20 PAGE 53
DFkRca. Pl MUL INSTRUSTION TESTS
r
1ok b :TEST:230 MUL
2038
23339 .
2040 010216 O0ICTQL TST230: SCOPE
209! £10220 ClavQC 17777 . MOV g=-2,%0
3042 010234 0T002- QTrr7T MLL 87727790
£043 Q10230 10E73" 000002 MFPS  2#PSWORD
SR4q 010334 12273 000011 ocoo02 CMPB 11, d8PSWORD
2045 910242 001403 BEQ +10
gg:g 010244 0O47E? 006136 ISR PC,SHLT
- {
3248 010250 002176  __ 176
2549 €10882 022700 1777 CMP $-1.%2
2089 010266 001803 BEQ +18
5825 010380 O0NTE? 006122 JSR PC,SHLT
2083 010284 000177 177
2054 010266 Dg2701 1000002 CHP 82,%0'1
2055 010272 031403 BEQ  .+lO
205& 010.:9 1’:
gggg 010274 QO47&T 00610 JSR PC,SHLT
&
2053 0170300 000200 290
2360 013302 621837 (000232 CHP (RS}, 8230
2081 318308 Q01372 BNE 18
2062 016310 CoEZi8 INC N3
333
2084

e — —

:LORD MULTIPLICAND WITH -2
;HUbEIP%Y -2 % 877777

:SAVE P
;IS PS = 11

-+SEEN AN _ERROR, GO TO TH HALT ROUTINE

+PS IS WRONG
1S HIGH ORDER = -1 _

.SEEN AN ERROR, G0 TO TH HALT ROUTINE
'HIGH ORDER 15 WRONG

;1S LOW CRDER = 2

<SEEN AN ERROR, GC TO TH MALT RCUTINE
:LOW CROER 1S HRCNG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TC THE MLT ASOVE
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et S#828TR

(>
w
wn
W

38 88§%§
o

(OO0 OO0 IO OOOO0ODOOV
old ad

(Y 2 ¥ Y =) [oad S X X S Y =g 0t —2 ot P

0
£ L
(& ] qn )
£

SFRACR MRCYIL 2073
OFKRCR.PLL

010731
012702
00227
1067237

0C20!1
822702

001403
354767

0002Ce
022703
001403
Qeu7e?
0002C3
021827
cLi¥re
0C8elS

08-SEP-T%
MUL INSTRUCTION TESTS

125252
000c02
000002
000011
008042

177277
0CeC28

052524
00eCl12

00C231

16:20 PRGE S4

tTEST: 231

.+l
PLLOHLT

‘RS, 8231
i3

COS

X 2T 2SI SIS 2RISR ISLLILLLIIZLL 222222222222 2]

125252 * 82 = -] SaSay PS = 11
CERRRRRERRERRRERERRRRRRRRERRRIRRRFRRRRRFRRRRSRRRRRRFRRRRRERRERERRRSHS

0125252 “2 :LORD MULTIPLICAND WITH 1252¢2

asbsuoao
:lloa:PSNORD xs PS =

HULTIPLY 125252 # 82
: SAVE S

:SEEN AN ERROR, GO T) TH HALT ROUTINE
:PS 1S WRONG

+ IS HIGH ORDER = -!

; SEEN AN ERROR, GO 70 TH HALT ROUTINE
:HIGH ORDER IS WRONG

85?82“.%2!1 ; IS LOW ORDER = 52SeM

: SEEN AN ERROR, GO TQ TH HALT ROUTINE
:L0W CRDER IS 4RONG OR WRONG SEQUENCE

:IF IN WRONG SEQUENCE GO TC THE HLT ARSOVE




DFARCR
DFKRCR

2294
gOQS
2035
2097
20388

n
O
D
Vi)

LWwur-0

futufuruofufufourvpeofVIVRRrOrVM L NDOMO Y

Popapapapcbapabopush opoiopopopob-sPue) op b Shahaph o4 4 Ps

ULV = p-op u-r—-o—-b—-t—-o—-o—-()(:)(:)gam( bl Iw]o]

LW OD0ONrN £WMu—-O0m =)

()
£ £L
Us—s—p—-()

2E TIFZ 22222
mOIN O E£nemoo

(7000 O0OO0O0OO0 OO0 O0VOoO00Ow
g! L £ W

MRSYLIL 27732

004767

000208
gella?
021372
010108
0082is

08-SEP-TS
MUL INSTRUCTION TES

125252

e
Q00011
005744

165252
80873C

130000
gO5T 14

000232

18:20 PAGE S5
18

TST232: SCOPE
MOV

DOS

CREERRRERAERRARRFRRERPRERFEREERRRRRARRERRERERREDRE SRR R ARRRR RS NS B%
: TEST: 232
. .

MUL 125252 * s40000 = 165252 107000 PS = 1!
X IIIITITIZTIILI RS2 2222222222222 L2222 222222 222222

RS, Rl :SAVE RS

8125252, %M +LORD MULTIPLICAND WITH 125252

s40000, %4 :MULTIPLY 125252 ¢ 840002

J8PSWORD :SAVE PS

'iiba'Ps“ORD 15 Ps = 11

PC.SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE

:PS 15 WRONG

axﬁgase.zw :1S HIGH ORDER = 165252

LIl

FC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE

;HIGH ORDER IS WRONG
liggﬁﬂﬁ.%q!l ;IS LOW ORDER = 100000

PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
: Ol ORDER IS WRONG OR WRCNG SEQUENCE

(R1}, 8232 :CHECK THE TEST NUMBER
18 +1F IN WRONG SEQUENCE GO TO. THE WLT RBIVE
géé§s ‘RESTIRE RS




CENRCH
PERRCR
212
§12§

WL L £ L £ L4845 8 £ WWWWLW LWL ol
(WhUr—- mmumm&wm-—-oog\agm.cwmgg.g b

RV PRV TVIUTVTV IV TV VIV Y fUTVIU Y
Bt Bt Bce Pt Pt ot B o6 Pt Pt Pt Pt ot Pt P Pt Pt o Pt e P 2 Pt Pos P § = P

LN

Macyll
Fll

oS4

10S76

QOO0 O0O000OC0O0 OO0 OO0OOOO0Ow

=
-

-
[ W]

MLL

00C207
022700

001403
004767

000210
022701
001403

004787

QC0211
021527
001372
0Qs215

08-SEP-TS

107070
167070
000002
606601

00Se4s

031222
00Se32

Cebl00

005616

00C233

18:
NETRUSTICON TESTS

0coo0e

EOS

c0 PRGE SB

(RRERRRARERRRRRRRERERFRERSRRBRRRRRRERRRRRARERRADRERRERERRAERERE RS RE %%

:TEST- 233 MUL 107070 # 8107070 = 31222 26100 PS = 1
SRRRERERERERREERERARRERRERRR R RN RIS R R RSN SRS SRSB4 10

TST233: SCOPE
MOV

107070, %0 :LOAD MULTIPLICAND WITH 107070

MUL 8107070 %0 :MULTIPLY 107070 # 8107070

MFPS  2sPSWORD : CAVE PS

ggga ailgupsuoao 115 P8 =

ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

s07 +PS IS WRONG

- (

5?5 'E{SEE'”U .15 HIGH ORDER = 31222

JSR PC,EHLT :SEEN AN ERRCR, GO TO TH MALT ROUTINE

210 HIGH ORDER IS’ WRONG

CHP 826100, 40!} 1S LOW ORDER = 26100

" BEQ .+10
) ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

211 :LOW ORDER IS WRONG CR WRONG SEQUENCE

CMP (RS), #233

?zg 435) :IF IN WRONG SEQUENCE GO TC THE HLT RSOVE
l




DFRACA MACY1I
DFKRCA.P11
2154
giss
122
2158 010£02
2153 10804
2180 010610
216l 010614
2162 010620
2163 D1062E
2164 010630
2165
2i66 010634
2167 010636
g168 Cloed2
2169 010644
2170
2171 010850
2172 CI0652
2173 010656
2174 Q10660
2175 01066G
2176
177 01CEBM
2178 C106Ek
2179 010672
218C C19e7
2181
2182

amirT3

08-SEP-T8

MUL INSTRUCTION TESTS

01001
012701
070127

800213
022701
001403

004767

0eo214
021527
001372
005215

177077
000C0!
00C002
000010

00ssse

1777277

005536

i7777?

00SSae

00C234

0CGec02

18:20 PRGE S7

FOS

CRERRERRRARRRRERRRERRIRERSRRR R ARRRERRNARRERR SRR R R R RRERF R AR RIS
S TEST: 234

TST234: SCOPE
MOV

18:

MUL
MFPS
gHPB

JSR

MUL -1 %l =-] -l PS = 10
liii!!l!!*ll«l!l!li!iii!il!l!!ill*!lil!lill*llll!ll!l!!i!liiiili**iii

8-1,7%1 Lono 4ULTIPLICQND WITH -1

8l %l LTIPLY -1 # 8l

38PSWORD snvs PS

aigbaspsuono IS PS = 10

PC,SHLT sssn AN ERROR, GO TO TH HALT ROUTINE

:PS 1S WRONG

o;ibzx + 1S HIGH ORDER = -1

PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
:HIGH ORDER IS WRONG

$-1. %101 :1S LOW ORDER = -1

.+10

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRCNG OR WRONG SEQUENCE

(RS), 8234

%35) -IF IN WRONG SEQUENCE GO TC THE HLT ASOVE




GOS

DFaRCA MACYLL 271732) 08-SEP-7S %2:20 PRGE S8

DFARCA.PILI MUL INSTRUCTION TES
2183 : Y ey ey Y Y Y Y E e 2 2222222 2212222222222 L
2184 1 TEST: 235 MUL -] *80=0090 PS = Y4
S‘ll g ;!!ii*iil!!l!*!!!iiiiiiiiiii!§§§i!i!i**lll**i!l!ll!**l**lli!iii*ii{ii
2187 010876 010701 TST235: SCOPE
2183 0£1070C 012703 177077 MOV ¥-1,%3 :LOAD MULTIPLICAND WITH -1
2183 010704 070327 D0OCOO MUL 80,%3 'MULTIPLY -1 # 20
2130 010710 106737 000002 MFPS  J%PSWORD 'SAVE PS
2191 0107i4 122737 000004 0OOCO2 CMPB  #4, 2#PSWORD 11 PS = 4
2183 010722 O50IN03 BEG .+10
2193 Cl0724 004767 OCSHSE ISR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
£194 . :PS 1S WRONG
3195 010730 000215 215
2136 Cl1075c 022703 0C00Q0 CMP 80, %3 + 1S HIGH ORDER = 0
2197 010736 001v0 ?gg .+ig
35198 010M40 004767 005442 PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2199 :HIGH ORDER IS WRONG
2200 010744 000216 216
2201 (01074 022703 30C000 CMP 80,%3'1 1S LOM ORDER = 0
2202 010752 001403 BEQ .+10
2203 010754 18;

2204 016784 004767 005426 JSR PC,SHLT -SEEN AN ERROR, G0 TO TH HALT ROUTINE
2205 : :LOW ORDER IS URONG OR WRONG SEQUENCE
2208 010760 000217 217

2207 010762 021527 00C23%S CMP (RS), 8235

2208 Q10766 001372 ENE 18 -IF IN WRONG SEQUENCE GO TC THE MLT ARSOVE
55?2 0106770 005215 ING (RS)




DFRACR MACY!L!
DFKRCR.PLI

2212

2513

2eld

2215

3016 010772
EEI: 010(4“
2218 010776
2219 011002
2229 011006
2221 011012
ecee 011020
g223 01102
22e4

2eeS 011026
2596 011030
c2e7 011034
2228 011036
2229

2230 011042
2231 011044
2532 011050
2233 0110Se
2234 011052
c235

2236 011056
2e3? 011060
€238 011064
2239 01106k
2g4C 01107

000220
022705
001403
004767

000221
222705
001403

0ow7e?7

000222
021127
ge1372
0iC10S
00518

077777
100000
0000Ge
000011

005360

100000
00S344

100000

005330

000236

N

000002

=76 18:20 PRAGE S8
TESTS

HOS

SRR ERRRMEE TIN5 I3 I3 302063303030 2633t 36 0030 36 36 00 30 0 06 36 30 36 30 36 30 36 96 30 38 36 36 3 36 3 30 3 36 %

:TEST:236
CREEEREREREEREEERRREERRERRERRRRRREREREERERRRERERRRRERRERERERSER LS EEE

TST236: SCOPE
MOV

19:

MUL

RS,Rl
877777 .45

7777 % #100000 = 100000 100000 PS = 1!

1SAVE RS
+LOAD MULTIPLICAND WITH 77777

100000, %5 sMULTIPLY 77777 # 100000

S8PSWORD :SAVE PS

'iioa'PSNORD 1S PS = 11

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

aiggooo.zs +1S HIGH ORDER = 100000

PC.SHLT <SEEN AN ERROR, GO TC TH HALT ROUTINE

"HIGH ORDER IS WRONG

Oi?EUUO,ZS!l ; 1S LOW ORDER = 100000

PC,SHLT

(R13,8236
18

R1,RS
(R%)

SEEN AN ERROR, GO TO TH HALT RAUTINE
L0l ORDER IS WRONG CR WRONG SEQUENCE

:CHECK THE TEST NUMBER
:1F IN WRONG SEGUENCE GO TO THE HLT ABOVE
RESTORE RS




CFRACR MACYLL 2T1732)

DFKRCR.P1!

2243
224

5532

2247 011072
2248 01197y
2243 Q11100
2250 011104
2251 Q11110
2052 QLI1l6
8253 0ili20
2254

£255 011124
2256 011126
2257 011137
2258 OII1Y
2259

2260 011140
2261 011142
2262 011146
2263 011150
2064 01115G
2265

2266 011154
2267 011156
2268 D111E2
2263 011164

010701
01270

07012

106737
122737
201403
004767

00C223
022701
001403
004787

000224
022701
001403

004767

0CO2es
0215e?
001372
005215

08-SEP-TS
MUL INSTRUCTION TESTS

1??’7?
Q777?27
000002
000010

00526¢

10300!
00S246

100001

005232

00Ce37

18:20 PAGE &0

s TEST: 237

5??% %1

acpsuoho
s1ocacpsuono IS PS = 10

+1
PC,SHLT

PC,SHLT

(RS), 8237
1%

105

R 321221I22ITLITLILLLLILLLLIILLLLILLISTILLZSZ AR 2222222222222 22222222 ss s

-1 # 477777 = 100001 100001 PS = 10
T T I L YT YT T Ty A A P TP A T TR SR AR KA A T

TST237: SCOPE

LOQ? HULTIPLICRND WITH -1
IPLY -1 # #7777
sSAVE PS

;SEEN AN ERROR. GO TO T4 HALT ROUTINE
:PS 1S WRONG

CIDgOOI WAl ; IS HIGH ORDER = 10000!
PC,.SHLT

; SEEN AN ERROR, GO TO TH HALT RCUTINE
tHIGH ORDER IS WRONG

0&?8001,Z1!1 ;1S LOW ORDER = 100001

;SEEN AN ERROR, GC TO TH HALT ROUTINE
:LOW ORDER IS URONG OR WRONG SEQUENCE

+IF IN WRONG SEQUENCE GO TO THE HLT RBOVE




JO5s

DFRACR MRCY!l 271732) 08-SEP-76 18:20 PRGE 6l

DFRRCA.PI1 MUL INSTRUCTION TESTS
2272 S0 000006 36 06 06 00 0 0 26 30 300 06 3 S 336 300600 06 T 0 46 0 300 30
227 :TEST:240 MUL 77777 % W77777 = 1 1 PS = 1
sg:g : EEREREREEREREERREEERSEEREREELEREREREEREERRECREREREEERAEERAEEEEEEREEER
{
2276 011166 010701 TST240: SCOPE .
2277 011170 012703 07?7777 MOV 877727,%3 :LOAD MULTIPLICAND WITH 77777
2378 011174 070327 077777 MUL 877777 %3 ‘MULTIPLY 77777 » 877777
2279 011200 106737 000002 MFPS  3#PSWORD :SAVE PS
2280 811204 22737 000001 000002 CMPB %1, 28PSWORD :IspPs =1
ceSl 011212 001403 BEG .+10
2c82 011214 004767 00S1ES ISR PC, SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
2283 :PS 1S WRONG
2984 011220 000226 226
2285 011222 022703 000001 CMP 81,73 - 1S HIGH ORDER = 1
2296 011226 001403 BEQ .+10
2287 011230 004767 005152 JSR FC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2288 . :HIGH ORDER IS WRONG
2289 011234 000227 227
2290 011236 022703 00000 CMP $1,%3'1 1S LOW ORDER = 1
2291 0li242 001403 BEQ .+l0
229 011944 18:
293¢ 011244 004767 005136 JSR PC,SHLT +SEEN AN ERROR, GO TO TH MALT ROUTINE
2294 +LOW ORDER IS WRONG OR WRONG SEQUENCE
2295 011250 000220 230
2296 011252 021527 000240 CMP (RS), #240
2297 011956 001372 BNE 18 - IF IN WRONG SEQUENCE GO TO THE HLT ASQVE
2298 011280 0CS215 INC (RS)

S AE——— ]




DFKRACR MRCY!!

DFKRACR.PL1
2301
s

304

230S
2306

n
W

furyrurfurufo
WD W LI
Pt Pt Pt s Pt it i P
O~ LW

2rirdd)

010701

204767

000231
022705
001403
004767

000232
022705
001403

004767

000233
02ile?
001372
01010S
005215

08-SEP-7
MUL INSTRUCTION TESTS

000002
000002
000002
000000

005070

0oo0cH
005054

0Co004

005040

000241

S 18:c0 PAGE B2

TST24!: SCOPE

MUL

89 J#PSWORD

PC,SHLT

4, %S
.+10
PC,SHLT

w4, %5

.+l0
PC,SHLT

(R1), 8241
1%
R1,RS
(RS)

KOS

e * 8= =
FRWEEIHFETES @RI % %5 33 I 9 3% 45 3 33 36 3 I 3 3 3 3 36 I 9 3 3 3 3 3 3 5 3 3 3 3 3 3 % 3 5% 4 5% 3% % % % 4% % %

.
]
.
]

.
9
.
’

S IHHE R B I I I I 003 36 S I I 003000 0 R I I I R 4
; TEST: 241
, [ ]

4 Y

AVE RS
LORD MULTIPLICAND WITH 2
MULTIPLY 2 * #2

SEEN AN ERROR, GO TO TH HALT ROUTINE
PS IS WRONG

IS HIGH ORDER = Y4

SEEN AN ERROR, GO TO TH HALT ROUTINE
HIGH ORDER IS WRONG

IS LOW ORDER = 4

SEEN AN ERROR, GO TO TH HALT ROUTINE

LOW ORDER IS WRONG OR WRONG SEQUENCE
. CHECK THE TEST NUMBER

IF IN

RESTOR

Ehggc SEQUENCE GO TO THE MLT ABOVE




DFKACA MACYl!
OFKRCR.P1!

OO00 00000 0000 0000000

e71732)

MUL INSTRUCTION TESTS

012702
012703
012704

010701
012700
070067
106737
122737
001403
004767

000234
022700
001403
004767

000235
022701
go14e3

004767

00023¢
021527
001372
205215

08-SEP-76 18:20 PRGE 63

040000
000034
0GC03e

12525

e
000011
004756

185252
0C4742

100000
004726

000242

MOV
MOV
MoV

TST242: SCOPE
MOV

MUL

MFPS
CHPB

BEQ
JSR

234
CMP
BEG
JSR

235
¢MP
BEQ

JSR

23b
CMP
BNE
INC

LOS

#40000, “e
#SS, %3’
sss 74

$ IR RN I NI R I I IR R R R 2
s TEST: 242

MUL 125252 # S5 = 165252 100000 PS = 11
i*i***i****li*i*i*ii***i*i**l*ii**i**l!**ii*i**!*i!*l*i*****!****ii*

8125252, %0 :LOAD MULTIPLICAND WITH 125252

Gs, %0 MULTIPLY 125252 * S5

4PSWORD s SAVE PS

'ifaa'PSNORD +15 PS = 11

PC,SHLT -SEEN AN ERROR, G0 TO TH HALT ROUTINE

:PS 1S WRONG
:i?gasa.zu -IS HIGH ORDER = 165252
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

:HIGH ORDER IS WRONG
3198000,20!1 ; IS LOW ORDER = 100000

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

(RS), 8242

%gs) . IF IN WRONG SEQUENCE GO T THE HLT ABOVE




DFKACA MACYL!
DFKACR.P1L

2365

§ie8

2368

2369 O011u?2
2373 O0lIN7%
2371 011500
2372 011504
2373 011510
2374 011S1¢
2375 011520
c37b

2377 011524
2378 011526
2379 0115832
2380 O01153M
2381

2382 011540
2383 011542
2384 011546
2385 011550
2386 011550
2387

2388 011554
2389 011556
2330 011562
2381 011564

2T T 32)

010701
012700
070077
106237
122737
001403
00N767

000237
022700
001403
004767

600240
022701
001403

004767

0CO241
021527
001372
008215

08-SEP-7¢ 18:20 PAGE &4
MUL INSTRUCTION TESTS

125252
166332
000ca02
000011

004662

165252
004646

100000

004632

00C243

000002

MO5

PRRREREHREIE R R IR IR I IR R E R R 2R
s TEST:e43

TST243: SCOPE
MOV

MUL
MFPS
CMPB
BEQ
JSR

237
cHMP
geqQ

MUL 125252 * 356 = 165252 100000 PS = |1
S SR RIE T 03 30 96 26 36 26 96 36 36 96 6 3 36 96 36 36 96 1 36 3638 36 36 36 30 36 38 36 96 36 36 36 6 36 36 26 36 36 36 36 36 36 36 %6 36 30 30 36 3 3 3 36 3 9 4 3 3 3 3 3% 3 %

#125252, %0 :LOAD MULTIPLICAND WITH 125252

35€. %0 'MULTIPLY 125252 * 356

24PSWORD :SAVE PS

'iioa'Ps”ORD (IS Ps = 11

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

:PS 1S WRONG
ui?gase,zo .15 HIGH ORDER = 165252
PC,SHLT :SEEN AN ERROR, GO TO TH HMALT ROUTINE

1%:

JSR

240
CMP
BEQ

JSR

c4l
cMP
BNE
INC

HIGH ORDER IS WRONG
ci?gOOO,ZO!I .15 LOW ORDER = 100000
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE
(RS, #243
1§

{RS) ; IF IN WRONG SEQUENCE GO TC THE HLT ABCOVE




NOS

DFKACA MACY1l 27(732) 08-SEP-7& 18:20 PAGE 65

DFKRCA.P11 MUL INSTRUCTION TESTS
S3ae TEST o0 et % D455 = 165255 100000 O Be E 11
H : ® oJUS5S = =
gggé ’ 36369636 36 36 36 36 36 36 3636 3 3 3 36 36 36 36 36 36 3 36 3 36 36 6 36 36 36 36 3 3 36 36 36 3 36 36 3 36 6 36 336 30 3 336 & 336 3 3 3 3 %6 X 3% % %K%
I'4
2398 011566 010701 TST244: SCOPE
2393 011570 012700 125252 MOV 125252, %0 :LORD MULTIPLICAND WITH 125252
2400 011574 070037 00D03M MUL anss, %0 *MULTIPLY 125252 * @455
24C1 011600 106737 000002 MFPS  J#PSWORD :SAVE PS
2402 011604 122737 0000L! 000002 CMPB  #11,2#PSWORD ;IS PS = 11
2403 011el2 001403 BEQ .+10
g:gg 011614 004767 0O4SES JSR PC,SHLT ;ggs¥snungﬁgon, GO TO TH HALT ROUTINE
3406 011620 000242 242 ’
2407 Gl11622 022700 165252 CMP 2165252, %0 : 1S HIGH ORDER = 185252
2408 011626 001403 BEQ .+10
5393 011630 004767 0O4SS2 JSR BC,SHLT ;EEEE SSDEE“?E'NSSNE° TH HALT ROUTINE
2411 011634 000243 243 '
2412 011636 022701 100000 CMP $100000,%0'1 ;IS LOW ORDER = 100000
2413 QOlle42 001403 OEQ .+10
2414 011644 18:
2415 011644 004767 0O4S36 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
53?9 011650 000244 oy :LOW ORDER IS WRCNG OR WRONG SEQUENCE
2418 011652 021527 000244 CMP (RG), #244
5353 8%1223 ggégig ?ng %35) :IF IN WRONG SEQUENCE GO TO THE HMLT ASOVE




BO6

oEARCR  MAJY!IL 27.738 _ 0S-SEP-TS 18:20C PRGE 66

OFARCR.PLL MUL IN:TR““TIWN TESTS
2423 lli!liillil!liiillliiiil’!l!!lli!illlli!il*lil}!{§!i{liiiiifl§§i!§§l
2424 TEST 245 MUL 125252 * 2 = 165252 100000 PS =
Sﬂgg !lilill!!f!li!!!Iililllli!i!}illii!lll!i!!*il!illi!l!liiifii!!!iiill
42
227 0ll&ke 010:01 - TSTe4S: SCOPE
2928 (11684 01270C 125252 MOV 0125252 %0 +LORD MULTIPLICAND WITH 125282
2429 9011670 07000 MUL 0 MULTIPLY 125252 & %2
2430 Q11672 10673° 000002 MEPS aaésuono :SAVE PS
3331 ClisTe 122737 000011 00C0C0e - CMPB 011 J8PSWORD IS PS = 11
3433 211704 OCINI3 BEQ +10
§:§3 011706 004767 OCMNTM JSR PC SHLY ggf?SRN ERROR, GO TO TH MALT ROUTINE
2435 0117i2 908§HS ——— §45
2436 0117184 022700 16525e NP 8165252, %0 +1S HIGH CRDER = 185252
2437 Q11720 001403 BEQ .+10
g438 0l1722 0084767 0044860 ' SR C.OHLT :SEEN AN ERROR, GO TO TH HALT RCUTINE
2439 +HIGH ORDER 15’ WRONG
2440 011726 000248 246
24l 011730 022701 10C000 oy 8105002,°.3!1 ;IS LOW CRDER = 100000
2442 011234 001403 BEQ .+10
243 011736 18:
24944 (011736 0O47ET Q0WNNN JSR PC,SHLT :SEEN AN ERROR GO TO TH HALT ROUTINE
2445 LON ORDER 1S 4RONG OR WRONG SEQUENCE
§44§ 011742 ECO.H? _ 247
c¥47 DLlI7394 (21827 0002ss CMP ‘RS, 8245
2448 311?3; 0013?2 BNg i3 «oF IN WFING SESUENCE GO To THE HLT ASCVE
g% D117Ce 9CSgisS INC (R5)




o ——

CFRRCR

DFKRCR.

MRCYIL 2T 73
MUL INSTRUCTION TESTS

Plil

>
ot |
un
£

=~
Lt pd ou ¥ =

RN

UMNUMND  NYr—etop spep-e
‘8’

012

r—-o—-mo—-w Peopopaps  PoPps Pt pt Pt P

ik

QOO0 O0O0000 OO0 OVOOOMNN
Popapape
sy
Cide

zg

881403
004787

004787

000251
022701
001403

03-SEP-TE

125252

00Cc02
GCO011
0044C2

165252
004386

1CC000

004382

030248

200002

18:20 PAGE &7

CO6

(RERRRRRRERRRRRRFE R AR RRR AR RRRRRERRARRRREERREDRSP RS RRR AR RS E R R RS
$ TEST: 246

TSTe4b: SCOPE
MOV

MUL
MEPS
CYPB
8

JSR

MUL 125252 * (3)+ = 185252 100000 FS = 11
lii!ililIi!liil!il!!l!ili!!!lii!l!lli!lli!*iill!{!iii!li*iii{!!ilil{

-1asasa %0 :LOAD MULTIPLICAND HITH 125282

(3)+,: ‘MULTIPLY 125252 # (2)+

anpsaono :SAVE PS

311 I8PSWORD ;IS PS =

pc TSHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE

:PS IS WRONG
ci?gasa.xo : 1S HIGH ORDER = 185252
PC,SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE

18:

:HIGH ORDER 1S5’ WRONG
11?8000.23!1 ;IS LOW ORDER = 100000

PC,SHLT :SEEN AN ERROR, GC TO TH HALT ROUTINE

:LOW CRDER IS HRONG OR WRCNG SEGUENCE
{RS), 8248"
18

(RE)

:IF IN WRONG SEQUENCE GO TC THE HLT R3CVE




DFRRCA MRCYIL 271732}

08-SEP-T"Y  18:20 PAGE 68

DFKACR. P11 MUL INSTRUCTION TESTS

2431
5,88
2484
2485 012046 010704
2485 Q12050 012700 125252
2487 012054 070043
2498 01205p 106737 000002
2483 012062 120737 000011 000002
2490 01207C 0CINO3
2431 012072 DONTE7 004310
£
2433 012076 000253
2454 012100 022700 185252
3435 Q12104 00IN03
24% Olalls 004767 004274
2438 012112 00025H
2439 012114 022701 10000
2560 012123 00IO3
2501 012122
2502 DIZlaz 004767 004260

-
2504 012126 00O2CS

05 012130 Q21527 0OCR4?
2506 Q12134 (001372

012:3 005218

D06

;l!!;!ll;i!illll!i!ilill!i!i!l!liliilil!lilllli!l*!lil!i!!!iilf!l!fii
; TEST: 24
’ L]

TST247:

SCOPE
MGV
MUL
MFPS
CMPB

BEQ
JSR

253
CHP
8EQ
JSR

254
cMP
BEQ

MUL 126252 * -(3) = 165252 100000 PS = 1}
SEEREREEREEFRERARRERRFRRERERRERBEERER RN ERREERRRREEREEER AR RERESEE S S

sxesasa %0 +LOAD MULTIPLICAND WITH 125252
nULTIPLY 125252 * -(3)

aspsﬁono + SAVE s

'i{oa'Ps“ORD :1S Ps =

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

axsgasa %0 .15 HIGH ORDER = 165252

PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
‘HIGH ORDER IS WRONG

oiggooo.zaex .15 LOW ORDER = 100000

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

1%:

JSR

255
cMP
BNE
INC

:LOW ORDER IS WRONG OR WRONG SEQUENCE
(RS}, 8247
13
{RS)

:IF IN WRONG SEQUENCE GO TC THE HLT RBCOVE




ECB

OFRRCR MACYLI! 271732 08-SEP-7S  18:20 PAGE 69

DFAACR. P11 MUL INSTRUCTION TESTS
2510 SHBRERERIE TR T 030030003000 30 30203690 30 0 30 06 000 30 00 00 30 20 30 00 0 30 00 38 90 36 30 3 3 30 3 3 8 3
3511 :TEST: 250 MUL 128252 % 2(4) = 165252 100000 PS = 11
Sglg SRR 30 3 30 00 0096 30 90 6 36 38 96 36 30 08 36 3% 06 96 9% 36 9038 96 36 3% 36 30 36 38 36 3% 06 6 38 96 36 38 2 6 36 90 30 30 3% 9 36 3% 3 3% 06 36 38 36 96 4% 48 9 6 3% % % 3 %

1
3519 012140 010701 TST250: SCOPE
3515 013i42 012700 125252 MOV 8125252, %0 :LOAD MULTIPLICAND WITH 125252
3516 012146 070064 000002 MUL 2(4),%0 sMULTIPLY 126252 * 2(4)
3517 (012152 10E?3~ 000002 MFPS  S8PSWORD : SAVE PS
gSig9 DlgiSe 122737 000011 000002 CMPB  811,d8PSWORD ;IS PS = 11
3513 012164 001403 BEQ +10
5523 012166 004767 DO4214 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2521 _ :PS 15 WRONG
3823 Q121”2 0O02Se 258 .
2523 01a.79 022700 165252 - CHP 8165252, %0 :15 HIGH ORDER = 185252
2524 012200 001403 BEQ .+10
2S935 012202 004767 (004200 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2528 :HIGH ORDER IS'WRONG
2527 012206 00C257 257
2538 012319 022701 100000 CHP #100000,%3!'1 ;IS LOW ORDER = 100000
2529 0lza14 001403 BEQ .+10
2530 01221k 18:
2531 012216 004767 DOHI&M ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2532 :LOM ORDER IS URONG OR WRONG SEQUENCE
2533 012222 0002:0 260
2534 013704 021577 000252 CMP 'RS), 8250
2535 J12z3C 001372 BNE 1§ :IF IN WRONG SEQUENCE GO TC THE HLT ARSOVE
283t 013232 0052:5 INC (RS5)




FOB

DFKRCR MRCYLl 27732 08-SEP-T6 18:20 PRGE 70

DFKRCR.P11 MUL INSTRUCTION TESTS
€339 CERBEFRRBHEREEFEEIIR T I RIN T IR0 13 33030 0003000 330006 40 00 30 2 62 2
2540 TEST 251 MUL 125252 % J(4) = 165252 100000 PS = 11
254% li*i!ii!ii*ll!!illl!!i!lli!lilllllll’lllll!illlll{lllilllllliiilllil
2542
ES:& oiaagq OIOZOé eS TeTest: ﬁgepe 312525 , %0 :LOAD MULTIPLICAND WITH 128782
4 -'e
4 Bi3333 BiEOOS 4Gas36 ML " ROCHIPLY 1oEoeaTs U]
20 Digas 1957% QO80T oomoce CHPB ifﬁsﬁiﬁguom SVEPS ||
Sg 813555 581483 850 +10
2549 0l2ee2 004767 004120 J3R PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
£550 PS IS WRONG
2551 (012256 (00026l 26l
2552 012270 022700 165252 CMP 0165252 %0 + IS HIGH ORDER = 1652%2
2883 012274 001803 BEQ +10
2554 (Olec7e 004767 O00410M4 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2555 HIGH ORDER 1S’ WRONG
2556 012302 000262 262
2857 012304 022701 100000 CMP £1C0000,%3!1 ;IS LOW ORDER = 100030
2s58 012310 001403 BES .+10
2559 (l2312 18:
eSe0 01231z 004767 004070 JSR PC,SHLT ;SEEN AN ERROR, GC T0 TH HALT RCUTINE
2561 :LOW ORDER IS WRONG OR WRONG SEQUENCE
cSb2 012316 0L02&3 eb3
2S63 012320 02:1827 0002S! CMP (RS),8251
eSed (l123e4 001372 BNE 18 :IF IN WRONG SEQUENCE GO TC THME HLT RSOVE
2SS 012326 0058218 INC \RS)




OFARCR MRCYI! 271732
DFKRCR.P11

2568
2563
52

este

2573
254

012230

0107901
012700
075034
10673:
122737
061403
00"‘ i 6?

000264
022700
0Q1403
004767

800265
022701
001403

004767
0CO2es

Q21527
001372

gosals

08-SEP-7§
MUL INSTRUCTION TESTS

125252

000002
000011
004028

165252
oo4012

10C000

00377

00C25e

18:20 PRGE 7!

A9+ %0
38PSWORD

PC,SHLT
. +10
PC,SHLY

PC,SHLT

(RS), 8252
1§

GOB

ll!l*illii!ill!ll!!l!ilillll!lﬂlilli!!ii‘li!l!'l'!li!*i!!!i!il!*li*ili**

: TEST: 252
iiiii!iii!!l*!l!l**!lilli*i***ll**i!il!i*ll*ililiiiil*l!l*lill{ll!ii

TST252: SCOPE

125252 * J(4)+ = 16522 100000

8125852 “0 LOR? HULTIP&égQNO WITH 128252
MUL IPLY 125252 # d(4)+
OI}OGIPSNORD IS PS 11
; SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG
8165252, %0 : IS HIGH ORDER = 165252
; SEEN AN ERROR, GO TO TH HALT ROUTINE

;HIGH ORDER IS’ WRONG

li?%ﬂﬂO,ZO!l ; IS LOW ORDER = 10C0O00

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

-IF IN WRONG SEQUENCE GO TC THE HLT ASOVE




DFNACR MACYL! 271738!

DFKRCA
gsg?
E?ag

2609

Pl

012466
012470

18:
MUL INSTRUCTION TEST

000267
022700
001403
004767

000270
022701
001403

004787

Qe027

Q2isSe?
001372
008215

08-SEP
2

125es2

000002
000011
003734

165252
003720

100000
003704

00C2s3

)

ggceeo2

HOG

CEBREREREENERI I3 03223 T 06300000 3006203030 3000 3020 30 00 06 3 36 06 0 36 01 30 3% 3 36 3% 3 % 3 4 %

1 TEST: 283 MUL 125252 # J-(4) = 165252 100000 PS = 11
TERRERERRERFRAREEREREREEERRREHARRSRERRERERERERRIRSRIE AR R RRRREE R

TSTES3: SCOPE
MOV

8125252, %0 :LORD MULTIPLICAND WITH 125252
MUL 3-(41 %0 *MULTIPLY 125252 # 3-(4)
MFPS  J#PSWORD :SAVE PS
ggga sl A8PSWORD ;IS PS = 11
JSR BC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
267 :PS IS WRONG
828 ci?gasa,zo : 15 HIGH ORDER = 165252
JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
270 *HIGH ORDER IS WRONG
CMP $100000,%3!'1 ;IS LOW ORDER = 100000
s BEQ .+10

) JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
271 :LOW ORDER IS WRONG OR WRONG SEGUENCE
CHP (RS), #8253
§g§ %35) :IF IN WRONG SEQUENCE GO TC THE HLT RSOVE

" :




DFKACR MRCY!1 27(732)
DIV INSTRUCTION TESTS

DFKRCA.P11

eb36 0la51IM

sl Bisels

2639 (012526
b0 012532

gb42 012536
2643 012544
2644 012546
gt4b 012552
2648 012554
2e49 012560
2650 012562

gbSe 012586

2857

2658 012602
2659 (12604
2660 012610
266l O0l2kl2
2bbe

2663 012516
2584 0l2eel

010;06
315781
071027
106737

122737
001403
004767

000e72

022700
001403
004767

000273

022701
001403
0047867

000274
021527
001403
004767

00027S
00s215

08-SEP-76

RaRRRY

000002
000002

000000
003634

000002
003620

000000

002604

000es4
003570

0003J0e

¥

18:20 PAGE 73

106

o SHIEEIR I I3 30 30000 3 0030 30 30 30 338 96 36 3t 46 9 36 3 3 3 B

: DIV INSTRUCTION TESTS
DRI I I IR I I I IO IR0 I 0 3

SHERNTERIIIEE RN RT3 33 33030 30 0030 36 303898 96 3 36 36 30 36 36 9 36 36 6 3 3 3 36 3 3 3 36 36 3 38 38 36 96 36 % 3% 3 %

s TEST: 254

D1v

C4/982=2 REM = O PS = 0

!liii*ii!*!ii*!!*iilll!i***i!i**ii*ii**i!**!***l**!*******!!*ii*i*fi

TST254: SCOPE
MOV

NV
DIV
MFPS

CMPB
BEQ
JSR
272
cHP
BEQ
JSR
273

CMP

80, % H R W TH o

I L8 8 PEeHoRoeR !

PE DIVIDE BY #2

38PSWORD snvs PS

sulacPSNORD sISPS =0

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

sglxu : 1S QUOTIENT = 2

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

a91/0+1 .15 REMAINDER = 0

PC,EHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
:WRONG REMAINDER

(RS) #8254
:IF IN WRONG seouswcs GO TO THE HLT

pc SHL' :SEEN AN ERROR, GO T0 TH HALT ROLTINE
TEST IS IN NRbNh SEQUENCE

(RS)




JOb

DFKRCA MACY!!l 27(732) 08-SEP-76 18:20 PAGE 74

DFKRCA.P11 DIV INSTRUCTION TESTS
566 H 93696 3696 9 3 3 9 36 3 3 36 3 36 36 % 3 % 3 36 3 3 3 9 3 3 3 3 39 5% 3 U 36 3 3 36 3 96 3 9 3 9 3 3 3 36 3 3 06 9 3 9 3698 3 34 3 3% 3 % 3% % % 3
£6 *TEST: 255 DIV -1-9. /43 = -3 REM = 0O PS = 10
gggg H 36 33 363 3 38 96 36 3 36 3 3 3 36 3 3 9 3 38 3 3 3 96 3 4 36 3 -3 36 3 3 3 3 3 9 3 5 33 36 3 3 3 X 5 5 3% 3% % 3% 3 % % %% %% E % ER
2670 Ol2e22 010701 TST255: SCOPE
2671 012624 012702 177777 MOV 8-1,%2 :LOAD HIGH ORDER WITH -1
>2 012630 012703 177767 MOV $-9.  72+1 :LORD LOW ORDER WITH -9,
2673 012634 071227 000003 DIV 83 %2 +DIVIDE BY #3
ggzz 012640 106737 000002 MFPS  J#PSWORD :SAVE PS
2676 012644 122737 000010 000002 CMPB  #10,2%PSWORD ;IS PS = 10
2677 012652 1001403 BEQ +10
2678 012654 004767 003526 ISR PC,SHLT :SEEN AN ERROR, GG TO TH HALT ROUTINE
2679 1PS IS WRCNG
sgg? 012660 000278 276
2682 0l2eb2 022702 17777% CMP -3, %2 =15 QUOTIENT = -3
o683 012666 001403 BEQ L+10
o684 012670 004767 003512 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
2685 :QUOTIENT IS WAONG
ggsg 012674 000277 277
2688 012676 022703 000000 CMP 80, %2+1 + 1S REMRINDER = 0
2689 012702 0CI403 BEQ .+10
2630 012704 004767 003476 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2691 : IRONG REMAINDER
2692 012710 000300 300
2693 012712 021527 000255 CHP (RS), #255
2694 012716 001403 BEQ .+10 :IF IN WRONG SEQUENCE GC TO THE HLT
2695 012720 004767 003462 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
269 : TEST IS IN WRONG SEQUENCE
3£67 012724 000301 301
2898 0l2r2e 005215 INC (R5)




DFKRCR MACY!l 271732)

DFKRCA.P11

2:00
2701

DIV INSTRUCTION TESTS

KO6

08-SEP-76 18:20 PARGE 75

SRR I I3 063 00303 000 00 3 0636 3 3038 90 36 0098 36 06 38 90 30 06 36 36 3 36 36 36 0 48 36 30 90 30 3 36 3 3 36 36 30 34 38 36 38 3 30 3 3% 3 3% %

; TEST: 256 DIV 09. 78 =¥ REM = | PS=0
§ IR HHHEHHHEHEEEHHE R 1%

8708
2704
er0s
2706
2707

Pt Pt Pt s Prma Poa P (I (D
oun.Lwh— 000

i dad et lnt lnt lnt InX Il bl |

UM NIVVrY

2r1?

012770

012772
012776
013000

013004

013006
013012
013014

013020
013022
013024
013030
013032

013036
013040

000302

022704
001403
004767

000303

022705
001403
0C4767

000304
010105
0215¢7
001403
004767

000305
005215

000000
000011
000002
000002
000000

003418

000004
003402

000001
003366

000256
003350

000002

TST256: SCOPE
MOV

RS,R1 :SAVE RS

MOV 0] 74 +{0AD HIGH ORDER WITH O

MOV 89, 7441 :LOAD LOW ORDER WITH 9.

CIV R ;ogvgng 8Y 2

MFPS  2#PSWORD :SAVE PS

CMPB %0, 3%PSWORD 1S PS = 0

BEQ .+10

ISR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
‘PS IS WRONG

302

CMP 84, 5 : IS QUOTIENT = 4

BEQ .+10

JSR PC,ShLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
QUOTIENT IS WRONG

303

ggg '113"‘1 : 1S REMAINDER = 1

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

<04 :WPONG REMAINDER

MOV R1,RS :RESTORE RS

CMP (RS), #256

BEQ .410 :IF IN WRONG SEQUENCE GO TO THE HLT

ISR C,BHLT :SEEN AN ERRCR, GO 70 TH MALT ROUTINE

205 :TEST 1S IN WRONG SEQUENCE

INC (RS)




DFKARCA MACYIl 27(732)

DFKRCR.P11
2736
3237
7
gzig
7890 013042
2’4l 013044
e742 013050
2743 013054
2744 013060
745
2746 013064
2747 013072
2748 013074
2749
27S0 013100
2751
g7s2 013102
2753 013105
7s4 013110
2758

~J

o

[#% ]
OO0 O0Oo0o0o o000
bobes o babobe oo pe
W W WL
[ Y o g wr N Wy st ard
££ LWoWw LU
oL OoOonno

010701
012700
012701
071027
106737

182737
201403
004767

060306

022700
001403
004767

000307

022701
0C1403
004767

000310
021527
001403
004767

000311
005215

08-SEP-76 18:20 PAGE 76
DIV INSTRUCTION TESTS

172777
177767
00ca02
goooge
000010

003306

177774
303272

1727727

003256

000257
003c42

000002

LO6

CRRREERRER RN TN I 033000003 203000 363 30 46 0630 30 36 30 30 30 36 96 30 38 36 30 0 3% 36 3 3 3 3 3 3 3 3 % 3 %

s TEST: 257

DIV -1

-9. /7 82 = -4 REM = -] PS = 10

5 P33 30 3000 06 0 30 330 00 30 30 4030 30 00 30 00 030 3006 0030 3090 30 30 00 30 30 30 38 36 06 36 06 36 36 90 30 6 36 38 30 36 00 036 36 30 90 90 3 36 30 30 06 0 3¢ 3¢

TST257: SCOPE
MOV
MOV
DIV
MFPS

CMPB
BEG
JSR
306
cMP
BEG
JSR
307

CHP

s-1,%0
8-9.,%0+]
82 70
J8PSWORD
#10
+10
PC,SHLT

8-4,%0
.+l
PC,SHLT

#-1,7%0+1
.+l
PC,SHLT

(RS), 4257
.+10
PC,SHLT

(RS)

:LOAD HIGH ORDER WITH -1
+LORD LOW ORDER WITH -9.
sDIVIDCE BY #¢

:SAVE PS

29PSWORD ;IS PS = 10

; SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

; IS QUOTIENT = -4

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

; IS REMAINDER = -1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER

:IF IN WRONG SEQUENCE GO TO THE HLT
:SEEN AN ERROR, GO TO TH MALT ROUTINE
:TEST IS IN WRONG SEQUENCE




OFKRCA
OFKRCR

g77

MACY!! 271732)

Pl1

013210
013214
013216

013222

013224
013230
013232

013236
013240
013244
013246

013252
0i3c54

010701
012702
012703
071227
106737

122737
J01403
004767

0og3l2

022702
001403
004787

000313

022703
Co14C3
004767

000314
021527
001403
004767

000315
005215

08-SEP-7S 18:20 PAGE 77
DIV INSTRUCTION TESTS

000000
000002
177775
000002
000004

003200

000000
003164

000002

003150

000260
00313+

000002

MOG&

CRERERRRERERFREXFRERERRRRRRERERE R RN TR RE RN 2303 5% %3422 %% %

DIV 02/ 8-3=0 REM = 2 PS = 4
DIEREREE IR R R R R R A AR R R R R 1Y

; TEST: 260

TST280: SCOPE
MOV
MOV
DIV
MFPS
CMPB
BEQ
JSR
3ie
cHP
BEQ
JSR
313
CMP
JSR

%0, %2 :LORD HIGH ORDER WITH O

82 72+1 'LOAD LOW ORDER WITH @

8-3 %2 :DIVIDE BY #-3

J8PSWORD :SAVE PS

o:lgapsuono IS PS = 4

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

'Eléa + 1S QUOTIENT = O

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

u§162+1 : 1S REMAINDER = 2

PC, HLT SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER

(RS), #260

.+10 :IF IN WRONG SEQUENCE GO TO THE HLT

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)




DFRACA MACYL! 2T\P32)

DFKRCR.PL!
2804

01
0l
2810 0!
01
0l

PP Y
(salsaloitosTesloaldaloaT oo
s Pt Pt Pt Pt Pt Pt Pt s
OO~ UN.LWIur-

(]

P

W

W

o

n

013316

013320
013324
013326

01333¢

013334
013340
013342

013346
013350
013352
013356
013360

013364
013386

nun
o
nn
-0

122737
001403
004787

000316

022704
001403
004767

000317

022705
001403
004767

000320
0101G5
021527
001403
004767

000321
005215

08-SEP-76  18:20 PRGE 78
DIV INSTRUCTION TESTS

177777
177776
000003
000002
000004

003070

000000
003054

177776
003040

000261
003022

000002

2322322222222 2232222282322 222222232222 2222222222232 22222222282

:TEST: bl
PEERRRRERRREERRRERHREIRHERA IR AR R AL R IR R LR R R R

TST26!:

SCOPE
MOV

MOV
MOV
DIV
MFPS

ChMPB
SEG
JSR
3ib

cMP

DIV

RS, Rl
s-1, 74
8-2, 7441
83, %4
J$PSWORD

#4, J#PSWORD

.+10
PC,SHLT

20, 74
.+10
PC,8hLT

#=-2.%Y4+]
41

PC, SHLT
R1,RS
(RS), #261
.+10
PC,SHLT

(RS)

-] -2/ 43

=0 REM = -2 PS =M

;SAVE RS

:LOAD HIGH ORDER WITH -1
+LORD LOW ORDER WITH -2
;DIVIDE BY #3

;SAVE PS

;ISPS = §
:SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

;IS QUOTIENT = 0O

+SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

;1S REMAINDER = -2

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER

;RESTORE RS
; IF_IN WRONG SEQUENCE GO TO THE HLT

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST 1S IN WRONG SEQUENCE




L IN"
OFKRCR.FLL
2343
294}
2842
2343
2844 013270
2845 L1337
2948 01337
284" 013402
€848 (13406
2849
2850 Ol3sie
851 013420
2852 Q1322
2353
2854 Cl13426
)
2856 Q013430
2857 Q13434
2858 013436
2859
2860 Dl34ve
2861
28362 Q13444
e863 013480
28964 Q13452
2885
2866 013456
2967 013460
e8 (13464
2869 (13466
2071 Q13%72
=872 JI34T4

b — -

MRJYIL 2T.F3

08-SEP-TE  18:20 PRGE 79

DIV INSTRUSTION TESTS

004787

gCl328
<8218

BO7 )

(AR R R R R RN R R AR R R R R RS R AR R R R RN RN AR RN AN BB EPRER IR RS SRS LR R DR

+TEST: 262

DIV -1

-l 7 84l = -} REM = C PS = 10

IRRERRRRRREFRERRRERRRFRERRRRRRFRRERERR R RFRERREREREA SRR RERERER R RS

TST262: SCOPE
MOV

17707

177707 MOV
00C00! olv
000002 MFPS
000210 0J000C2 CMPB
SEQ

002780 JSR
322

177277 cup
8EQ

202744 JSR
323

000000 cMP
BEQ

0JeT32 JSR
' 324
000282 CMP
BEQ

002714 JER
328

INC

8-1.%0
#-1,%0+]
8l.%0
38PSWORD

810, 38PSWORD

e
PC.SHLT

.-1 :'OQ

.+l
PC.SHLT

8C,%J+l
.+l
PC,3H.T

(RS), #2862
.+.0
PCLEMLT

(]S

sLORD MIGH ORDER WITH -1
<LORD LOW ORDER WITH -1
:DIVICE BY 8}

:SAVE PS

:15 PS = 10
:SEEN AN ERRCR, GO TO TH HALT ROUTINE
:PS IS WRING

:15 QUOTIENT = -]

:SEEN AN ERROR, GO TO TH WALT ROUTINE
+QUCTIENT IS WRONG

:1S REMRINDER = 0

:SEEN AN ERROR, GO TO TH WALT ROUTINE
:RONG REMAINDER

: F IN WRONG SEQUENCE 3C TC THE MLT
:SEEN AN ERROR, 50 TO TH HALT ROUTINE
:TEST IS IN WRONG SEGQUENCE




OFRRCA MACYil
OFKRCR.PLL

2374

2378

285

ESLf

2578 Q13478

2873 013500

2880 013504

2881 013510

2882 013514

2393

£984 013520

c885 013536

2886 013532

2887

2888 (13834

2989

2930 Q0135836

2891 013542

289 013844

2893

2894 013550

2895

28% 013552

€297 (13556

2898 013560

2839

29CC 0213564

2901 (136kE
013572

2903 013574

2924

2905 013e00

2306 Ci363z

b

2hir3d}

004787
000328
022700
001493
004767

000327

00C33.!
Dgs215

08-SEP-
DIV INSTRUCTION TES

000CO4
002632

ocoacs
J0263e

00000C

0C2eee

000263
002608

5

ca7

18:20 PAGE 80
STS

$33a2T2T1ILL TRISTILILLITATALSLZLILLISLRISLIZLAL LT ZLLILTIILILLI SIS 22222 2}

+TEST:283 DIV 00 /8l =0 REM = O PS=4
TRERARERRE PR ARERRRRRRRRRRRRERRRESRRERRRRRREERRRRRRRRRERRRRRRSRLA R RS

TST263: g gad®

e %0, %0 :LOAD HIGH ORDER WITH O

MOV 80, %0+] :LORD LOW ORDER WITH O

olv 81.%0 +DIVICE BY sl

MFPS  28PSWIRD :SAVE PS

CMPE 4, 38FSWORD 15 FS = Y4

BEQ .+10

ISR PC,SHLT -SEEN AN ERROR, G0 TO TH MALT ROUTINE
:PS 15 WRING

326

CMP 83,40 15 GUOTIENT = 3

8EQ .+10

ISR PC,SHLT :SEEN AN ERROR, GO T0 TH MALT ROUTINE
:QUCTIENT 1S WRONG

327

EES o9130+1 :1S REMRINDER = 0

JSR PC,SHLT SEEN AN ERRCR, GO TO TH HALT ROUTINE
: IRONG REMAINDER

Sip (BE), 4263 ‘

BEQ 4 +1F IN WRONG SEQUENCE SC TO THE WLT

JSR PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROLTINE
:TEST IS TN WRONG SEQUENZE

331

INS (RS




CENRCR.PIL

:mmmmngrum
M) DD DO D DD LD
Bt Pt Pome s $ot Bt o B0 P—o
OO U LW
o
[ ==

(4

2335 Ll
36

—ch e

!

CFRACA Madyll 2T T3

182737
01403
004787
000332
022702
CO14C3
004767
000333
022703
CC14C3
004767

000334

004767

000335
£os21s

08-SEP-75  18:20 PAGE 81
IV INSTRUCTION TESTS

177277

125252

000010
002544

152525
202530

00coca

002514

000264
C32500

0900¢s2

DO7

(RRRERR RN R RN RN AR RN RN RN ER RN ERR A RSN R DR AP LSRR RS RS HL LSS R B4

: TEST: 264

)4 -1

125252 7 w2 = 152525 REM = 0 PS = T

RRRRREREREFEREREEARRERFRRELERRRRFRERRRRAERRRRERRERERRERABELRERPRDESS

TST264: SCOPE
MOV
10V
Olv
MFPS
CMPB
8EG
JSR
33¢
cMP
SEQ
JSR
333
CHP
JSR

;LORD HIGH ORDER WITH -1

8-1, %2 ;
#126252,%2+1  ;LOAD LOW ORDER WITH 125252

82, %2 :DIVICE BY #2

J8PSWORD :SAVE PS

01? S8PSWORD IS PS = 10

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

si§ssas,za 1S QUOTIENT = 152525

PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTIME
' QUOTIENT IS WAONG

'9132’1 .15 REMAINDER = 0

PC,HLT -SEEN AN ERROR, GO TO TH HALT ROUTINE

(RS), 8264
.+10
PC,SHLT

(RS)

WRONG REMAINDER

+IF IN WRONG SEQUENCE GG TO THE HLT
:SEEN AN ERRCR, GO TO TH WALT ROLTINE
:TEST IS IN WRONG SESUENCE




P Pro oo 0t Pt Pt Pt P>

013766

013770
01374
013775

014002
14004
014006
0i4012
0140i4

£14020

L1<Cz2

EQ?7

CFARCR MACYLL 27732 (08-SEP-T& 18:20 PRGE 82
DFkRCH.PIL

DIV INSTRUCTION TESTS
DERRERERERHE RIS R R B E R IR

: TEST: 265 DIV -1 -1/ 81 =1 REM = 0 PS = 0
;lli!ilﬂllllil!!!iii!l!li'll!l!iliil*!il!*!l’*i*!!lli!li*liiiliii*ll**i

010701 TST265: SCOPE

610501 MOV RS, Rl -SAYE RS

012704 177777 MoV e-luy ;LOAD HIGH ORDER WITH -1

012705 17707 MOV -1 7441 :LOAD LOW ORDER WITH -1

071427 177777 DIV g-1 %4 :0IVIDE BY #-1

1Ce737 000002 " MFPS  asPSWORD :SAVE PS

122737 000000 000002 CMPB 80, 38PSWORD :ISPS =0

091403 SEQ .+10

004767 002434 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT RGUTINE
:PS IS WRONG

000336 338

022704 009001 CHP sl 74 : 1S QUOTIENT = |

001403 EEQ .+10 _

004767 002420 TSR PC,SMLT sSEEN AN ERROR, GO TO TH MALT ROUTINE
:QUOTIENT IS WRONG

000337 337

022705 050000 CMP 80, V441 :1S REMAINDER = 0

001403 BEQ .+10

004767 002404 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
: WNRONG REMARINDER

000340 340

010105 MOV R1,RS :RESTORE RS

021827 000265 CMP (RS), 8265

001403 BEQ .+10 :TF IN WRONG SEQUENCE GO TO THE HLT

Q04767 002386 ISR PC,SH.T :SEEN AN ERROR, GO YO TH HALT ROUTINE

000341 341 :TEST 1S IN WRONG SEGUENCE

goszis INC (RS)
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DFKACR.P11 DIV INSTRUCTION TESTS

2978 RERERRRRERRRAREREREEERERERERRRERRRRREERARERRLRBRESRERENRREEEEEEEEE L %%

297 s TEST: 266 DIV 25253 1 / 8125252 = 100000 REM = | PS = 10
gg? CEREERRNREERREERFRRRERRR RS RRERNRRSRRRRERRRFERRRERRREREERR RN RRLRBRRE

2382 014024 010701 TST266: SCOPE _

2983 014026 012700 025253 MOV 25253, %0 ;LOAD HIGH ORDER WITH 25253

2984 014032 012701 0OOCCl MOV a1, 70+! :LOAD LOW ORDER WITH |

2985 014036 071027 125252 DIV 8125252, %0 'DIVIDE BY 8125252

533? 014042 106737 000002 MFPS  2sPSWORD :SAVE PS

2988 0I4046 122737 000010 000002 CMPB  #10,3PSWORD ;IS PS = 10

£989 014054 201403 BEQ  .+18

3330 014055 004767 002324 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2951 ;PS IS WRONG

5335 014062 000342 42

2994 Q14064 022700 100000 CMP #100000, %0 ;1S QUOTIENT = 100000

2995 Q14070 06I403 BEQ L +10

299% Q14072 004767 002310 ISR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2997 :QUOTIENT IS WRONG

gggg 014076 000343 43

3000 014100 022701 000001 CHP 81, %0+1 : 1S REMAINDER = 1

3001 014104 QCINC3 BEQ .+10

3002 OI4106 004767 002274 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3003 _ s WRONG REMAINDER

2004 0I4112 000344 344

3005 Ol4114 021527 000266 CMP (RS), 8266

3006 014120 001403 BEQ . +10 s IF_IN WRONG SEQUENCE GO TO THE HLY
3007 Ol4122 004767 002260 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT RCUTINE
3908 :TEST IS IN WRONG SEQUENCE

3009 Q14126 000345 345 ,

3010 2i4i3C 008218 ING (RS)




DFRRCA MRCYLL 27732}

DFKRCR.PLL

14134
14140
014144
3020 0l4i50

3022 OLl41sM
3023 0l4le2
3024 0l4lsd4

3026 O0I4170

3028 Ql4l7e
3029 014176
3030 014200

014204

3034 014206
3035 014212
3036 Ol4214
3037

3038 014220
3C39 Ql4222
3040 Qlu2eh
3041 014230

3043 Cl4234
044 014236

4
S
& 014132
7
8
9

b o i ——— ————— . ——

010701

915788
071227
106737

122737
01403
004767

000346

02e702
001403
004767

000347

022703
001403
004767

000350
Q21527
001403
004767

0C03S1
00s218

08-SEP-75 18:20 PAGE 84
DIV INSTRUCTION TESTS

8 7777
7777
Q77?277
000002
000acs

002216

Q7?2777
802202

077776
002186

000267
0C2ise

000002

GO7

SR IR I3 I I3 063038 3030 3006 30 3 3 330 30 3030 3 06 30 9 36 30 3 3636 3 36 36 3 3030 3 303096 36 364 36 36 30 30 36 0 3030 S0 30 34 38 30 20 £ %

s TEST: 267

DIV 37777 77777 / w77777 = 77777 REM = 77776

s IR NI I I3 303 I 03303 30 I 30 3020 3 302 36 30 30 00 36 36 36 96 3 36 3 36 N 39 36 36 % 36 3 3 3 3% 36 3 3 % 3 % 4% 9 % 3 % 36 3 3% %

TST267: SCOPE
MOV

HQV
DIV
KFPS

CMPB
BEQ
JSR

346

cHpP
8EQ
JSR

347

cHP
BEQ
JSR

350
cHP
BEG
JER

351
INC

0;7777.25 ;LORD HIGH ORDER WITH 37777
. e+l

7277, % :LOAD LOW ORDER WITH 77777
877777, %2 :DIVIDE BY 877777
J8PSWORD :SAVE PS
ogigapsuoao IS PS =0
PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
:PS 15 WRONG
n3§g7r.za : 1S QUOTIENT = 77777
PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE

:QUOTIENT IS WRONG

nzig?e,ze+1 ;IS REMAINDER = 77776
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
s WRONG REMAINDER

(RS), %267

.+10 :IF IN WRONG SEQUENCE GO TO THE HLT

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)

PS

g




HO?7 X
08-SEP-To 18:20 PAGE 85

OFnACA MACYL! 27 '."32)
1l INSTRUCTION TESTS ‘

\
DFRRCRA.P DIV
30‘46 i*i**ii*ili***iill!*!l**l***ll*l-i*ii*l**i*&i!}ll*li!*i****iilil!il*
3047 s TEST: 270 DIV 0 100000 / %2 = 40000 REM = G PS = 0
:330‘48 . lliiii'lll!!!!!!!il{!!li*l!il'li!!l!!!'l!!ili!!i!l!!li*!*!liilii!i*!i**
049
3050 014240 010701 15T270: SCOPE
3051 Dl4242 610501 MOV RS.R] -SAVE RS
3052 Oi4avq 012704 000000 MOV 80 7y :LOAD HIGH ORDER WITH O
3053 Ql4250 012705 100000 MOV uMmmx :LOAD LOW ORDER WITH 100000
3054 Ql4254 OFIN2? 000002 CIv ‘CIVIDE BY #2
gggg 01426C 106737 000002 MFPS aoésuono ' SAVE PS
3057 0Ql4264 122737 000000 500002 CMPE 80, 38PSWCRD IS PS =10
3058 0Ql4272 001403 SEQ +10
3059 014274 004767 002108 JSR PC, SHLY :SEEN AN ERROR, GO TO TH HALT ROUTINE
3060 :PS IS WRONG
3825 014300 000352 352
3063 014302 022704 040000 CMP 40000, %4 . 1S QUOTIENT = 40000
3064 014306 001403 BEQ .+10
3065 014310 004767 0Q2072 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3066 'QUOTIENT IS WRONG
gggg 014314 000353 353
3069 014316 022705 000000 CMP 80 7H4+] :15 REMRINDER = 0
3070 014222 001403 BEQ .+10
3071 014324 004767 002058 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3072 - WRONG REMAINDER
3073 014330 000354 354
3074 014332 010105 MOV R1,RS -RESTORE RS
3075 0I4334 021527 000270 CMP (Rs) 8270
3076 014340 001403 BEQ +IF IN WRONG SEQUENCE GO TO THE HWLT
3077 0i4342 0C4767 002040 ISR PC sn. :SEEN AN ERROR, GO YO TH HALT ROUTINE
307 :TEST 1S IN WRONG SEGUENCE
3073 (Cl434& 000355 355 ,
3085 014380 905215 INC {RG"
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DFAACA. P11 DIV INSTRUCTION TESTS
3082 SRR IR0 3 336 36 96 9630 36 36 36 36 6 3 38 36 3 3 3% 36 96 36 36 3 3 3 6 36 3 3 96 36 3 3 3 3630 36 36 3 36 36 3 3 96 3 3 3 36 38 3 3 36 36 3% o 3 3
3083 :TEST: 271 D1V 177777 77777 7 8177776 = 40000 REM = 177777 PS
gggg : 2 Y 2 I Y Y YIS SR ITIE SIS SSER SIS L
3086 014252 010701 TST271: SCOPE _
3087 014354 012700 177777 MOV %177777, %0 :LOAD HIGH ORDER WITH 177777
3088 014360 012701 077777 MOV 877777 %0+1 s LOAD LOW ORDER WITH 77777
3089 Ol4364 071027 177776 DIV 177776, %0 :DIVIDE BY 8177776
ggg? 014370 106737 000002 MFPS  JsPSWORD :SAVE PS
3082 04374 122737 000OCC 000002 CMPB 80, 3%PSWORD 1S PS = 0
3093 Q14402 201403 BEQ .+ g
30949 014404 DO4767 001776 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3095 :PS 1S WRONG
gggg 014410 000356 356
f
389 81441 852788 Q40000 CMP aqogoo,xo . 1S QUOTIENT = 40000
93 QI4dl 14 BEQ 41
3100 014420 004767 001782 JSR PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
3101 :QUOTIENT IS WRONG
gigg Ol4424 000357 357
3104 Ol4dee 022701 177777 CMP 8177777 ,70+1 + IS REMARINDER = 177777
3105 014432 001403 BEQ .+10
3106 014439 004767 001746 ISR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3107 : WIRONG REMAINDER
3108 014440 000360 360
3109 Q014442 021527 000271 CMP (RS), 8271
3110 0l4446 001403 BEQ .+10 :IF IN WRONG SEQUENCE GC TO THE HLT
3111 OI44S0 004767 001732 ISR PC,SHLT }SEEN AN ERRCR, GO TO TH HALT ROUTINE
3112 :TEST 1S IN WRONG SEQUENCE
3113 014454 000361 36l ,
§§§§ Si448e 005215 INC (RS)




OFKACA MACYL! 2717 32!
DIV INSTRUCTION TESTS

DFKRCR.P1!
3116
3117
3118
3119
3120 014460
3121 014462
3122 Q14466
3123 014472
3124 014478
3125
3126 014502
2127 0I4510
3128 0i45ie
3189
3130 014516
Ji3l
3132 014520
3133 014524
3134 014526
3135
3136 014532
3137
3138 014534
3139 014540
3140 J14542
314
342 014546

01C701
012702
012703
07122?
106737

122737
201403
004787

000362

022702
001403
004767

000383

022703
001403
004767

000364
021527
021403
004767

000365
0052158

08-SEP-76

000000
052525
052525
000002

0000C0
001670

000001
001654

0000C0

001642

000272
00le24

000002

18:20 PRAGE 87

JO7

R332 2232222222222 22322282 2222 222022222232 2222 22222282222

DIV 0 525285 s #525¢S = | REM = 0 PS =0
S I RN R AR R AR ERRRRRRAS

:TEST: 272

TST272: SCOPE
MOV

MOV
DIV

#52525, %2

MFPS  2¥PSWORD

cMPB

BEQ .+10

JSR PC,SHLT

362

CMP 81,72

BEQ .+10

JSR PC, SHLT
4 -

CcMP 80, %2+1

BEQ +lo

ISR PC, SHLT

364

CMP (RS), 8272

BEQ .+10

ISR PC,SHLT

365

INC (RS)

80, 72
#5255, %2+1 :

%0, J#PSWORD ;

.
?
L]
]

.
’
'y
[
’
.
’

.
L
.
’
.
L4

LORD HIGH ORDER WITH C
LOAD LOW ORDER WITH 52525
DIVIDE BY 852525

SAVE PS

IS PS = 0

SEEN AN ERROR, GO TO TH HALT ROUTINE
PS IS WRONG

IS QUOTIENT = |

SEEN AN ERROR, GO TO TH HA_T ROUTINE
QUOTIENT IS WRONG

IS REMAINDER = 0

SEEN AN ERROR, GO TO TH HALT ROUTINE
WRONG REMAINDER

IF IN WRONG SEQUENCE GC TO THE HLT
SEEN AN ERROR, GO TO TH HALT ROUTINE
TEST IS IN WRONG SEQUENCE




OFKACR MACYL! 27:.732)

DFKRCAR.PL!

3150

315]

3152

3153

3154 014Sk6
3155 Q14570
3156 Q14572
3157 014576
3158 Q146
3159 DI460
3160 014612
2161

3162 014620
2163 D14626
3164 014630
3165

3166 014634
3167
3168 DI¥636
3169 014640
3170 014644
3171 Dl4646
3172

3173 014652
3179 014684
3175

122737
001403
004767

000386

010105
021527
001403
004787

QCO3e?
005215

08-SEP-76 18:20 PAGE 88
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000C00
Q7?7277

0000

000083
000014
000003

001552

0C0273
001534

000002
gocoge

KO?7

CHERNRRN RN R IS0 AT 033003 30030 0033363 00 3 2 % 34 ¥

DIV C 77777 s 0 = DUMMY REM = DUMMY PS = 3
S I I NI I I3 I I I I I I 30 I 00T 0 3

: TEST:273

TST273: SCOPE
MOV

MOV
MOV
DIV
MFPS
BIC

cMPB
BEQ
JSR

386

MOV
CHP
BEG
JSR

367
INC

RS,R1 : SAVE n?

0’ %4 :L0AD HYGH ORDER WITH O

877777, 7441 :LORD LOW ORDER WITH 77777

%0, %4 ;DIVéog BY %0

J#PSWORD :SAVE PS

814, J4PSWORD

aglgspsuono IS PS = 3

PC,EHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

R1,RS :RESTORE RS

(RS), %273

.+10 +IF IN WRONG SEQUENCE GO TO THE HLT

PC,SHLT *SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)




DFKACR MRCYI!l 27(732)
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3176
3177

W
[ o
="
W= OJL0a

OO0 ~Noun

G 0D Wt L) G L) W L) () W LD W WL L)
D 0 DD D D100 D 0 D &) 0 0 00 00 00 >
DEBIRR LD ¥

014722

014724
014730
014732

014736
014740

122737
001403
004767

000370
021527
001403
004767

000371
00sels

08-SEP-7& 18:20 PRGE 89
DIV INSTRUCTION TESTS

077777
177777
000002
009002
000014
000002

001464

000274
001450

0000302
000002

LO7

o IR RIR I T NI I I I35 I3 3t 033033000 30 30 36 36 06 36 38 36 36 3% 30 36 36 3 30 36 3 3 3¢ %

s TEST: 274

DIV 77777 177777 / %2 = DUMMY

REM = DUMMY

CRREERRREREREREE TR N TR IERE IR0 300300303333 A 0O 3%

TST274: SCOPE
MOV

MOV
D1V
MFPS
BiC

CMPB

BEQ
JSR

370
cMP
BEQ
JSR

371
INC

877777.%0 :LOAD HIGH ORDER WITH 77777

#177777,7041  :LOAD LOW ORDER WITH 177777

$2,%0 :DIVIDE BY #2

34PSWORD :SAVE PS

#14, 2%PSWORD »

sglgopsuonn 1S PS = 2

PC,SHLTY :SEEN AN ERROR, GO "2 TH HALT ROUTINE
:PS IS WRONG

(RS), 8274 '

.+10 < IF IN WRONG SEQUENCE GO TC THE HLT

PC,SHLT :SEEN AN ERROR, GO TQ TH HALT ROUTINE
:TEST IS IN WRONG SEGUENCE

(RS}

PS

n




DFKACR MACY!! 27(732)

OFKACA.P1!

3200 Ql474e
3201 QlI4746
3232 014752

3208 014756
3209 01476C
3210 014784
321l 014270
3212 014774

3214 015000
3215 015006
3216 015010

3218 015014

3220 015016
3221 01502¢
3222 015024

3224 015030

3226 015032
3227 015036
3228 015040

3230 015044
3231 015046
3232 0i50Se
3233 015054

3235 015060
3236 015062

912702
012703
012704

122737
0014C3
004767

000372

022700
001403
004767

000373

022701
001403
004767

000374
021527
001403
004767

000375
00sz1S

08-SEP-7& 18:20 PAGE 90
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000002
CO004Y
00CO4s

000000
0525285
163050
003002
000000

001372

025252
001356

siajafaie)}

001342

000275
001326

000002

MoV
MOV
MOV

#c, e
59, %3
8510, 74

MO7

R332l 22 a2l ittt el el st st sl ssel et izl s sdlss

DIV 0 52525 s S9 = 25252 REM = | PS =
$ R E R I I IR R RN

:TEST: 275

TST275: SCOPE
MOV
MOV
Olv
MFPS

cMPB
BEQ
JSR

372
CMP
BEQ
JSR
373
cme

BEQ
JSR

;LORD HIGH ORDER WITH O

%0, %0 ;
#50525,%0+1  ;LOAD LOW ORDER WITH 52525

59, %0 -DIVIDE BY 59

3#PSWORD :SAVE PS

uglgupsuono IS PS = 0

PC,SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE
:PS IS WRONG

ag?gsa.zo : 1S QUOTIENT = 25252

PC,SHLT +SEEN AN ERROR, GO TO "4 HALT ROUTINE
:QUOTIENT IS WRONG

'1130+1 - 1S REMAINDER = 1

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:IRONG REMAINDER

(RS), #275

.+10 :IF IN WRONG SEGUENCE GC TO THE HLT

BC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST 1S IN WRONG SEQUENCE

(RS)
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DFKACA.PL1 DIV INSTRUSTION TESTS
3238 SRERERRERTRR IR N T II TR T T3 052663020t 36303 6 3 3 96 33 3 6 6 3 3 4 4 4% 3 % 3 3 % %
3239 :TEST: 276 D1V 0 52525 / aS10 = 252352 REM = | PS =
gg‘iﬂ CREREREREEREREEREEERELEERERREERAEERRREREREREXREEERERERESRRELELELRELRES LS
4]
3242 01S0eM 010701 15T276: SCOPE |
3243 015966 012700 000000 MOV 80, %0 :LOAD HIGH ORDER WITH O
3244 015072 012701 0S2525 MOV 852525, %0+} :LORD LOW ORDER WITH 52525
3245 015076 071077 162744 DIV 2510, %0 sDIVIDE BY 3510
353; 015102 106737 000002 MFPS  28PSWORD :SAVE PS
3248 015106 122737 000000 000002 CMPB 80, 38PSWORD -ISPS = 0
2248 016114 J01403 BEG .+10
3250 Q0i51ie 004767 0O128Y JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
325] 'PS IS WRONG
gggg 015122 000376 376
3284 015124 022700 025252 CMP $25252, %0 : 1S QUOTIENT = 25252
3255 Q15130 001403 BEQ .+10
3286 015132 004767 001250 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
3257 tQUOTIENT IS WRONG
gggg 015136 000377 377
3260 015140 022701 000001 CMP 81, %0+1 : IS REMAINDER = I
3261 015144 001403 BEQ .+l
3262 015146 004767 001234 JSR PC, SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
3263 : KRONG REMAINDER
3264 015152 000400 400
3265 015154 021527 000276 CMP (RS), 276
3266 015160 001403 BEG .+10 :IF IN WRONG SEQUENCE GC TO THME MLT
P67 015162 004767 001220 JSR PC,SHLT :SEEN AN ERROR, GO T0 TH HALT ROUTINE
328 :TEST IS IN WRONG SEQUENCE
3269 015166 0OOMOI 401
3270 015170 005215 INC (RS)
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AFRACR.PLL SIV INSTRUSTION TESTS
3372 (K 2IZITTIIIIZIIIILIIISILLIITILISRISILLIILITIISZRISLRIZILLIZ2LL2 2222222222222,
kEpy s TEST: 277 DIV 0 52525 / 2859 = 25252 REM =1 , PS=¢C
3.33_% : ERRERARCERFRAARPEREBEREERERRERFRREERR R R BERERERRE S PR RN L ERA PRS2 2 S
357 01s:T2 010701 151277 scops
3377 CI1SI74 Ci2700 000000 $0,%0 :LOAD HIGH ORDER WITH O
3278 018300 012701 DS252% nov l:éSES 0+ :L0AD LOW onoea WITH 52525
329 DiEa04 O0ri03° 3003+ DIv 2159, 78 oxvxce BY 2859
ggg? 018210 106737 000002 MFPS acpsﬁono :SAVE PS
3282 015214 122737 Q00000 000002 CMPB 80, 38PSWORD :15 PS5 = 0
3283 (16232 (1403 BEQ .+12
3294 018334 DO4TE7 001156 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3z :PS IS WRONG
gggg 015230 000NQ2 402
=68 01523z Q22707 02Ses: CMP $25252, %0 +1S QUOTIENT = 25252
3299 018236 001403 2EQ +10
3290 15230 004767 G501:42 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3241 :QUOTIENT IS WRONG
3§§§ 015244 000403 403
3594 015246 022701 50000 MP 81,%04] - 1S REMAINDER =
3995 (018352 OCI403 BEQ .+10
9% 018254 004767 001l3% ISR BC,SHLT :SEEN AN ERROR, G0 TO TH HALT ROUTINE
3237 : WRONG REMAINDER
3288 015260 0004 404
3299 G18262 021527 0CO277 CMP (RS), 8277
3300 018366 001403 BEQ .+10 ;IF_IN unouc szoueucs ?o TO THE HLT
3301 018370 004767 0O1l12 1] BC,SHLT :SEEN AN E M HALT ROUTINE
3302 :TEST IS 'N unbnc seogsnce
3303 015274 DOOHOS 4C5
gggg Sifsre ocE38 ING RS

1 _—



NN
OFARCR. P

33c8

32
s
£9

3313
3311
33

opop

(N INTINI AT NN

;t),l'uluo—o-b-o-o -»
fUr—-OWW-~IT N LW

()0 LD (I ILILI LI

o pop—= 9=t bt Pow Ppa Po
Ui gvinunun
Wity W

-

O O OO OoOOO0o
AR A
&

MaoYIl 3T TED

00478
000406

801403
004767
0004 !

205218

32 C8-5EP-TE
DIV INSTRUSTISN TEST

£000¢C0
0Sa2ses

000002
00C2Co
001082

025e52
oC1036

00000!
g010z2

ANNJAN
e

CC1C3e

8:20 PAGE 93
-}

+TEST: 300

cos

(REEERREREERRRAR BN ERFRERRRRBERRRERREARERRERRRT DRAPRERRRRRRRSER L £ %2R

oIV 0 52525 s %@ = 25252 REM = | PS = C
CERRERRERRRFRARRFRRAERRRERAR RN FRRERRRRDRERRR CRRRI RS RRRLR ARSI RS RIS

TST300: SCOPE
MQV

83, %0 :LORD HIGH ORDER WITH O
852525, %041 ;LOAD LOW ORDER WITH 52525

"2 % :DIVIDE BY %@

J8FSWORD :SAVE PS

0 3apsuono .15 S = O

PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

ogfgsa.za : IS QUOTIENT = 25252

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

.£130+x : 1S REMAINDER = 1

PC,SHLT SEEN AN ERRCR, G0 TO TH MALT ROUTINE

: WRONG REMAINDER

(RS, 8200

.+10 :IF IN WRONG SEQUENCE GC TO THE HLT

PC.SHLT :SEEN AN ERRCR, GO TO TH HALT ROLTINE
:TEST IS TN WRONG SEGUENCE

(RS




DFARCR
DFRRCR

3340

MRCY Il 27,732

Pll

- — O
oo L

n
£

D154S4

01545k
015462
015464

018470
g1547¢
015476
015800

015504
CiS50¢

08-SEP-T8
DIV INSTRUCTION TEST

]
88 000000
0l 0S2%28

000007
7 000000
000746

0000322

825e52
004767 000732

0030C!
00CTie

000301
002702

000415
308215

12:20 PRGE 94

DO8

(RERERRSREFRERA R R ERFCRRER R FRRRRERARERRERERERRAFERERRRRRRERE RS S &%

: TEST: 301

DIV

3 52825 7 (3)+ = 25252

REM = 1 PS =C

(ERRERRRRRRFRAR RN ARRERRRRRERERR R AR RRRRRREERERERRRERALERESRERE RS S

TST321: SCOPE
MOV
MOV
Dlv
MFPS
CMPB
BEQ
JSR
412
CMP
SEQ
JSR
413
MP
BEQ
JSR
414

BEG
JSR

415
INC

ORDER WITH O

%0, %0 :LORD HIGH

852525, %0+1 :+LOAD LOW ORDER WITH 52525

(+. 70 :DIVICE BY (3:+

8PSUORD iSAVE PS

cg g:PSHORD 1S PS =0

PC, SHLT +GEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

ngfgsa.zo : 1S QUOTIENT = 25252

PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

a£130+1 : 1S REMAINDER = 1

PC,SHLT :SEEN AN ERRCR, GO TO TH HALT ROUTINE
: NRONG REMAINDER

(RS), 8301

.+13 :IF IN WRONG SEQUENCE GC TO THE HLT

PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN JRONG SEGQUENCE

(RS)




DFRRCR
DERRCR

3374
33°%

ke
3378
337

3380
3381
3382
3383
3384
3385
3386
3387
3338
3393
3390

MRSyl
Pil

015810
015512
015516
015522
015824

015530
018583t
015540

C15544
015546
015552
015554

015580

015562
015566
015570

NS

010701

106737

122737
01403
004767

000416

022700
001403
004767

000417

022701
CC1403
004767

000420
021527
001403
004767

0Co421
25218

08-5EP-T%
DIV INSTRUCTION TES

000000
0S2ses

000002
000000
000&42

028252
0CCket

00gac!

g0Cele

000302
Q00576

00002e

ECS

18:20 PAGE 95
1S

S AAZd IR LIRSS L2 2222222222222 222222222222 2L

«TEST: 302 )Y 0 82525 7 -(3) = 25252 REM = | PS = C
SRRRARERRERF BRI RS ERRAAFREFRIRFRIRAABSRBEERR IR R RIS R RS SRS R R RS

TST302: SCOPE

MOV %0, %0 :LOAD HIGH ORDER WITH O

MOV 852525, °.0+1 :LORD LOW ORDER WITH 52525

DIV -13),%8 :DIVICE BY -(3)

MFPS  28PSWORD :SAVE PS

CMPB 80, 38PSWORD IS PS =0

8EQ 410

ISR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

416

SEE ngfgsa.zo . 1S QUOTIENT = 25252

ISR PC,SHLT :SEEN AN ERROR, GO TO TH HA_T ROUTINE
:QUOTIENT IS WRONG

417

CMP 8], %0+] - 1S REMAINDER = |

BEQ .+10

JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
:URONG REMAINDER

420

CHP (RS), 8302

BEQ +10 :IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTIME
:TEST IS IN WRONG SEQUENCE

INC (RS)




FO8

DFKACA MRCYIl 27:732: 08-SEP-TE 18:20 PRGE 96

DFKRR.P1L1 DIV INSTRUCTION TESTS
3'438 R 2T 2222222222 SR LL22LILLR 2222222222832 22212222222 L
3:0 « TEST: 303 DIV 0 52525 / 2(4) = 25262 REM = | PS = 0
34{ 1 : FRRERRERERBERRRRERR R RN R RT3 5653330333333 453 342 3 4% % #
3412 O0ISEl4 010701 TST303: SCOPE
3413 015616 012700 000000 MOV 80, %0 :LOAD HIGH ORDER WITH 0O
MIY 015622 012701 052525 MOV 852525, %0+ 1 : LORD %ou ORDER WITH 52525
415 015626 071064 000DG2 DIv 24, 70 :DIVICE BY 2(W)
§3§§ 015632 106737 0000G2 MFPS  J8PSWORD :SAVE PS
3418 015636 122737 000000 000002 CMF8 %0, 3%PSWORD 1S PS = 0
3419 015644 J01403 BEQ .+10
3420 015646 004767 000S34 JSR FC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
JEL :PS IS WRONG
g:gg 015652 0QQu22 422

.}
425 015654 022700 025252 CMP 825252, %0 : 1S QUOTIENT = 25252
425 015660 001403 5EQ .+10
3426 015862 004767 00CS20 ISR PC,3HLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
27 :QUOTIENT 1S WRONG
ggsg 015666 000423 423
3430 015670 022701 000001 CMP 81, %0+1 : 15 REMAINOER = 1
3431 015674 001403 BEQ .+10
3432 018676 (004767 0OCSON JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
3433 *WRONG REMAINDER
3434 015702 000424 424
3435 015704 021527 000303 CHP (RS), #303
3436 O0157!0 001493 BEG .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
3437 015712 004767 000870 JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
3+ i TEST IS IN JRONG SEQUENCE
3438 015716 0OCY2S 425
3440 Gis720 005215 INC (RS)




GOS8

CFARCR MACYLIL 271732) _08-SEP-T6 18:20 PRGE 97

OFKACR.P11 DIV INSTRUCTION TESTS
3442 X212 2223222223222 LIS 2L L2LLILLISLLIS LTS 222228282 222
3943 :TEST: 304 DIV 0 52525 / a(4) = 25252 REM = |1 PS = O
g::g : FRCEREEREERERER LR EF LR RE LR LR EEREEERREERER R LERRERERER RS RRESLEE L 5% TS %L
44E 015722 01070l TST304: SCOPE
3447 015724 012700 000000 MOV %0, %0 :LOAD HIGH ORDER WITH O
3448 015730 012701 052525 _ MOV 2852525, %0+1 LOAD LOW ORDER WITH 52525
3448 015734 071074 000000 DIV 3,0 -DIVIDE BY a(4)
gzgg 015740 106737 000002 MFPS  @#PSWORD 1 SAVE PS
3452 OQIS74M 122737 000000 000002 CMPB %0, 38PSWORD 1S PS = 0
3453 015752 001403 BEQ .+10
3484 015754 004767 000426 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3455 :PS IS WRONG
gzgg 015760 000426 428
3458 DIS762 022700 025252 CMP 25252, %0 : 1S QUOTIENT = 25252
3459 0I157e6 OOIMC3 BEQ .+10
3460 015770 004767 00CH12 ISR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
2461 - ;QUOTIENT IS WRONG
gggg 015774 000427 427
3464 015776 022701 000001 CMP 81, %0+1 . 1S REMAINDER = 1
3465 016002 0CIN03 BEQ .+10
3466 016004 004767 000376 JSR FC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
u4E? ' WRONG REMAINDER
3468 016010 000430 430
3469 GI6012 021527 000304 CMP (RS), 8304
3470 016016 001403 BEQ .+10 : IF_IN WRONG SEQUENCE GO TQ THE HLT
3471 016520 004767 000362 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3472 +TEST 1S IN WRONG SEGUENCE
3473 016024 00O43l 431 ,

3474 0ied2e 005215 INC (RS)
3475
e




CFRRCR  MACYL!
OFKkRCR.PLL

3476

§o7

48

3473

3480 016030
481 016332
3482 016036
3483 016042
3484 016044
3485

3490 016064
3492 016066
3493 016072
3494 018074
349%¢ 016100

3498 016102

[y Y oo p—e
oo oo oor
Y e I e ]
() NRYs<r— **52

W

wn

©

()
MO OO0 OO0
o Lo O

> spue

2ot

122737
201403
004767

000432

022700
001403
004767

000433

022701
CC14C3
004767

000434
021527
001403
0Qurs?

000435
005218

08-SEP-

000000
0525825

000002
000000
0003e2

g2sese
000306

000c01

00Ce7e

000305
C00esE

76 18:20 PAGE 98
DIV INSTRIGEN TESTS

HO8

SO It 3 0 063 I3 00 300 3038 3030 06 30 36 06 36 3090 0 36 9 30 30 30 30 6 36 3 3 36 36 3 36 30 3t 36 30 38 36 36 30 36 36 36 3 36 3 30 54 00 30 3 4 %

; TEST: 308

DIV 0 52525 / J(4)+ = 25252 REM = | PS = 1

SRR T30 30 300363 3638 96 30 36 90 36 36 36 30 36 4 36 30 30 30 36 36 36 36 38 36 30 30 96 36 36 6 36 36 3 38 3 6 3¢ 36 30 36 36 96 30 3 30 30 6 96 30 40 3 30 38 3

TST30S: SCOPE
MOV

'U

80,70 :LOAD HIGH ORDER WITH O
852525, %0+1 :LORD LOW ORDER WITH 52525

2(4)+ %0 sDIVIDE BY 3(4)+

33PSWORD :SAVE PS

uglgapsuoao 1S PS = 0

PC, SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
iPS IS WRONG

agfsse,zo .15 QUOTIENT = 25252

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUITIENT 1S WRONG

31130¢1 : 1S REMRINDER = |

PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE

' WRONG REMAINDER

(RS), #305

.+10 :IF IN WRONG SEQUENCE GO TO THE HLT

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)




DFARCR

DFKACR.

3510

B

3514
3518
3516
3517

MRCYIL 27732
DIV INSTRUCTION TESTS

Pll

OO0 000 oOo0
P ps P Pt Pt et P P
oo 0"2':0"0"0"
£
o

016170

0l6l7e
016176
015200

016204

016206
gle2ie
016214

016220
Qlbeee
016226
016230

016234
0ib238

010701
012700
012701
071054
106737

122737
901403
004767

000436

022700
001403
004787

000437

022701
QC1403
0c4767

000440
021527
001403
004767

000441
005215

08-SEP-76

000000
052525

000002
000000
000216

02525¢e
800202

0oooc!

00Cle6

000306
0001Se

0000a2

18:20 F-GE 99

108

22 22 22 22 22 e IR 12 2222222222222 3232222222222 22223 22232222

: TEST: 306

DIV Q 525eS s

J-(4) = 25252 REM =

S =
iii****ii!*l*ll!*il*i*l!*!i!**!lli!ll!!ll**ll**Ii!ii**ill**!l%*li{li

TST306: SCOPE
MOV
MOV
D1V
MFPS

CHPB
BEQ
JSR

436
cmp
BEQ
JSR
437
CMP
BEQ
JSR

%0, %0 sLOAD HIGH ORDER WITH O

usésas v0+1 :LORD LOW oaosn NITH 52525

3=-(3) . %0 :BIVIDE BY a-(

J#PSWORD :SAVE PS

sglaaPSNORD IS PS =0

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

casasa %0 : 1S QUOTIENT = 25252

pc SHLT :GEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WAONG

sil/o+1 : 15 REMMINDER =

PC,SHLT :SEEN AN ERROR, GO TO TH HAT ROUTINE

(RS), 8306
+10’
PC,SHLT

(RS)

: HRONG REMAINDER

:IF IN WRONG SEQUENCE GO TO THE HLT
:SEEN AN ERROR, GO T0 TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE




JO8

DFKRCA MACYL! 27(732) 08-SEP-76 18:20 PAGE 100

DFKACA. P11 DIV INSTRUCTION TESTS
ggqg X 321122222 2222222222322 82 2222222222232 2222282232222 22222
4
gg:& .SBTTL END OF PASS ROUTINE
3548 s *INCREMENT THE PASS NUMBER ($PASS)
3543 :#TYPE “END PASS"
3850 :#]F THERES A MONITOR GO 70 IT
3551 %IF THERE ISN'T JUMP TO BEGIN
3552 :#IF IT IS DESIRED TO HAVE A BELL INDICATE THE "END OF PASS" LOCATION
ggga : k3ENDMG CAN BE CHANGED 10 7.
3555 016240 SEOP:
3556 016240 010701 SCOPE
3557 (lbo42 005267 000070 INC $PASS : INCF _MENT THE PASS NUMBER
3588 016246 042767 100000 000062 BIC #100000, $PASS ,,oon T ALLOW A NEG. NUMBER
3559 Q016254 005327 DEC (FC)+ : 1LO0P?
3560 016256 0000CI SEOPCT: .WORD 1
3561 016260 003024 BGT $DOAGN : YES
352 Qleek2 012737 MOV (PC)+,a(PC)+ i :RESTORE COUNTER
3563 0lbo64 000001 §ENDCT: .WORD 1
3564 016266 016256 $EOPCT
3565 01627C 000004 06340 TYPE SENDMG : : TYPE "END PRSS"
3CE6 016274 3 3700 000042 §GETH2: MOV 2842 RO - 1iGET non;ron ADDRESS
3867 016300 001414 BEQ $DOAGN *:BRANCH IF NO MONITOR
3568 015302 022700 016322 CMP $SENDAD, RO ,,rs MONITOR ACT11?
3569 016306 001005 BNE SENDAD : NO--BRANCH
3570 016310 022760 177777 (CO0OG2 CHP $-1.2(RD) . 'YES--IS THIS THE LAST PASS?
3571 016316 00I00S BNE $DOAGN ; NO=-MAKE_ANOTHER PASS
3572 016320 000005 RESET :CLEAR THE WORLD
3573 016322 004710 $ENDAD: JSR PC, (RO) ,.co 70 MONITOR
3574 016324 000240 NOP : SAVE ROOM
3575 016326 000240 NOP : \FOR
3576 0i6330 000240 NOP ,,nc.11
3577 016332 000137 00000 $COAGN: JMP JUBEGIN { RETURN
¥78 01633 000000 §PASS: .WORD O :NUMBER OF PASSES
3573 016340 G(JSOIS 047105 020104 SENDMG: .ASCII <15 <12>/END Pnsé/
3580 0lb34e 040520 051523
28] 01352 377 377 000 SENULL: .BYTE -1,-1,0 s :NULL CHARACTER STRING
gggg 016356 "EVEN
3584 016264 NOOHO0 ENDCT: 400
=
g%gg : EEERRERECEAEERREEEREREEEREREERREERCEEEREEEREEERER SR EREEREEEES
gggg .SBTTL POWER FAIL ROUTINE
3691 016355 012737 016366 000024 SPWRON: MOV $SPURUP, 3824 :
gggg 6364 000000 HALT

0l
0l
016366 012706 000E00 $PWRUP: MOV SBEGIN,SP ;RESTORE THE SP

3535 0lb3re Oiézar Dledse 000024 MOV_ #SPWRDN, Ju2y A
01 004 000072 TYPE  ,POKER ;GO AND TYPE “POMER
CiE404 000752 BR $DORGN




KO8

OFKACR MACY!! 27(732) (08-SEP-T6 18:20 PAGE 101

DFKRCA.PI11 HALT RJUTINE
3598
3599 1) HALT ROUTINE
3600 '¥  emmmmcmmaeao
3601 ‘¥
3602 ‘¥
3& 3 ¥ PROGRAM COMES HERE ON ENCOUNTERING ANY ERROR
3605 ’

U 3606 Q06 857537 000000 oooogo §HLT: MOV d(SP), IRFFATAL Pan§ THE ERROR NUMBER AT LOCATION $FATAL
3607 016414 032777 020000 161430 BIT 20000, a5KR 'HAS THE OPERATOR ASKED TO SUPRESS ERROR TYPE CUTS
3608 016422 001046 BNE 63
2609 Ol6424 000004 0000&Y TYPE §CRLF :G0 AND TYPE A CR, LF, FOLLOWED BY 3 SPACES
3610 016430 010048 MOV ho -(SP) SAVE RO
36il 016432 112767 000002 16136) MOVE %2 STPCNT :ALLOW TYPE OUTS OF PC AND ERROR NUMBER
3612 016440 016600 000002 MOV atép) RO *BRING THE RETURN PC IN RO
3613 Ole444 162700 000004 SUB RO’

3614 016450 112737 00000 002720 2%: MOVB us RTYPCNT :ALLOW TYPE CUT OF & DIGITS

3615 016456 DOSOH46 CLR - (5P)

3616 018460 000241 43: CLC

3617 Olg462 006100 ROL RO

3618 016464 006116 ROL {SP) sBRING THE C BIT FROM RO IN (SP)

3619 016466 0S2716 000060 BIS #60, (SP) : PREPARE TO TYPE IT OUT

3620 016472 004767 000130 ISR PC,$TPCHR :AND GO TO OUT PUT A CHARACTER

3621 016476 005016 CLR (SP)

3622 016500 006100 ROL RO

3623 016502 006116 ROL (SP)

3624 016504 006100 ROL RO

3605 016506 00611E ROL (SP)

3626 016510 105367 161304 DECB  TYPCNT :HAS ALL THE SIX cnnnncveqs BEEN TYPED °
3627 016514 001361 BNE 4g tIF NOT THEN REPEAT FROM 43

3628 016516 005726 ST (SP)+ {RESTORE STACK POINTER

3629 016520 017600 000002 MOV 32(SP) RO :PREPARE T0 OUT PUT THE ERROR NUMBER
3630 0ieSed 000004 000066 TYPE §CRLF42 G0 AND TYPE 3 SPACES

3631 016530 105367 161265 DECE  $TPCNT :IF BOTH PC AND ERROR NUMBER HAS NOT BSEEN
3632 016534 001345 BNE 23 REPORTED THEN REPEAT FROM 2%

3633 016536 012600 MOV (5P)+,R0 RESTORE RO

3634 016540 105767 161234 BS: TSTB  SENV :IF WE ARE NOT UNDER APT. THEN GO TO
3635 016544 001403 BEQ 83 18§

3636 O0l6E46 005237 000000 INC JREMSGTY :OTHERWISE INFORM APT. ABOUT SEEING THE ERROR
3637 815552 000777 BR ] :AND LOOP

328 DIEESY 005777 161272 8%: ST dSWR ;IS IT REOUIRED TO HALT ON ERROR ?

3639 016560 100001 BPL 108 - IF NOT THEN GO TO 108

3640 016562 000000 HALT

3641 016564 062716 000002 10%:  ADD 82, (SP) RDJUST THE RETURN ADDRESS

3e42 018570 0600207 RTS PC :AND R




DFKACA MACY1!

DFKACA.P11
43
Wy
3645
3646
%47
R
3650
38) Qigs72
352 016574
3653 016600
2654 016602
3655 016604
3656 016606
3857 C166)0
3c58 OIEELY
3653
3660 SIB61E
ATy 0lebee
3662 016624
3663
U 3664 016626
3665 016634
3eee 016636
3667 DISEHE
36e8 016644
363 016652

27(732)
RSCI

004767
005726
000765

132737
0G1006

000301

0000C2

000002

000004

000040 C00C0G

161220
000002 1E1208

4$:

STPCHR:

2%:

4%:
.END

- 18:20 PAGE 102
Z T\ig §$ ROUTINE

MV
MOV
MOVB
BNE
TS7T
MOV
RDD
RTI

JSR
187
BR

BIT8
BNE
TST8
BPL
MOVB
RTS

LO8

PC,$TPCHR
(S P)+

3

#40, JABENVM
4§

I$TPS

%)
2(SP),387PB
PC

;SAVE RO

:GET THE ADDRESS OF THE ASSCIZ STRING
;PUSH THE CHARACTER_TQ BE TYPED ONTO STACK
:BRANCH IF IT IS NOT THE TERMINATOR

; OTHERWISE RESTORE THE STACK AND RO
:ADJUST THE RETURN P
s AND RETURN

:GO _TO TYPE A CHARACTER
:RESTORE THE STACK POINTER
;AND RETURN TO 2%

;HAS THE CONSOLE OUTPUTS BEEN SUPPRESSED?

s IF SO THEN RETURN FROM THE SUBROUTINE VIR 4%
;1S THE PRINTER AVAILABLE”

s IF_NOT_THEN LOOP HERE

:0UT PUT THE CHARACTER




DFKACA MACY!! 27.732) (08-SEP-7%

DFKRCR.PL1

A = 016356
BEGIN  00C6J0
COUNT 0030000

DISPLA 0OOCSH
DISPRE 0OOITY
DUAMY = 000000
ENDCT ~ 016264
ENTI®6 005016
ENTS!  00241C
ERRNN = 000442

F = 003083

CROSS REFERENCE TARBLE --

3S84s
41§
363%
E3b*
3928
409%
3398

35844

1223
716
J408%
562
4t

18:20 PAGE 104
USER SYMBOLS

3585
419
364
g43

1243
1230%

3420

34694

3528
730

Y22
420*
992

1271

3128
3192
3256
33044
3364
34238
3471
3531 %
7558

3577
Heo*
1017%

1300

466
5728
746
824s
315
10174
1076
12538
1312
13728

MO8

4a7x 504
10s2¢ 1074
1357 138

434 497w

8008  BOY

765 8%

8438 846

21 924s
1083s 1026
1104 1107w
1256% 1260
1318 13218
1377¢ 1393
1450 14538
15028 1513
1581  1584s
IE46N 1648
1710 1713#
17754 1778
1850  1853#
13l2s 1928
1987 19908
2049  205]
2110 2113w
21728 2178
2239 2237
22368 2312
2375  2378s
24368 2438
2436 24998
25578 2560
2618 2621
26878 2690
2798 27518
2797¢ 2799
2858  28bis
2906 2920
2967 23708
3027¢ 3030
3077 30808
3137 3140
3216 32199
32658 3267
3324 33278
33728 338
3432 3435
43I 3434
3539 3542

830s 8554

g31*
1107%

1415

S0l

~No"
~NO
—=J

=

8498

WO 00
g » = ®- = t "

a'-fru»-tnr—a'»-mmmc‘o‘

— = 30 O NN NUT LW NDe—

NIV NU = b h—s ps s s s Pt P 0 Pct Pt Bt Pt
~e— o Lo

Ss

SES#

s72

600+

eC8




DFKkRCA MACYLI! 27.732)
DFkRCR.P11

N = 000307

NEGRT  002Ci0
PC =%0000307

POWER 030072
PSWOPD 000002

REGO! 003432
REG) 001030
REG2 001i7e
REG23 003634
REG3 001334
REGH 001474
REGYS 004032

18:20 PAGE I0S

08-SEP-76
13:2: {238
0%
13338 13924
23328 2336
256k 27008
31168 3150s
3S:108  3544s
481 §iS
3438 459»
97 60Y*
708% 714
846 # B55#
1026% 1032*
1260% 1278%
1393 1398»
18192  ]1S2u4#
1648%  1H6G4%
1778x 1810%
1928%  1933%
20S1® 2057%
2175% 2193%
2312% 2317#%
2438%  2444x
2560x 257B%
2690%  2B9S#k
279%% 2817%
2920% 2926%
3030 3036%
3140%  314S#
3267%  3284#
3386* 3392+
3494  3500%
3669%
3978 3596
3654 366
631 737*
887 % 888
1102 1247%
1419% 1420
1610 1640%
183e% 1837
2015 2043
2220% 22l
2402 2430%
eb04*  260S
2815 c848*
30SS* 3057
3214 3c4b*
3450% 3452
10008 1136
480 4834
514 Cl7%
1043 10468
g48 EGls
g8e Sess
1087 1090#

12668

2h3ha

23654
27364
31768

549

Heb*
B20#*
713
871%
1059#%
1283%
1404 %
1S30%
1674
181S*
1939*
2075%
2196%
2323*
2462 *
2583%
27 13%
2823*
2932%
3041%
3164#*
3290%
3398%*
3505

4YEE¥

738

Sio%
1248
1447%
1641
1865%
2044
2250
2431
2640x

"CROSS REFERENCE TABLE -- USER SYMZOLS

10948
38364
23944

2?70
32004

883
482#*
ki
7c2#
90+
10E5%
1288%
1422%
1550#%
1679#
1801%
1957 %
c080*
2204#*
2346%
2467 %
2589
27 19%
2829%
2937*
3059+«
3171
3296*
3403*
3522%

yc?
762%
913
1275%
1448
1671%
1866
c07o%
ceSl
2459%
(R I~
28B82x
3092
3280%
3486

NO8

1352%
g4
034s

2452#

2840#

32368

654
SOl#*
EC6*
746%
915%
1076%
1312%
1432#%
1661%
1705%
1844 *
1968%
2105%
2228%
2357%
2491 *
2blo¥
273l*
2B8S2%
2961
3071%
3195%
3219
3425+
3534*

492

787%

938
1304%
1486
1702%
1896
2102%
2280
c488%
2676
2916*
3126
3314%
3520

Y

471
18238
c22las
25688
2978#
3574

SSO#
£E83x
796 %
QES*
1121%
1346%
1465+#
1612%
1741 %
1879%
2017%
2140%
2264»
2404 *
2525%
2b56%
2765%
2886#%
2396
3106%
3233%
3352%
3450*
udf 3*

S&0

837%
1012

1361
1548

1764 %
1955

2lbl¥
2344
2545%
2 46

29386%
3184%
3382*

1476

18584
2c43s
25978
30128
3408

Sg2#
E£83#
815
971%
1232%
1364*
1488%
1617%
1747%
1898%
2022%
21464#
2282%
2409*
2531%»
cbbl ¥
2782%
2892%
3002%
3111%
3250%
3358*
3466%
3620+#

S34x

1056#%
1362
1578%
1765
1984%
2lee
2372%
2547
2778%
2988
3185%
3384

Py -
= % L & & J




OFKACR MACYIL 2T 732°
<ROSS Rt

OFARCR.P1L
REGS 0C1640
RESTRT Q00222
RITSH  DQOw2ul
RO =%00C802
Rl =".000C0!
R2 =0 g
R3 =".0000C3
4 =°.020008
&) :

350303

SCOPEI= 0LCTCL

SCOPE3= 01C703
SF  =%00003¢

STARY 0006EE
SWR 000082
SWREG 00C176
SWCS = 001000
10 = 002000
11 = 004000
12 = 0100320

U Y
888
888
ER

[ =)
FO Lo
bepse L0

wiue—- (v
N Lr-futa L0
Ut orw oun

rd

18:20 PAGE 106

108§
]

12

381
3202

729

1134

728
2245

76!

NeE TRBLE -- USER SYMBOLS
B2ls
11378

4Gls
3517»

786

1474

62b¥*
3bccs

607
1914
27CS#

1028

1052+
474

Ol#

O£~

1873

1518

1263

BRDBE
HH.C;"‘U

gb—-
WO IO MU
L = W e

— L L.LUNNONO--IVUI~ND

WU e (LI TUTUTUV FU T 4=t 0 0o 0
= 38’3-& - UG ~ILN

P

—Wun Y

1484

Ix

1546

3570
36SEs
1299+
gel’s
3074
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OFKACR. P11 CROSS REFERENCE TABLE -- USER SYMBOLS
$3 020030 3928
&5 902632 3338
S5 800034 3|4 385 2233 a2
56 336 39ce  23W 2371

836240 3858
X 500542 3878 i
59 000044 e 399 3201 321l
TEMP1  30CCOM 3b7e 368 429% 448

TOu4x Tl 933» 1002

TeEMFZ  DO000S 3698 3? 429+ 4S1
S58 S79# 533 $93

687%  B9%2% 638+  TOS#

371is 372 430+ 463

837 6S2# 660 bbb#

TEMPY  0OOCI2 3738 374 4al® 457
707% 713% 718% 336+
1169%  1195% 1200+ 1212+
TEMPS 00001 3°5s  997% 1023  10u4C#
1213 1219+
t 16 3’es 998+ 1012 1057
ISTIEC Q042 ™4 1045 1089 113T  ll44s
ISTiEl Q0M322 1148 1150s
1574 Qo440 1i3i 11548
IST1e3 0Q43SE 1155 11589
TST1BY Q04420 1158 liebs
TST165 DOYNSE . 1167 1173s
ISTiee 00 1174 11788
IST167 004532 1179 1184s
TSTI70 004570 1185  1192¢
IST171 Q04614 1193 1197s
IST17e QQub4e 1198 1203s
1ST173  0D4BEY 1204 12088
ISTI7Y Q04722 1209 12158
TSTI78 Q004756 1216  1222¢
TSTi7e Q0SQ34 12428
157177 005:30 12708
1ST20C QOCS2:24 1298%
157201 005324 13288
157202  QOS4el 13568
1€Te03 QCSS14 1384s
iSied4  00Seld 1414
157228 00S71C 14428
157208 J0E034 14808
157237 006136 15118
157213 006240 15428
187211 00B34e 18738
17212 DOg44e 16048
157213 Q06SH2 16358
g0eg42 bets

N

els
1siele 007046 17288
217 007146 17598

2400

3279
1047

455
bl5S#
711%

470s
681+
1097

492
1018
1227 #
1068

1102

cos

518
1092
Y7 7#
b26
Q4Y»

438
68S#
1100

S26
il4le

1084*
1148%

SS2
1138+
487
629

1003

Slo#
693#
1128+

560
1083

1113
1164#

S86
114E#

430
BS1#
1048
832
699+
1140%

89S
1085S*

1130#
1171%

623
1180#

Slis
659
1093
SHE#
706+
1152#

631
1108

114c#
1182#

658+
1168+

g2l
5g5#
1139+
£66
712
1156+

E57+
1131#

11B3¢
1190+

BEY#
1175+

S24
B71#
1187%
S80»
935+
1lbl+#

£82¢
1141#

170

12C1#

EEE#
1.86%

gsS

E80#
1205+
ElE»
1809

700%
1.0

11672
1229%

ap--




DFKACA MACYLL 271732}

DFKRCR.PLL
757220 007246
167221 Q0°342
YSTez2 Q07436
787223 0207832
1ST224 QOTe32
TST22S (007726
157226 01002
T:IE%? 31012
157220 (10216
'ST231 010312
TS7232 (10406
151233 010806
TSt 010632
T€7235 01367
TST238 CI10772
TST237 L1107
TSTE40 Qliles
JEMR) Qllizke
TSTe4e L1137
157243 011472
157244 011566
181245 Dl1Bk:
o724 011754
TST247? 012046
TSTeS0 012140
TSTes! 012234
TST252 (12330
TST253 Q12422
TSTeSY Q12514
TST2SS (012622
TE€T256 Q012730
TST2S7 013042
TET260 013150
TET261 [01325%
1ST262 013370
TST263 013476
TST264 013804
187265 013712
TST266 O14024
TS7267 014132
157270 0Ol424C
TST271 014382
TS7272 014460
157273 014566
757274 014656
TS7278 (014756
187276 015064
151277 015172
TST3C0 015300
TST301 015404
TE1302 015810
TST303 018614
TETI0N 015722
7873058 (016030
757306 016134
18137 002036

0S-SEP-% 18:20 PAGE 108

CRCSS REFERENCE TABLE -- USER SYMBCLS

:g.ntn
nJJD
e =
L X N

PUNYs— p—= e 0—
LoD
> =

Slk 5S0 sS4

620

D09

St




EOS
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DFKRCR.PLI CROSS REFERENCE TARBLE -- USER SYMBOLS

TST40 002072 663 6698

TST4] Q002106 20 8738

TISTY2 002124 VA 6778

TST43 002160 &£78 684

TST8Y 002212 &85 6308

;S;:S 0022;2 69 §96:

A e o

7STS0 2364 710 7158

TSTS] Q02442 7348

TSTS2 002522 7598

1ST53 002602 7848

TSTESY (002652 B80%s

15758 740 834s

TSTS6 (003016 85Ss

1STS? 003074 884s

TST60 003154 9098

1ST6l 003234 9348

TSTe2 003312 359

TTYQUT 000056 3938

TYPCNT 000920 3778  36l4%  3626#

TYPE = 000004 3528 3565 35396 3809 3630

SAPTHD= *xuaxx U 362

SCRLF 00004 3968 3609 3e30

SDEVCT= xxasss | 411

$D0RGN 016332 3561l 3567 3571 35778 3597

NDRD 018322 3568 3569 35738

SENDCT (16284 35638 3584

SENDMG 016340 3565 35798

SENULL 018382 35818

SENV = sxusss U 425 3634

SENVM = Ee¥xxs | 3664

SEQOP 0i6240 3555

SEQPLT (Dleese 35608 3564

SCRATAL= 2e233x U 2606+

$5ET42 016274 3S6b#

$HD = 000003 32t 327 -

SH.T 016408 459 488 434 S0! £28 S3S gge2 S69 597
740 746 768 771 790 796 815 821 840
B36 91S 21 {0 946 SES 97! 1014 1020
1071 107& 1104 1110 1116 112l 1252 1250 125S
1307 1312 1318 1336 1341 1346 1364 1369 1374
1427 1432 1450 1455 1460 1465 1488 1433 1499
1888 1561 1681 1586 1892 gl 1617 1623 1643
1€8S 170S 1710 1716 1736 1741 1747 1767 177
1839 1844 1850 1868 1873 1879 1838 1903 1903
1962 1968 1387 1992 1998 2017 202¢e 2028 2046
2C8b 2138 2110 2llb 2135 2140 2146 2164 2169
2223 2228 2234 2253 2258 2264 2282 2287 2293
c3S! 2357 2375 2380 2386 2404 2409 2415 2433

7 30ecH
8 3134

SO UNWn)

£ WINY DD W) — ~JUIN) ~J L »—
QOO OO OMMNVUY—LW WW O




DFKRCw MACYLI 27.732}

DFKRCAR.PL1
SMAIL = sxxrsx U
EMSETY:s xxxeax U
$PRSS 016336
SPWRDN 016356
PWRUP 81886
SETUP= 00002
§STUP = 177777
SSLKR = 160000
SSWREG= ®E¥%xs U
STESTN= »xxass
TN = 000001
§TPR #{aiais{ e
§TPCHR 016626
S;PCNT 000021
§7°8 000062
$TYFE 0l&E72
. = D1665SH

3189

i)
=

3198

L

3534

485
35914
35948
3557

3274

J6E8#

3216
ESRE

3539
919
3595

3550

08-SEP-76 18:20 PRGE 110
CROSS REFERENCE TABLE -- USER SYMBOLS

3222
i

36068

883

3857

3228

3383
S88

3566

3628

769

94
1114
1340
1459

1872
139

3227
3334

3582

FO9

3233

3328
624

3579

3250

$ize

100S

OQM~NO L WO
DL =00 o
NN NW— DO £

L _J

TUNU b= b ps gt pa pa
n
—

—
[ o
-£

3256

351

1050

3262

3

1095

3267

3%

3557%

W) O~ U
— NN~ £—0
= (IO N0 @

o
nL
(VALY
a0 ~§

2689
e

3284

3

3558%

-

2
i

35788

-i;EQS

2403
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DFKACR.P1I CROSS REFERENCE TRBLE ~-- MRCRO NAMES

ERROR 40Ss 489§ 466 494 501 528 S35 Sb2 569 597 604 £33 640 722 740
746 765 771 30 796 815 gel 840 846 865 871 890 89k 915 921
N0 46 965 971 1C14 1020 1026 1032 1059 1065 1071 1076 1104 1110 1116

liel 1232 1250 1855 1260 1278 1283 1288 13 1312 1318 1236 1341 1346 1364
1369 1374 1393 1398 1404 {422 1427 1432 1450 1455 1480 1465 1488 1433 149+
1519 1524 1530 1580 1555 1561 1581 1586 159¢ 1612 1617 1823 1643 1648 1654
1674 1679 1685 1705 1710 1716 1736 1741 1747 1767 1772 1778 1810 1815 1821
1839 1844 1850 1868 1873 1879 1898 1903 1909 1928 1933 1339 1357 1962 1368
1987 1992 1998 201? 20e2 2028 2046 2051 2057 2075s e08d 2086 2105 2110 ellb
2135+ 2140 2146 2164 2169 2175 2193 2198 c204 2223 228 2234 2253 2258  22tM
2c82 2287 2293 2312 2317 2323 2346 235} 2357 2375 2380 2386 2404 24C9 2415
2433 c438 24vy 2462 14 4’3 244} 2496 2502 2520 25es 293! eo49 2554 2560
2578 2583 2589 2607 2bla ebl8 ] 2650 256 2661 2678 2684 2630 2695 2713
2719 g.es erdl 2°48 2754 2760 2765 282 2788 79 2799 2817 2823 2829 2935

3505 352¢ 3528 3534 3539
=T 4034 459 465 494 S0C S28 S34 Se2 Se8 $97 603 £33 639 722 740
T4S 765 77 790 735 815 820 840 845 86S . 870 830 835 915 920
340 945 965 970 1014 1020 1026 1032 1058 1065 1071 107 1104 1110 1116
li2l 1232 1250 1255 1260 1278 1283 1288 1307 1312 1318 1336 1341 1346 1364
1369 1374 1393 1398 1404 1422 1427 1432 1450 1455 1460 1465 1488 1493 1498
181§ 1524 1829 1550 1555 1560 1581 1586 159] 16l2 1617 1622 1643 1648 1653
167 167 1684 1705 1710 1715 1736 1741 1746 1767 1772 1777 1810 1815 1820
1839 1844 1849 1868 1873 1878 1898 1903 1908 1928 1833 1938 1957 1362 1367
1987 1332 1997 2017 g0ee 2027 204k 2051 2056 e07s 2080 2085 210S 2110 2115
gl3S 2140 2145 2164 2169 2174 2193 2138 2203 eeed 2228 2233 2253 2258 2283

SASHC 409¢ 1238 1286 1294 1324 1352 1380 1410 1438
$ASHCS 4098 1476 1507 1538 1589 xggg 183& 1662 1633 1724 175§

$OIv 17938 2632 cbkb 2700 2736 2770 2t 2840 2874 2908 294e 2978 3012 3046 3082
3116 3150 3176 3e0M 3238 3272 3306 3340 3374 3408 3442 3476 3510

SMUL 1793s 1800 1829 1858 1887 1318 1947 1976 2007  2C3k 2065 2094 2135 2154 2.83
g2le 2243 272 230! 2336 2365 2394 242 2452  gu48l 2510 2539 2568 259:

.HEACE 3148 316

LSETUP 3148 400

.$ACT} 3148 337

.SAPTB 3148 358

.SAPTH 3148 360
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CROSS REFERENCE TARBLE -- PERMANENT SYMBOLS

OFKRCR.PLL

ROD 64
RSH 453

RSHC 1
l

RS
6EQ

WY ~J—()

PPV MY 0= s p—e be po o
NUTEND— OO0 £ W— 0" ) L LUV

Ll Sl A VA IV T s ol o T

WWN LDV NW L OO oUD

[salonfonlenToelsnlne]
L I IS TS T3]
m
P =
n
un

m—4-4uno-4Mm
)
o
[,
(Vs

8PL 3639
cLC 1004
CLR 412

3657
4SS

08-SEP-76
488 490
861 886
1053 1085
1577 1608
S4 580
464 493
764 763
944 964
1231 1249
1373 1392
1523 1528
1678 1683
1843 1848
1991 1996
2139  2I'M
2286 2291
24937 2442
2582 2587
2784 2730
2857 2863
2983 2995
310 3127
3261 3266
3391 3397
321 3me7
S44 578
3558
€19 553
471 480
BY4 663
850 875
1159 1167
1627 1658
2090 2120
2535  25ed
623 557
1043 1083
1576 1807
423 43)
1164 1186
469 N7Y
60L 608
7202 709
g4 833
1.8 1074
1173 1178
1316 1339
1522 1827
1677 1682
1842 _ 1847

1930 ‘1995
Q

18:20 PAGE 115
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(on
~
a
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~NJOonnwou
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CROSS REFERENCE TABLE -- PERMANENT SYMBOLS

sl S

2149
229

JO9

2178
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OFKACA.PLI CROSS REFERENCE TRBLE -- PERMANENT SYMBOLS

2488 2517 2546 2575 cb0M 2640 2674 27C9 2744 2778 2813 2848 2882 2916 2951
383 ggf 3055 3030 3led 3159 3184 3212 3246 3280 3314 3348 3382 3416 3450
MOV 410 411 419 421 “ae 427 428 430 448 Ys1 Y84 487 518 sel oS¢
SES S86 s8? Sa0 607 622 623 b2t 645 658 659 660 665 b&7 675
679 682 686 687 688 692 693 694 €9 699 70 N4 705 707 712
713 717 718 7e? 728 729 735 760 785 810 835 860 88S 910 335
960 992 994 997 1001 1002 1003 1807 1029 1047 1048 10582 1091 1092 1093
1097 1124 1138 1140 1148 1152 1156 1160 1161 1163 1168 1170 1171 1175 1176
1180 1181 1188 1194 1185 1200 1208 1210 1ele 1213 1217 ieel 12e4 lec8 1e43
lewy 17} 1272 1299 1300 1301 1315 1329 1330 1357 1358 1385 1386 1387 1401
1415 1416 1443 1444 1472 1473 1474 1481 1482 1812 1513 1543 1544 1574 1575
1605 1606 1636 1637 1667 1668 1698 1699 1729 1730 1760 1761 1805 1834 1863
1892 1893 1914 1923 1952 1981 1982 2003 cdle 204} 2070 2099 2100 ei2l 2130
2159 clgs eal? cels 2239 cc48 ec7? 2306 2307 238 e33e 2333 2334 2341 237C
2339 2428 2457 2486 g515 2544 g573 cbC2 2637 2638 2671 2672 2705 2706 2707
eres 2741 2742 er’s e776 2809 c8i0 c8ll 2832 2845 2846 2879 2380 2913 2914
247 2948 2349 2970 2983 2984 3017 3018 3051 3052 3053 3074 3087 3088 3i2i
3122 3155 3156 3157 3168 3181 3182 3200 320! 3202 3209 3219 3243 3244 3277
3278 3311 3312 3345 3346 3379 3380 3413 3414 3447 3448 3481 3482 3515 3516
3562 3566 3591 3594 3595 3606 3610 3bie 369 3633 3651 3652 3656
qggg 335& 3614 3653 3668
[
MUL 1806 1835 1864 1894 1924 1953 13983 2013 2042 2071 2l0l 2131 2160 2189 2219
2249 2278 2308 2342 2371 2400 24e9 458 2487 2516 2545 2574 2603
NOP 3574 3575 357
RESET 3572
gg% éggg 1041 1084 1085 1130 1131 3817 36!8 3622 3623 3624 3625
RTS 668 £7¢e 676 683 689 635 701 708 714 713 1143 1149 1153 1157 1165
sus ééis 1177 1183 119! 1196 1202 1207 lel4 122l 1229 3642 3669
157 726 1236 3628 3638 3655 3661
1518 3634 36tk
ABS 311
RSCII 3579

760 774 775 776 780
785 799 800 801 805 810 gau 825 826 830 835 849 850 851 855
860 874 875 876 880 885 839 900 301 905 910 924 325 926 930
335 949 950 951 955 960 974 975 976 1238 1243 1258 1266 1e? 1285

1294 1300 1315 1316 1324 1329 1344 1352 1357 1372 1380 1386 1401 1402 1410
1415 1430 .438 1443 1463 1476 1481 1502 1503 1504 1507 1512 1833 1534 1535

1538 15843 1564 1S6S 1566 1569 1574 1895 1596 1597 1600 1605 1626 1687 1628
1631 1636 1657 1658 1659 16b2 1667 1688 1689 1630 1693 1698 1719 1720 1721
i7g4 1729 1750 1751 1752 1755 1760 1781 1782 1783 1805 1824 1825 1826 1834
1853 1854 1855 1863 1882 1883 1884 1893 1913 1915 1323 134¢ 1943 1944 1352
1971 1972 1973 1982 2002 2004 20le 2031 2032 2033 04l 2060 2061 2062 2070
2089 2030 2031 2100 2120 clad 2130 2149 2150 215l 159 el78 2179 2180 2188
2207 2208 2209 ecl8 2238 2240 2248 2267 2268 2269 227 2236 2297 2238 2307
2327 2329 g4l 2360 236l 2362 c370 2389 2390 239l 2393 2418 2419 2420 2428
2447 2448 2449 2457 2476 c47? 2478 2486 250s 2506 250? 2515 2534 2535 2536
2544 2563 e5eM 2SES 2573 2532 2593 2534 2602 22l ebed g3 2637 2yl 2659
ese?l 2675 eba3 2706 2710 2728 27¢9 2741 2748 2763 2775 ers 2797 281e 2314
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OFKACR.P1I CROSS REFERENCE TARBLE -- PERMANENT SYMBOLS

2332 2833 284S o849 2867 2879 2883 2901} 2913 c917 2935 2948 2952
2983 2987 3005 3017 3021 3039 3052 3056 307 3075 3087 3091 3109
3143 3156 3161 3168 3169 3181 3186 3193 3209 3213 3231 3243 3247
3281 3299 3311 3315 3333 3345 3349 3367 3379 3383 3401 3413 3417
34E1 3469 348! 3485 3503 3515 3519 3537 3545 3548 3549 3550 3552
3561 3564 3565 3566 3578 3579 -+ 3581 3582 3588

JIF 317 331 335 400 730 735 749 751 755 760 774 776 780

1256 1271 1286 1294 1299 1315 1324 1329 1344 1352 1357
410 1415 1430 1438 1443 1458 1463 1476 1481 1502 1504

1258

1401 !
1833 1835 1538 1643 1564 1566 1569 1574 15895 1597 1600 1605 1626
1636 1657 1659 1662 1667 1688 1690 1693 1698 1719 1721 1724 1729
1755 1760 1781 1783 1805 1824 1826 1834 1853 1855 1863 1882 1884
1913 1914 1923 1942 1944 1352 197 197 1381 200! 2002 2003 2012
2J41 2J60 2062 2070 2083 2091 2099 2119 2lel glel 2130 2143 2151
2180 Ségg 2207 2209 e2l? 2237 2238 2239 2248 2267 2269 2277 2236

2328 234! 2360 2362 2370 2389 2391 2399 2418 2420 2428
gys? 24’k 2478 2486 2505 2507 2515 2534 2936 2544 2563 2565 2573
2602 ebel 2623 et3?7 2655 eb?1 2693 270S 2728 2741 2763 2775 2797
2845 2867 28? 2901 €913 2935 2947 297G 2983 3005 3017 3039 30S1

3345 3367 3379 3401 3413 3435 3447 3469 3481 3503 3515 3537 3544
- 3559 3551 3552 3556 3560 3563 3565 3566 3577 3579 3581 3587
.IFF 332 336 3545 3551 3557 3561 3564 3578 3588
.IFNZ 2641 2675 2710 2745 2779 2814 2849 2883 2917 2352 2987 3021 3056
IFZ 2648 2682 717 2rs2 2786 2821 2856 2890 2324 2959 23394 3028 3083

JIIF 316 32l 326 327 1239 1267 1235 1325 1353 1381 1411 1439 1440

. IRP 400
LIST 313 336 400 409 424 Y425 434 4S6 457 462 469 491 49¢

949 955 962 363 968 974 380 1011 1012 1017 1023 1029 1035
1082 1368 1074 1079 1101 1102 1107 1113 1118 1124 1235 1247 1248
1263 1266 1275 1276 1281 1286 1291 1294 1304 1305 1310 1315 1321
1334 1339 1344 1349 1352 1361 1362 1367 1372 1377 1380 1330 1391
1807 1410 1418 1420 1425 1430 1435 1438 1447 1448 1483 1458 1463
1485 1486 1491 1496 1502 1507 1516 1517 1522 1527 15833 1538 15847
1S58 1564 1569 1578 1579 1584 1589 1535 1600 1609 1610 1615 1620
1640 1641 1646 1651 1657 1662 1671 1672 1677 1682 1688 1693 1702
1713 1719 1724 1733 1734 1739 1744 1750 1755 1764 17865 127 1?7
1793 1807 1808 1813 1818 1824 1829 1836 1837 1842 1847 1853 1858
1871 1876 1882 1887 1895 1896 1901 1906 1912 1918 1325 1926 1331
1947 1354 13955 1360 1365 1971 1976 1984 13985 1390 1995 200! 2007
2020 2025 2031 2036 2043 2044 2049 2054 2060 2065 2072 2073 207
eC4 2lge el03 2108 ell3 2119 elas 2132 2133 2138 2143 2149 2154
2187 2172 2178 2183 2190 2191 2136 2201 2207 eale 2220 22el 2226
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DFRACA MACYLll 27(732) 08-SEP-TE 18:20 PAGE 119
DFKRCR.PLL CROSS REEERENCE TABLE -- PERMANENT SYMBOLS

2481 2488 Q489 2494
o552 2557 2563 2568
2626  oB40  gb41 e’
2709 27210 2716 grae
2779  27Bs 2791 @797
2855  9BEl 2867 2872
2929 2935 2940 2942
3005 3010 3012 3020
3080 3082 3090 3091
3150 3159 3160 3167
3231 323k 3238 324
3304 3306 3314 3315
3374 3382 3383 3389
3ycQ 3MS] 3857 3963
381§ 3625 3531 3£




CFRACR MACYL! 27.732) 08-SEP-TS 18:20 PAGE 120
OFARCAR.F1L CROSS REFESENCE TABLE -- PERMANENT SYMBOLS

.PRGE 309 330 330 357 409 434 ;30
hif M AR NE ME bR W
2510 2539 c568 25397 2626 2b6b 2700
3012 2046 20382 316 3150 3176 3200

351C 3544 3598 3643
.REPT 1 336
.SBITL 4C9 434 980 1793 2626 3546 3589
LTITLE 316
-WCRD 375 376 3560 3563 3578

“ ERRORS DETECTED: 14
DEFAULT GLOBALS GENERATED: O

*DFKACA, DFKACA. SEG/SOL /CRF /DS: ERF2/EN: ABS=DSKM: DFKACA. P11
RUN-TIME: 33 39 6 SECONDS

RUN-TIME RATIQ: 137/7 .1.7

CORE USED: 10K (20 ~RGES)

NOS

780

3253

2736
3238

35938

830

2381
2770
3272

3643

880

b3
2804
3306

930

bt

840
3340

980
1347
2394
287y
3374

1238
376
423

2908

3408

344¢
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